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B.Com. (CA) DEGREE EXAMINATION, APRIL 2021 &

Supplementary/Improvement/Arrear Examinations 

First Semester 

Commerce with Computer Application 

FUNDAMENTALS OF COMPUTER 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Write a notes on computer. 

 PoÛ £ØÔ ö£õ¸Ò GÊxP. 

2. What do you mean by a system software? 

 •øÓ¯õÚ ö©ßö£õ¸Îß Aºzu® GßÓõÀ GßÚ? 

3. Expand - LAN. 

 Â›ÁõUP® & LAN u¸P. 

4. Expand - TCP/IP. 

 Â›ÁõUP® & TCL/IP u¸P. 

5. What is operating system? 

 C¯UP•øÓ GßÓõÀ GßÚ? 

6. Write any four internal DOS commands. 

 H÷uÝ® |õßS AP hõì BønPøÍ GÊxP. 
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7. Write a notes on time sharing. 

 ÷|μ £[Rk £ØÔ _¸UP©õP GÊxP. 

8. Narrate the term ‘File security’. 

 ‘÷Põ¨¦ £õxPõ¨¦’ Gß£x ¯õx? 

9. Write a short notes on GUI. 

 ã²I £ØÔ J¸ ]Ö SÔ¨¦ u¸P. 

10. What do you mean by multitasking? 

 £ß•P ÷Áø» Gß£uß ö£õ¸Ò ¯õx? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Define computer and discuss its main 
characteristics. 

  PoÛø¯ Áøμ¯Ö ©ØÖ® AÁØÔß 
Snõv\¯[PøÍ ÂÍUSP. 

Or 

 (b) Write down relative merits and demerits of different 
storage devices. 

  £À÷ÁÖ ÁøP¯õÚ ÷\ª¨¦ \õuÚ •øÓ°ß |ßø© 
©ØÖ® wø©PøÍ GÊxP. 

12. (a) Write a briefly about the needs of communication. 

  uPÁÀ öuõhº¤ß ÷uøÁPÒ ¯õøÁ? 

Or 

 (b) Write about the network topologies. 

  Cøn¯ uÍ ÷hõ¨£õ»âø¯ £ØÔ GÊxP. 
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13. (a) What are the various functions of operating system? 

  £À÷ÁÖ Âu©õÚ C¯UP •øÓ°ß ö\¯À£õkPÒ 
GßÓõÀ GßÚ? 

Or 

 (b) Write a detailed notes on classifications of OS. 

  C¯UP •øÓ°ß £À÷ÁÖ ÁøPPøÍ GÊxP. 

14. (a) Describe the architecture of Unix operating system. 

  ²ÛUì C¯UP •øÓø¯ Â›ÁõP ÂÍUSP. 

Or 

 (b) Explain about the Unix file system. 

  ³ÛUì ÷Põ¨¦ •øÓ £ØÔ ÂÍUSP. 

15. (a) Write a briefly about the features of windowns XP. 

  Âs÷hõì GUì ¤°ß ]Ó¨£®\[PøÍ Â›ÁõP 
GÊxP. 

Or 

 (b) Write any five menus appeared in windows. 

  Âs÷hõêÀ Põn¨£k® H÷uÝ® I¢x 
£mi¯ÀPøÍ GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What are the functions of a computer? 

 PoÛ°ß ö\¯À£kUøP TÖP. 
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17. Describe the functions of LAN. 

 EÒ£Sv Áø»¨¤ßÚ¼ß £¯ßPøÍ ÂÁ›. 

18. Describe the various kinds of operating system. 

 £À÷ÁÖ C¯UP •øÓPøÍ Â›ÁõP GÊxP. 

19. Explain the file security in Unix system. 

 ³ÛUì •øÓ°ß ÷Põ¨¦ £õxPõ¨¦ •øÓø¯ ÂÍUSP. 

20. Describe the features of windows ‘98’. 

 Âs÷hõì ‘98’ ß ]Ó¨£®\[PøÍ Â›ÁõP ÂÍUSP. 

———————— 
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TALLY 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Computerized Accounting? 

 PoÛ ©¯©õUP¨£mh PnUQ¯À GßÓõÀ GßÚ? 

2. Define Tally. 

 ÷h¼ ÁøμÂ»UPn® u¸P. 

3. What is Double Entry System? 

 Cμmøh¨ £vÄ •øÓ GßÓõÀ GßÚ? 

4. How will you Shut a company in Tally? 

 ÷h¼°À J¸ {ÖÁÚzøu GÆÁõÖ }USÁõ´? 

5. Define Voucher. 

 μ^øu¨ £ØÔ Áøμ¯ÖUPÄ®. 

6. What do you mean by Payment Voucher? 

 Pmhn μ^x AÀ»x ö\¾zxuÀ μ^x £ØÔ } GÆÁõÖ 
AÔÁõ´? 
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7. Define Day Book. 

 |õÒ SÔ¨÷£k SÔzx ÁøμÂ»UPn® u¸P. 

8. Name the three important Financial Reports. 

 ‰ßÖ •UQ¯©õÚ {v AÔUøPPøÍ¨ ö£¯›kP. 

9. What is Bank Reconciliation Statement? 

 Á[Q \›UPmk® £mi¯À GßÓõÀ GßÚ? 

10. What is Deposit Slip? 

 øÁ¨¦a ^mk GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Highlight the salient features of Tally. 

   ÷h¼°ß •UQ¯ A®\[PÒ £ØÔ TÖP. 

Or 

 (b) How will you Create/Delete and Alter companies in 
Tally? 

   GÆÁõÖ ÷h¼°À J¸ {ÖÁÚzøu 
E¸ÁõUSÁx/}USÁx/©õØÖÁx? 

12. (a) Explain the terms : 

  (i) Stock Group  

  (ii) Stock Category  

  (iii) Stock Item. 

  (i) ö£õ¸Ò SÊ 

  (ii) ö£õ¸Ò ÁøP 

  (iii) ö£õ¸ÒPÒ £ØÔ ÂÍUQU TÖP. 

Or 
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 (b) Describe the concept of Tally Master configuration.  

   ÷h¼ ©õìh›ß EÒÍø©ÄU P¸zxUPÒ £ØÔ 
ÂÁ›UPÄ®. 

13. (a) What do you mean by vouchers in Tally? How will 
you create vouchers? 

   μ^x GßÓõÀ GßÚ? ÷h¼°À AuøÚ GÆÁõÖ 
E¸ÁõUSÁx? 

Or 

 (b) Write a note on bill wise details maintenance and 
interest calculation. 

   μ^x ÂÁμ[PÒ £μõ©›¨¦ ©ØÖ® Ámi PnURk £ØÔ 
GÊuÄ®. 

14. (a) What are reports? What are the various reports 
available in Tally? 

   AÔUøP GßÓõÀ GßÚ? ÷h¼°À EÒÍ £À÷ÁÖ 
AÔUøPPÒ ¯õøÁ? 

Or 

 (b) How do display a fund flow statements in Tally? 

   ÷h¼°À {v Kmh AÔUøPPøÍ GÆÁõÖ öu›Ä 
ö\´Áõ´? 

15. (a) Discuss the following :  

  (i) Balance Sheet  

  (ii)  Profit and Loss Account. 

   ¤ßÁ¸ÁÚÁØøÓ ÂÁ›. 

   (i) C¸¨¦ {ø»  

   (ii)  »õ£® ©ØÖ® CÇ¨¦U PnUS. 

Or 

 (b) What are the various uses of security control? 

   £õxPõ¨¦ Pmk¨£õmiß £À÷ÁÖ £¯ßPÒ ¯õøÁ? 
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 Part C  (3 × 10 = 30) 

Answer three questions. 

16. Briefly explain the details to be filled in creation of 
company in Tally. 

÷h¼°À J¸ {ÖÁÚzøu E¸ÁõUSÁvÀ 
{μ¨££h÷Ási¯ ÂÁμ[PøÍ¨ £ØÔ ÂÁ›. 

17. Write about the significance of F11 features and  
F12 configuration in Tally. 

÷h¼°À F11 A®\[PÒ ©ØÖ® F12 EÒÍø©Âß 
•UQ¯zxÁ® £ØÔ GÊxP. 

18. Explain various types of inventory vouchers with 
appropriate examples. 

ö£õ¸zu©õÚ GkzxUPõmkUPÐhß £À÷ÁÖ ÁøP¯õÚ 
\μUS μ^x £ØÔ ÂÁ›UPÄ®. 

19. Explain the accounting analysis report in Tally. 

 ÷h¼°À PnUQ¯À £S¨£õ´Ä AÔUøPø¯¨ £ØÔ 
ÂÍUSP. 

20. What are the various options available in banking menu 
of Tally?  

÷h¼°À Á[Q¨ £mi¯¼À QøhUS® £À÷ÁÖ Â¸¨£U 
Pmhø©ÄPÒ ¯õøÁ? 

 

 

 
———————— 
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C PROGRAMMING 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Variable? 

 ©õÔ GßÓõÀ GßÚ? 

2. List out any two keywords in C. 

 ] ö©õÈ°À EÒÍ Cμsk •UQ¯ ÁõºzøuPøÍ 
£mi¯¼kP. 

3. Write the syntax of For loop statement. 

 For loop AÔUøP°ß ÁõUQ¯ Aø©¨ø£ GÊxP. 

4. Define Simple If Statement. 

 Simple If Statement AÔUøPø¯ Áøμ¯ÖUPÄ®. 

5. How to declare an Array? 

 J¸ Á›ø\ø¯ GÆÁõÖ {¸Äx? 
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6. Difference between Character and String. 

 GÊzxUS® \μzxUS® Cøh÷¯ EÒÍ ÷ÁÖ£õk GßÚ? 

7. What is mean by Size of Operator? 

 Size of Operator Gß£uß ö£õ¸Ò GßÚ? 

8. How to find the length of string. 

 \μzvß }ÍzvøÚ GÆÁõÖ Psk¤i¨£x? 

9. What is C Preprocessor? 

 C Preprocessor GßÓõÀ GßÚ? 

10. Define the term “getc( )”. 

 “getc( )” GßÓ Áõºzøuø¯ Áøμ¯ÖUPÄ®. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Give the basic structure of a C program with an 
example. 

  ] ö©õÈ°ß Ai¨£øh Aø©¨¤øÚ 
GkzxUPõmkhß  u¸P. 

Or 

 (b)  Write note on following :  

  (i)  Data Types  

  (ii)  Declaration with an example.  

  ¤ßÁ¸ÁÚ £ØÔ ]Ö SÔ¨¦ u¸P. 

   (i)  uμÄ ÁøP  

  (ii)  ©õÔø¯ GÆÁõÖ {ÖÄÁx 
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12. (a) Explain do-while statement with an example. 

   Do-while AÔUøP°ß ÁõUQ¯ Aø©¨¤øÚ 

ÂÍUSP. 

Or 

 (b)  Write a C program to display the Multiplication 

table. 

  ] ö©õÈ°À ö£¸UPÀ AmhÁønUPõÚ {μø» 

GÊxP. 

13. (a) What is Array? Describe its types. 

  Á›ø\ GßÓõÀ GßÚ? Auß ÁøPPøÍ £ØÔ ÂÁ›. 

Or 

 (b)  Explain Scanf and Printf statement with syntax. 

  Scanf ©ØÖ® Printf AÔUøP°ß ÁõUQ¯ Aø©¨ø£ 

GkzxUPõmkhß ÂÍUSP. 

14. (a) What is Structure? How to define and declare a 

structure?  

  Aø©¨¦ GßÓõÀ GßÚ? Aø©¨¤øÚ GÆÁõÖ 

Áøμ¯Ö¨¦x ©ØÖ® AÔÂ¨£x? 

Or 

 (b)  Write about declaring and Initializing pointer 

variables. 

  _miUPõmi ©õÔPøÍ AÔÂ¨£x ©ØÖ® xÁUSuÀ 

£ØÔ GÊxP. 
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15. (a) Discuss about File Input/Output functions. 
  ÷Põ¨¦ EÒÏk/öÁÎ±mk ö\¯À£õkPøÍ £ØÔ 

ÂÁõvUPÄ®. 

Or 

 (b)  To write a C program to find Factorial of given 
value.  

  ] ö©õÈ°À öPõkUP¨£mh Gsoß Põμoø¯ 
Psk¤i¨£uØPõÚ {μø» GÊxP. 

 Part B  (3 × 10 = 30) 

Answer any three questions. 

16. Explain various types of operators in C. 
 ] ö©õÈ°À £À÷ÁÖ ÁøP¯õÚ B£÷μmhºPøÍ ÂÍUSP. 

17. Discuss in detail the various form of If statement. 

 If AÔUøP°ß £À÷ÁÖ ÁøP¯õÚ ÁiÁ[PøÍ 
ÂÁõvUPÄ®. 

18. Briefly discuss about (a) Function (b) Function 
Prototype (c) Global Variable. 

 (A) ö\¯À£õk (B) ö\¯À£õmk •ß©õv› (C) Global 
©õÔ £ØÔ _¸UP©õP ÂÁ›. 

19. Explain String Handling functions with example. 
 \μ® øP¯õÐ® ö\¯À£õkPÒ £ØÔ GkzxUPõmkPÐhß 

ÂÍUSP. 

20. Explain various storage classes with example. 

 £À÷ÁÖ ÁøP¯õÚ ÷\ª¨¦ ÁS¨¦PøÍ 
GkzxUPõmkPÐhß ÂÍUSP. 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Statistical Errors. 

 ¦ÒÎ°¯À ¤øÇPøÍ Áøμ¯Ö. 

2. State the meaning of stratified sample. 

 TÔh¨£mh ©õv›°ß ö£õ¸Ò TÖP. 

3. Write a formula for harmonic mean. 

 Cø\ \μõ\›°ß `zvμzøu GÊxP. 

4. Give the meaning of Mean deviation. 

 \μõ\› ÂÍUP® £ØÔ¯ ö£õ¸Ò u¸P. 

5. Define Regression equation. 

 öuõhº¦÷Põk \©ß£õk £ØÔ Áøμ¯Ö. 

6. What is correlation? 

 Ehß öuõhº¦ GßÓõÀ GßÚ? 

Sub. Code 
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7. What do you understand by Chain index? 
 öuõhº SÔ±möhsøÚ¨ £ØÔ }Âº AÔÁx ¯õx? 

8. State the condition for unit test. 
 A»Sz ÷uºÄUS›¯ {£¢uøÚø¯ TÖ. 

9. Write short note on moving average method. 
 |P¸® \μõ\› •øÓø¯¨ £ØÔ ]Ö SÔ¨¦ GÊxP. 

10. What do you understood the link relative method? 
 EÓÂÚº •øÓ £ØÔ }Âº AÔÁx GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the various limitations of statistics. 
   ¦ÒÎ°¯¼ß £À÷ÁÖ SøÓ£õkPøÍ ÂÍUSP. 

Or 

 (b) What are the characteristics of a good 
questionnaire?  

   J¸ |À» ÂÚõzuõÒ ©øÓ°ß Sn[PÒ ¯õøÁ? 

12. (a) From the data find the value of median. 
Income 50,000 65,000 72,000 80,000 8,50,000

No of Persons 25 27 17 19 11 

  ¤ßÁ¸® ÂÁμ[PÐUS Cøh{ø» PõsP. 
Á¸©õÚ® 50,000 65,000 72,000 80,000 8,50,000
BmPÒ GsoUøP 25 27 17 19 11 

Or 

 (b) Explain the merits and demerits of quartile 
deviation. 

PõÀ©õÚ Â»UPzvß |ßø© ©ØÖ® wø©PøÍ 
ÂÁ›.  
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13. (a) From the following information ,calculate line of 
regression of y on x: 

 X Y 

Mean 60 80

Standard deviation 15 20

Correlation co efficient  0.8

  RÌUPsh ÂÁμ[PøÍU öPõsk Y ©ØÖ® X öuõhº 
÷PõmiøÚ PnUQkP.  

 X Y 
\μõ\› 60 80
vmhÂ»UP® 15 20
JmkÓÄUöPÊ  0.8

Or 

 (b) Distinguish between correlation and regression 
analysis. 

   JmkÓÄ ©ØÖ® öuõhº ÷£õUS 
BQ¯øÁPÐUQøh÷¯ EÒÍ ÷ÁØÖø©UPøÍ u¸P. 

14. (a) Explain the any two methods of construction of 
index number. 

   SÔ±möhs Aø©US® H÷uÝ® C¸•øÓPøÍ 
ÂÁ›. 

Or 

 (b) Construct the cost of living index 
Group Food Rent Clothing Fuel Misc

Index number 350 220 250 180 210 

Weight 50 10 12 15 5 

  ÁõÌUøP ö\»Ä SÔ±möhs PnUQkP. 
SÊ EnÄ ÁõhøP Eøh G›ö£õ¸Ò ©ØÓøÁ

SÔ±möhs 350 220 250 180 210 
©v¨¦ 50 10 12 15 5 
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15. (a) Calculate 3 yearly moving average and draw the 
trend line 

Year 2016 2017 2018 2019 2020

Production 203 220 231 245 253 

  3 Bsk |P¸® \μõ\›ø¯ PnUQkP ©ØÖ® ÷£õUS 
ÁøμP. 
Á¸h® 2016 2017 2018 2019 2020
EØ£zv 203 220 231 245 253 

Or 

 (b) Compute the trend values by the method of least 
squares from the data given below: 

Year 2013 2014 2015 2016 2017 2018 2019 2020 

Production 55,000 57,000 52,000 45,000 43,000 39,000 35,000 32,000 

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x ÷£õUS ©v¨¦PøÍ 
«a]Ö ÁºUP •øÓ°À PnUQkP. 

Á¸h® 2013 2014 2015 2016 2017 2018 2019 2020 

EØ£zv 55,000 57,000 52,000 45,000 43,000 39,000 35,000 32,000 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the various methods of collecting primary data. 
 •uÛø» ÂÁμ[PÒ öuõSUS® £À÷ÁÖ •øÓPøÍ 
ÂÁ›. 

17. Find the median and mean deviation for the data: 
X 0-10  10-20 20-30 30-40  40-50  50-60 60-70

F 9 14 18 24 17 15 11 

 ¤ßÁ¸® ÂÁμ[PÐUS Cøh{ø» ©ØÖ® Cøh{ø» 
Â»UP® PõsP. 

X 0-10  10-20 20-30 30-40  40-50  50-60 60-70

F 9 14 18 24 17 15 11 
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18. Compute Karl Pearson's coefficient of correlation. 

X 70 50 90 100 115 120 150 155

Y 15 30 40 55 80 75 90 67 

 PõºÀ ¤¯º\Ûß JmkÓÄU öPÊøÁU PõsP. 

X 70 50 90 100 115 120 150 155

Y 15 30 40 55 80 75 90 67 

19. For the following data calculate fishers ideal index and 

verify factor reversal test. 

 2019 2020 

Commodity Price Quantity Price Quantity

X 40 1500 100 1200 

Y 30 1000 80 240 

Z 20 150 40 120 

 ¤ßÁ¸® ÂÁμ[PÐUS ¤åº SÔ±möhs PõsP. 

Au÷Úõk Põμo ©õØÖz ÷uºÄ {øÓÄ ö\´QÓx GßÖ 

AÔP. 

 2019 2020 

ö£õ¸Ò Âø» AÍÄ Âø» AÍÄ

X 40 1500 100 1200 

Y 30 1000 80 240 

Z 20 150 40 120 
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20. Calculate the trend value by the method of least squares. 
Also calculate the monthly increase in sales and trend 
value of 2021. 
Year 2005 2006 2007 2008 2009 2010 2011

Sales 120 130 135 140 145 147 150 

 SøÓ¢u ÁºUP •øÓø¯¨ £¯ß£kzv ÷£õUS÷Põk 
\©ß£õk PõsP. 2021® BskUS ©õu ÂØ£øÚ°ß 
AvPÍÄ ©ØÖ® ÷£õUS ©v¨¤øÚ PõsP. 

Bsk 2005 2006 2007 2008 2009 2010 2011

ÂØ£øÚ 120 130 135 140 145 147 150 

 

 

 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What is contract? 
 J¨£¢u® GßÓõÀ GßÚ? 

2. Write a short note on sub-contracts. 
 xøn J¨£¢u® £ØÔ ]Ö SÔ¨¦ ÁøμP. 

3. What do you mean by royalty? 
 μõ¯Ài PnUSPÒ GßÓõÀ GßÚ? 

4. Write a notes on sub-lease. 
 xøn SzuøP £ØÔ SÔ¨¦ ÁøμP. 

5. What is instalment purchase system? 
 öPõÒ•uÀ uÁøn •øÓ GßÓõÀ GßÚ? 

6. What do you mean by hire purchase system? 
 ÁõhøP öPõÒ•uÀ •øÓ GßÓõÀ GßÚ? 

Sub. Code 
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7. Who is insolvent? 

 ö|õizuÁº Gß£Áº ¯õº? 

8. Write a short note on preferential creditors. 

 •ßÝ›ø© PhÜ¢÷uõº £ØÔ SÔ¨¦ ÁøμP. 

9. What are departmental account? 

 xøÓÁõ› PnUSPÒ GßÓõÀ GßÚ? 

10. Write any two points of advantages of departmental 
accounts. 

 xøÓÁõ› PnUSPÎß |ßø©PÒ H÷uÝ® Cμsk TÖ. 

 Part B  (5  5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) The following is the summary of transactions as on 
31.12.2020, relating to a special contract completed 
during the year. 

 Rs. 

Material bought from the market  1,500

Material issued from the stores  500

Wages  2,440

Direct expenses  294

  Works on cost – 25% of direct wages 

  Office on cost – 10% of prime cost 

  Contract price – Rs. 6,000 

  You are required to prepare a contract a/c Keeping 
in view that material returned amounted to Rs. 240. 
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  RÌUPsh |hÁiUøPPÒ ]Ó¨¦ J¨£¢u® ‰»® 

31.12.2020 |õÍßÖ •iÄ ö£ØÖÒÍx. ÂÁμ[PÒ 

¤ßÁ¸©õÖ. 

   

 ¹. 

‰»¨ö£õ¸ÒPÒ \¢øu°À Áõ[Q¯x 1,500 

ÂØ£øÚ Thzv¼¸¢x 

‰»¨ö£õ¸ÒPøÍ Áõ[P¨£mhx 

500 

T¼ 2,440 

÷|μia ö\»ÄPÒ 294 

  ÷Áø»°ß «x ö\»Ä – 25% ÷|μi ö\»ÄPÒ  

  A¾Á»P ö\»Ä – 10% •ußø© ö\»Ä 

  J¨£¢u Âø» – ¹. 6,000 

  ‰»¨ö£õ¸ÒPÒ v¸¨¤ AÝ¨£¨£mhx ¹. 240  

  J¨£¢u PnUS u¯õº ö\´P. 

Or 

 (b) Explain the various types of contract. 

 £À÷ÁÖ ÁøP¯õÚ J¨£¢u[PÒ £ØÔ ÂÍUSP. 

12. (a) Explain the methods of recoupment. 

 «Ò v¸¨¦ ÁÈ•øÓPÒ £ØÔ ÂÍUSP. 

Or 
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 (b) The Bengal mines Co. Ltd. took from Mr. Dass a 
lease of a mine for a period of 25 years from 
1.1.2021 on royalty of Rs. 5 per tonne of mineral 
raised with a dead rent of Rs. 20,000 and power to 
recoup shortworkings during the first years of the 
lease. 

  The annual outputs were as follows : 

  1986 – 2000 tonnes 

  1987 – 3000 tonnes 

  1988 – 4000 tonnes 

  1989 – 4500 tonnes 

  1990 – 5000 tonnes 

  Give journal entries in the books of the Bengal 
mines company and in the books of Dass. 

  uõì P®ö£Û°hª¸¢x ö£[PõÀ P®ö£Û _μ[Pzøu 

1.1.2021 •uÀ 25 Á¸hzxUS J¸ _μ[Pzøu 

SzuøPUS GkUP¨£mhx. J¸ hß PÛ©zvØS  

¹. 5 μõ¯Ài,  SøÓ¢u ÁõhøPUS E¯ºzu¨£mh uõx 

©ØÖ® ¹. 20,000 A÷uõk SÖQ¯ Põ»zvÀ EøÇ¨ø£ 

«möhkUS® SzuøP°ß I¢x BskPÒ. 

  Bsk öÁÎ±kPÒ :  

  1986 – 2000 hß 

  1987 – 3000 hß 

  1988 – 4000 hß 

  1989 – 4500 hß 

  1990 – 5000 hß 

  ö£[PõÀ P®ö£Û°US SÔ¨÷£mk £vÄPøÍz u¸P. 
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13. (a) Distinguish between hire purchase system and 
Instalment purchase system. 

ÁõhøP öPõÒ•uÀ •øÓUS® ©ØÖ® uÁøn 

öPõÒ•uÀ •øÓUS® ÷ÁÖ£õkPøÍU PõsP. 

Or 

 (b) On 1.1.2020, X purchased machinery on hire 
purchase system. The payment is to be made  
Rs. 4,000 down (on signing of the contract) and  
Rs. 4,000 annually for three years. The cash price of 
the machinery is Rs. 14,900 and the rate of interest 
is 5%. Calculate the interest in each year’s 
instalment. 

  1.1.2020 CÀ X Gß£Á›ß ÁõhøP öPõÒ•uÀ 

•øÓ°À C¯¢vμ[PøÍ J¨£¢uvÀ øPö¯Êzx Cmk 

Áõ[Q¯x ¹.4,000 ©ØÖ® ‰ßÖ BskPÐUS 

Bsk÷uõÖ® ¹.4,000 ö\¾zu¨£h ÷Ásk®. 

C¯¢vμ[PÎß öμõUP Âø» ¹. 14,900 ©ØÖ® Ámi 

ÂQu® 5% BS®. JÆöÁõ¸ BskUS® uÁøn 

•øÓ°À Ámiø¯U PnUQkP. 

14. (a) What are preferential creditors in the following 
liabilities of insolvent Bhupesh according to 
presidency Towns insolvency act and provincial 
insolvency act? 

 Rs. 

3 month’s salary for 10 clerks  3,600

One month wages of 12 Labourer’s 1,600

Sales tax  400

3 months rent of landlord  600

Income tax  1,000

Wages of four servants  1,400

Salaries  1,000

Municipal tax  400

Wages  6,000
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  §÷£è Gß£Áº ö|õi¨¦ {ø» Aøh¢xÒÍõº. 

áÚõv£v |Pμ vÁõÀ ußø© \mh® ©ØÖ® ©õPõn 

vÁõÀ ußø© \mhzvß £i ö£õÖ¨¦PÎ¼¸¢x 

•ßÝ›ø© PhÜ¢÷uõ¸US ö\¾zu ÷Ási¯øÁPøÍ 

PnUQkP. 

 ¹. 

10 GÊzu¸US ‰ßÖ ©õu[PÐUS \®£Í® 3,600
12 öuõÈ»õÍ¸US J¸ ©õu® T¼ 1,600
ÂØ£øÚ Á› 400
{» E›ø©¯õÍº ÁõhøP 600
Á¸©õÚ Á› 1,000
|õßS ÷Áø»¯õÐUS T¼ 1,400
\®£Í® 1,000
|Pμõm] Á› 400
T¼ 6,000

Or 

 (b) Difference between balance sheet and statement of 
affairs. 

C¸¨¦{ø» SÔ¨¦US®, ÂÁμ AÔUøPUS® EÒÍ 

÷ÁÖ£õkPøÍ TÖP. 

15. (a) What are departmental accounts? Explain their 
advantages. 

xøÓÁõ› PnUS GßÓõÀ GßÚ? xøÓÁõ› 

PnUQ¯¼ß |ßø©PÒ £ØÔ ÂÍUSP. 

Or 

 (b) From the following, prepare departmental trading 
and profit and loss account for the year ended 31st 
December 2020, apportioning expenses on a suitable 
basis : 

Stock 1.1.2020 Dept A 5,400
 Dept B 4,900
Purchases  Dept A  9,800
 Dept B 7,350
Sales  Dept A  16,900
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 Dept B 13,520
Closing  Dept A  2,748
 Dept B 2,401
Wages  Dept A  1,340
 Dept B 240

  Carriage inward Rs. 469 

  Discount allowed Rs. 441 

  Discount received Rs. 133 

  Advertisement Rs. 738. 

  ¤ßÁ¸® uPÁÀPøÍ 2020 øÁzx Â¯õ£õμ C»õ£ 

|mhU PnUøP 31.12.2020 u¯õº ö\´P. ©ØÖ® 

ö\»ÂÚ[PøÍ ¤›zx PõmkP. 

C¸¨¦ 1.1.2020 xøÓ A 5,400

 xøÓ B 4,900

öPõÒ•uÀ xøÓ A  9,800

 xøÓ B 7,350

ÂØ£øÚ xøÓ A  16,900

 xøÓ B 13,520

CÖv \μUQ¸¨¦ xøÓ A  2,748

 xøÓ B 2,401

T¼ Dept A  1,340

 Dept B 240

  EÒyUS T¼ ¹. 469 

  AÎzu uÒÐ£i ¹. 441 

  ö£ØÓ uÒÐ£i ¹. 133 

  ÂÍ®£μ® ¹. 738 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Following expenses were incurred by a contractor on a 
contract which he started on 1st January. 

 Rs.  

Materials  40,000

Wages  50,000

Other expenses  15,000

Plant at cost  50,000

Cash received from contract  1,00,000

Work certified  1,20,000

Work uncertified  60,000

Materials on hand (31st December) 11,000

Plant value at close  43,000

Material returned to stores  2,000

 Prepare contract a/c assuming that the contract price, 
was Rs. 3,50,000. How will work in progress appear in 
the balance sheet of the contractor? 

 J¨£¢u©õÚx áÚÁ› 1&À ÷©ØöPõÒÍ¨£mk, 

J¨£¢uUPõμ›ß ö\»ÄPÒ ÂÁμ[PÒ uμ¨£mkÒÍx. 

 ¹. 

‰»¨ö£õ¸ÒPÒ 40,000

T¼ 50,000

Cuμ ö\»ÄPÒ 15,000

Bø»PÒ 50,000

J¨£¢u® HØ£kzv¯ Á›hª¸¢x ö£Øμ öμõUP® 1,00,000

\õßÓÎUP¨£mh £o  1,20,000

\õßÓÎUP¨£hõu £o 60,000
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‰»¨ö£õ¸Ò øP°¸¨¦ (i\®£º 31) 11,000

Bø»°ß CÖv ©v¨¦  43,000

ÂØ£øÚ ThzvØS AÎUP¨£mh ‰»¨ö£õ¸Ò 2,000

 J¨£¢uzvß ö©õzu ©v¨¦ ¹. 3,50,000. J¨£¢uPõμº C¸¨¦ 

{ø»U SÔ¨¤À ÷Áø» |h¢x öPõsi¸US® ÂÁμzvøÚ 

u¯õ›UPÄ® ©ØÖ® J¨£¢u P/S u¯õº ö\´P. 

17. A company leased a colliery on 1.1.1998 at a minimum 
rent of Rs. 20,000 merging into a royalty of Rs. 1.50 per 
tonne with power to recoup shortworkings over the first 
four years of the lease. The output of the colliery for the 
first four years was 9000 tonnes, 12,000 tonnes, 16,000 
tonnes, 20000 tonnes respectively. Give journal entries 
and ledger accounts for four years in the books of lessee 
and lessor. 

 J¸ {ÖÁÚ® 1.1.1998 AßÖ SøÓ¢u£m\ ¹. 20,000 

ÁõhøPUS J¸ hß ¹. 1.50 μõ¯Ài²hß JßÔøn¢x 

SzuøP°ß •uÀ |õßS BskPÎÀ \õºm JºUQ[ 

«möhkUS® •uÀ |õßS BskPÎÀ _μ[Pzvß EØ£zv 

•øÓ÷¯ 9000 hß, 12000 hß, 16000 hß, 20000 hß BS®. 

SzuøPuõμº ©ØÖ® SzuøPuõμ›ß SÔ¨÷£k ©ØÖ® ÷£÷μk 

PnUSPøÍ u¯õº ö\´P. 

18. Knight purchased a truck for Rs. 1,60,000 from S. waugh 
on 1.1.1998 payment to be made Rs. 40,000 down and  
Rs. 46,000 at the end of first year Rs. 44,000 at the end of 
second year and Rs. 42,000 at the end of third year. 
Interest was charged at 5%. Knight depreciates the truck 
at 10% per annum on written down value method. 

 Knight after having paid down payment and first 
instalment at the end of first year could not second 
instalment. The seller took possession of the truck, and 
after spending Rs. 4,000 on repairs of the asset. Sold it 
away for Rs. 91,500. 

 Give journal entries and ledger accounts in the books of 
knight. 
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 ø|m Gß£Áº Gì. ÁõUQhª¸¢x 1.1.1998&À ¹. 1,60,000 

©v¨¦ÒÍ iμUøP Áõ[QÚõº. ÁõhøP öPõÒ•uÀ •øÓ°À 

Bμ®£zvÀ ¹. 40,000 ö\¾zu¨£h ÷Ásk®. ©ØÖ® •uÀ 

Á¸h® ¹. 46,000 CμshõÁx Á¸h® ¹. 44,000 ©ØÖ® 

‰ßÓõ® Á¸h® ¹. 42,000 ö\¾zvÚº. SøÓ¢x ö\À 

•øÓ°À BsiØS 10% ÷u´©õÚ® ÷£õUöPÊvÚº. 5% 

Ámi PnUQh¨£mhx. ø|m Gß£Áº •uÀ BsiÖv°À 

ö\¾zu ÷Ási¯ uÁønø¯ ö\¾zvÚõº. BÚõÀ Akzu 

uÁønø¯ ö\¾zu C¯»ÂÀø». iμUQß £Êx 

£õº¨¤ØPõP ¹. 4,000I ö\»Ä ö\´u¤ß ÁõhøP 

ÂØ£øÚ¯õÍº, AuøÚ ¹. 91,500US ÂØÓõº. ø|m 

Gß£Áμx SÔ¨÷£mk £vÄPÒ ©ØÖ® ÷£÷μmk £vÄPøÍ 

u¯õº ö\´P. 

19. Mr. ‘X’ is insolvent. He supplies to you the following 
information as on 31.12.1999. 

 Rs. 

Cash in hand  1,000

Creditors for good  5,25,000

Salary due to clerks  7,000

Taxes due to Government  21,000

Bank loan secured by lien on stock of the book value 
of Rs. 3,50,000 

1,75,000

Furniture (expected to realized Rs. 35,000) 70,000

Stock (Expected to realized 60%) 5,25,000

Bad debts (good) 70,000

Bad debts (doubtful, executed to realized 40%) 1,75,000

Bills receivable (Rs. 52,500 bad) 87,500

Bills discounted (Rs. 35,000 bad) 1,05,000

Loan from Mrs. ‘X’ 1,75,000
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 Mr. ‘X’ started business six years ago with a capital of  
Rs. 4,37,500. He drew Rs. 87,500 each year for private 
purpose but did not maintain proper books of accounts. 
Mrs. ‘X’ gave up her jewellery valued at Rs. 70,000 to the 
receiver. 

 Prepare the statement of affairs and deficiency account. 

 31.12.1999 AßÖ v¸. ‘X’ ö|õizx ÷£õÚõº. AÁ›ß HkPÒ 

RÌUPsh C¸¨¦PøÍ Põs¤zux.  

 ¹. 

øP°¸¨¦ öμõUP® 1,000

PhÜ¢÷uõºPÒ  5,25,000

GÊzu¸US öPõkUP ÷Ási¯ \®£Í® 7,000

Aμ\õ[PzvØS ö\¾zu ÷Ási¯ Á›PÒ 21,000

£ØÖ›ø©°ß ‰»® Á[Q Phß Auß ¦zu ©v¨¦  

¹. 3,50,000 
1,75,000

AøÓP»ß (wºÄz öuõøP ¹. 35,000) 70,000

\μUQ¸¨¦ (60% wºÄ) 5,25,000

¦zuPPhß (ö£õ¸mPÒ «x) 70,000

¦zuP Phß (I¯UPhß «x 40% wºÄ ) 1,75,000

ö£ÖuØS›¯ Esi¯ÀPÒ  (¹. 52,500 Phß) 87,500

uÒÐ£i ö\´¯¨£mh ©õØÖa^mk (¹. 35,000 Phß) 1,05,000

v¸. ‘X’ß ©øÚÂ¯hª¸¢x ö£ØÓ Phß 1,75,000

 v¸. ‘X’ Gß£Áº ¹. 4,37,500 •u½khß BÖ Á¸h[PÐUS 

•ß¦ öuõÈÀ öuõh[Q²ÒÍõº. AÁμx ö\õ¢u ÷uøÁUPõP 

JÆöÁõ¸ Á¸h•® ¹. 87,500 GkzxÒÍõº, Aøu £μõ©›zx 

PnUS GÊu¨£hÂÀø». v¸. X&ß ©øÚÂ°hª¸¢x  

¹. 70,000 ©v¨¦ÒÍ |øPPøÍ Áõ[Q ö\¾zx÷Áõ¸US 

ö\¾zv²ÒÍõº. {ø»¯ÔUøP ©ØÖ® £ØÓõUSøÓ PnUøP 

u¯õº ö\´P. 
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20. The following purchases were made by a business house 
having three departments 

 Dept. A – 1000 units 
 Dept. B – 2000 units      at a total cost of Rs. 1,00,000 
 Dept. C – 2400 units 
 Stocks on 1st January were : 
 Dept. A – 120 units 
 Dept. B – 80 units 
 Dept. C – 152 units 
 Sales were : 
 Dept. A – 1020 units at Rs. 20 each  
 Dept. B – 1920 units at Rs. 22.50 each 
 Dept. C – 2496 units at Rs. 25 each 
 The rate of Gross profit is same in each case prepare 

departmental trading account. 

 R÷Ç öPõkUP¨£mkÒÍ ‰ßÖ xøÓPÎß öPõÒ•uÀ 

ÂÁμ[PÒ : 

 xøÓ A – 1000 A»SPÒ 

 xøÓ B – 2000 A»SPÒ          ö©õzu ö\»Ä ¹. 1,00,000 

 xøÓ C – 2400 A»SPÒ 

 C¸¨¦ (1, áÚÁ›) : 

 xøÓ A – 120 A»SPÒ 

 xøÓ B – 80 A»SPÒ 

 xøÓ C – 152 A»SPÒ 

 ÂØ£øÚ : 

 xøÓ A – 1020 A»SPÒ @ ¹. 20  

 xøÓ B – 1920 A»SPÒ @ ¹. 22.50 

 xøÓ C – 2496 A»SPÒ @ ¹.  25  

 ö©õzu C»õ£ ÂQu® JÆöÁõ¸ uPÁÀPÎ¾® J÷μ 

©õv›¯õP C¸US®. xøÓPÐUPõÚ Â¯õ£õμ PnUS u¯õº 

ö\´P. 

——————— 
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INCOME TAX LAW AND PRACTICE – I 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Income? 

 Á¸©õÚ® GßÓõÀ GßÚ? 

2. Mention any two objectives of taxation. 

 Á›Âv¨¤ß H÷uÝ® Cμsk ÷|õUP[PøÍ GÊxP. 

3. What is meant by Previous Year? 

 •¢øu¯ Bsk GßÓõÀ GßÚ? 

4. Mention the kinds of residential status. 

 Si°¸¨¦ {ø»°ß ¤›ÄPøÍ SÔ¨¤kP. 

5. Give the meaning of ‘Casual Income’. 

 uØö\¯À Á¸©õÚ® Gß£vß ö£õ¸Ò u¸P. 

6. What do you understand by Tax - Holiday? 

 Á›–Âv•øÓ ‰»® }[PÒ GßÚ ¦›¢x öPõÒQÕºPÒ? 

Sub. Code 
4BCC5C2 
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7. Define Salary. 

 \®£Í® Áøμ¯Ö. 

8. State the meaning of ‘Allowances’. 

 £iPÒ Gß£uß ö£õ¸øÍ SÔ¨¤kP. 

9. What do you mean by ‘Exempted Securities’? 

 Á› Â»UPÎUP¨£mh ¤øn¯[PÒ Gß£x £ØÔ E©x 
P¸zx ¯õx? 

10. Give the meaning of Profession. 

 ]Ó¨¦ öuõÈÀ ö£õ¸Ò ÂÍUP® u¸P. 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Give the Canons of Taxation relevant to India. 

  C¢v¯õÂØS ö£õ¸zu©õÚ Á› Âv¨¦U 
÷Põm£õkPøÍ u¸P. 

Or 

 (b) Explain the Direct taxes levied by central 
government. 

  ©zv¯ Aμ_ ÂvUS® ÷|μi Á›PøÍ ÂÍUSP. 

12. (a) Explain Agricultural Income. 

  ÂÁ\õ¯ Á¸©õÚ® £ØÔ  ÂÁ›. 

Or 

 (b) Differentiate between Capital and Revenue items. 

  ‰»uÚ ©ØÖ® Á¸Áõ°ß CÚ[PøÍ ÷ÁÖ£kzxP. 



A–10321

  

  3

13. (a) On 1-4-2019 the WDV of various assets of a 
manufacturing concern was as given below: 

 Machinery Building 

 Rs. Rs.

WDV at the beginning of the year 5,00,000 20,00,000

Additions during the year (1-8-2019) 6,00,000 Nil

Sale of part of the asset during 

the year 10,00,000 4,00,000

  Rate of depreciation for machinery is 15% and 
building 10%. Compute depreciation for the 
previous year 2019-20 and written down value on  
31-3-2020. 

  J¸ EØ£zv {ÖÁÚzvß £À÷ÁÖ ö\õzxUPÎß 
SøÓ¢u ö\À•øÓ C¸¨¦ 1-–-4–2019 AßÖ 
RÌÁ¸©õÖ. 

 C¯¢vμ® Pmih®

¹. ¹.

Bsk xÁUP SøÓ¢x ö\À•øÓ C¸¨¦ 5,00,000 20,00,000

CÆÁõsiÀ Tku»õUQ¯x 1.8.2019 6,00,000 CÀø»

CÆÁõsiÀ ÂØÓ ö\õzvß J¸ £Sv 10,00,000 4,00,000

  ÷u´©õÚ ÂQu® C¯¢vμzvØS 15% ©ØÖ® 
PmihzvØS 10% 2019–20. •¢øu¯ BsiØPõÚ 
÷u´©õÚ® ©ØÖ® 31.3.2020 À SøÓ¢u  ö\À•øÓ 
C¸¨¦PøÍ PnUQhÄ®. 

Or 

 (b) Give any ‘5’ items of income which are totally 
exempt from Tax. 

  Á›°¼¸¢x Â»UPÎUP¨£mh Á¸©õÚ[PÒ 
H÷uÝ® I¢x °øÚ SÔ¨¤kP. 
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14. (a) From the following information, compute Gross 
salary: 

 Rs. 
Salary 24,000 
House Rent Allowances 24,000 
Dearness Allowances 3,000 
Rent paid 18,000 

  RÌUPõq® Â£μ® öPõsk ö©õzu \®£Í® 
PnUQhÄ®. 

 ¹. 
\®£Í® 24,000 
Ãmk ÁõhøP¨£i 24,000 
£g\¨£i 3,000 
ÁõhøP ö\¾zv¯x 18,000 

Or 

 (b) Explain the different types of Provident Fund. 

  Á¸[Põ» øÁ¨¦ {v°ß £À÷ÁÖ ÁøPPøÍ  ÂÁ›. 

15. (a) From the following Profit and Loss account of a 
merchant for the year ended 31.3.2019 ascertain    
his taxable Profit from business. 

Profit and Loss Account 
 Rs.  Rs. 

Office salary 4,800 Gross Profit 1,35,532
General expenses 2,550 Commission 1,205
Bad debts written off 2,100 Discount 751
Reserve for bad debts 3,000 Sundry receipts 202
Fire Insurance Premium 450 Rent of building 52,640
Advertisement 2,500 Profit and sale of
Interest on capital 1,000 investment 3,000
Interest on Bank Loan 1,550  
Donations 3,875  
Depreciation 1,200  
Net profit 1,70,305  
 1,93,330  1,93,330
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  RÌUPsh C»õ£ |mhU PnUQ¼¸¢x 
Â¯õ£õμzv¼¸¢x AÁ¸US QøhUS® C»õ£zøu 
•¢øu Bsk 31–3-–2019 US wº©õÛ. 

C»õ£ |mh PnUS 
 ¹.  ¹. 

A¾Á»Pa \®£Í® 4,800 ö©õzu C»õ£® 1,35,532
ö£õxa ö\»ÄPÒ 2,550 uμS 1,205
ö\»öÁÊu¨£mh ÁμõUPhßPÒ 2,100 uÒÐ£i 751
ÁμõUPhßPÐUPõÚ Põ¨¦ 3,000 £Ø£» ÁμÄPÒ 202
w Põ¨¥mk Pmhn® 450 Pmih ÁõhøP 52,640
ÂÍ®£μ® 2,500 •u½kPÒ ÂØÓvÚõÀ

‰»uÚzvØPõÚ Ámi 1,000 Qøhzu C»õ£® 3,000
Á[Q Phß «uõÚ Ámi 1,550  
|ßöPõøh 3,875  
÷u´©õÚ® 1,200  
{Pμ C»õ£® 1,70,305  
 1,93,330  1,93,330

Or 

 (b) Name at least ‘5’ items which can be included under 
the head Income from other sources. 

  ¤Ó ÁÈPÎÀ C¸¢x Á¸©õÚzvÀ H÷uÝ®  
I¢x–°øÚ SÔ¨¤kP.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the evolution of income tax law in India. 

 C¢v¯õÂÀ Á¸©õÚ Á› \mhzvß Áμ»õØøÓ ÂÍUSP. 

17. A Malaysian citizen Mr. B left India on 1-6-2016 after a 
continuous stay of 10 years. During the financial year 
2017-18 he come back to India and stayed for a period of 
46 days and left. In the year 2018-19 he came back to 
India on 10-10-2018 and stayed here thereafter for two 
years. Determine the Residential status of Mr. B for the 
Assessment Year 2020-21. 
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 J¸ ©÷»]¯õ Si©Pß v¸. B 10 BskPÍõP öuõhº¢x 
C¢v¯õÂÀ u[Q°¸¢x ¤ÓS 1.6.2016 AßÖ 
C¢v¯õÂ¼¸¢x öÁÎ÷¯ÔÚõº. 2017–18 ® {v BsiÀ 
«sk® C¢v¯õ Á¢x 46 |õmPÒ ©mk÷© u[Q°¸¢x 
Âmk ö\ßÓõº. 2018–19 ® Bsk 10.10.2018 À «sk® 
C¢v¯õ Á¢v¸¢x Cμsk BskPÒ u[Q C¸¢uõº. v¸ 

B AÁºPÎß Si°¸¨¦ {ø» 2020–21® Bsøh  
wº©õÛUP. 

18. What are the conditions laid down in Income Tax Act 
1961 to claim Depreciation on Fixed Assets? 

 {ø»a ö\õzxUPÒ «x ÷u´©õÚ® ÷Põμ Á¸©õÚ Á›a 
\mh® 1961–À TÓ¨£mh {£¢uøÚPÒ ¯õøÁ? 

19. During the year ended 2019-20 Murugan sold the 
following assets: 

 Sale proceeds 

 Rs. 

 (a) Land Purchased in 2001-02 for   
 Rs. 18,000 [CII-100]  65,000 

 (b) Machinery purchased in 2013-14 

  [CII-220] for Rs.50,000 

  written down value on   
 1-4-2019 Rs.35,000]   60,000 

 (c) Furniture purchased on   
 1.4.2018 for Rs.1,000    1,300 

 (d) Plant purchased on 1.4.2018   
 for Rs.10,000    12,000 

 (e) One residential house purchased  

  in 2017-18 for Rs.30,000 [CII-272]   88,200 

 Compute income from capital gains of  
Mr. Murugan. 
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 2019–20 ® BsiÀ •¸Pß ÂØÓ ö\õzxUPÒ 
¤ßÁ¸©õÖ. 

       ÂØÖ ÁμÄ ¹. 

 (A) 2001–02 À ¹.18,000 ØS Áõ[Q¯ {»®  

  [£nÃUP AhUP SÔ±k–100] 65,000   

 (B) 2013–14 À ¹.50,000 ØS Áõ[Q¯ C¯¢vμ® 

  [£nÃUP AhUP SÔ±k–220]  

  1.4.2019 AßÖ ÷u´©õÚ® GÊv  

  SøÓUP¨£mh ©v¨¦ ¹.35,000  60,000 

 (C) 1.4.2018 À ¹.1,000 ØS   

 Áõ[Q¯ ©øÚzxøn¨ ö£õ¸Ò  1,300 

 (D) 1.4.2018 À ¹.10,000ØS Áõ[Q¯ ö£õÔ  12,000 

 (E) 2017–18 À ¹. 30,000 ØS Áõ[Q¯ Si°¸¨¦ Ãk 

  [£nÃUP AhUP SÔ±k–272] 88,200 

  •¸PÛß ‰»uÚ Buõ¯zøu PnUQhÄ®. 

20. From the following particulars calculate the salary 
Income of Mr. M for the Assessment Year 2020-21.            
Salary Rs.5,500 per month House Rent allowance 
Rs.2,400 per month. Dearness allowance Rs.3,300            
per month. Entertainment allowance Rs. 1,200 per 
month.   His employer contributes to provident fund 14% 
of salary. He lives in a rented house monthly rent            
being Rs.3,000. He pays Life Insurance premium 
Rs.4,000. He has been provided with a Gardener and            
a Sweeper. Their salary Rs.500 p.m. and Rs.600 p.m. 
respectively. 
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 RÌÁ¸® Â£μ® öPõsk 2020 –21 PnURk BsiØPõÚ 
v¸. M \®£Í Á¸©õÚ® PnUQkP. 

 \®£Í® ©õu® ¹.5,500 Ãmk ÁõhøP¨£i ©õu® ¹.2,400 
£g\¨£i ©õu® ¹.3,300. ÷PÎUøP¨ £i ©õu® ¹.1,200. 

 ÷\© |» {vUS AÁ›ß £o¯Î¨£º ö\¾zxÁx 
\®£ÍzvÀ 14% CÁº Si°¸US® Ãmk ÁõhøP ©õu® 
¹.3,000 AÁº ö\¾zx® B²m Põ¨¥mk •øÚ©® 
¹.4,000. CÁ¸US ÷uõmhUPõμº ©ØÖ® x¨¦μÁõÍº Á\v 
AÎUP¨£mkÒÍx. CÁºPÎß \®£Í® •øÓ÷¯ ©õu® 
¹.500 ©ØÖ® ¹.600.  

—————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2021 &

Supplementary/Improvement/Arrear Examinations 

Commerce with Computer Applications 

Allied : BANKING THEORY  

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define banking.  

 Á[Qø¯ & Áøμ¯Ö.  

2. What do you mean by branch banking?  

 QøÍ Á[Q°¯À GßÓõÀ GßÚ? 

3. What is commercial bank? 

 ÁoP Á[Q GßÓõÀ GßÚ? 

4. Write a short notes on merchant banking.  

 Á[Q Cøn¨¦ •øÓ¨ £ØÔ J¸ ]Ö SÔ¨¦ u¸P.  

5. What do you mean by regional rural bank? 

 ¤μõ¢v¯ Qμõ©¨¦Ó Á[Q GßÓõÀ GßÚ? 

6. What are the limitations of banks to create credit? 

 öuõÈÀ~m£ Phß E¸ÁõUP® •øÓ GßÓõÀ GßÚ? 

Sub. Code 
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7. Write a notes on bill market scheme.  

 Esi¯À \¢øu vmh® £ØÔ J¸ ]Ö SÔ¨¦ GÊxP.  

8. State the meaning of priority sectors.  

 •ßÝ›ø© xøÓ £ØÔ TÖP.  

9. Write a notes on E-Banking.  

 ªßÚÝ Á[Q £ØÔ GÊx.  

10. What do you mean by non-performing assets? 

 ö\¯À£hõu C¯UP ö\õzxPÒ £ØÔ TÖP.  

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Distinguish between unit banking and branch 

banking.  

  ²Ûm Á[Q¯À ©ØÖ® QøÍ Á[Q¯¼ß 

÷ÁÖ£õkPøÍz u¸P.  

Or 

 (b) State the various classification of banking.  

  Á[Q°ß £À÷ÁÖ ÁøPPøÍ u¸P.  

12. (a) Explain the social responsibility of banks in brief.  

  Á[Q°ß \‰P ö£õÖ¨¦ £ØÔ ÂÁ›.  

Or 

 (b) What are main advantages of commercial banking? 

  ÁoP Á[Q°ß |ßø©PÒ ¯õøÁ? 
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13. (a) Explain the various kinds of creation of credit.  
  £À÷ÁÖ Âu©õÚ Phß E¸ÁõUP® •øÓ £ØÔ 

ÂÁ›. 

Or 

 (b) Write a briefly note on functions of regional rural 
banking.  

  ¤μõ¢v¯ Qμõ©¨¦Ó Á[Q°ß £À÷ÁÖ 
ö\¯À£õkPøÍ Â›ÁõP GÊx.  

14. (a) Explain the role of SBI in agricultural finance.  

  Gì.¤.I ©ØÖ® ÷ÁÍõsø© Phß •UQ¯zxÁzøu 
ÂÍUSP. 

Or 

 (b) Explain the steps taken by the Reserve bank to 
develop bill market in India.  

  Esi¯À \¢øuø¯ Â›Ä£kzu ø©¯Á[Q GkUS® 
|hÁiUøPPøÍ ÂÁ›.  

15. (a) Discuss the post-reforms position in India. 

  C¢v¯õÂÀ ÷£õìm Ÿ£õº® •øÓ £ØÔ ÂÍUSP.  

Or 

 (b) What are the mode of electronic fund transfer 
available in the banking sector? 

  Á[Q AøÓ°¾ÒÍ ªßÚÝ {v £›©õØÓ ÁøPPÒ 
¯õøÁ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the merits and demerits of unit and branch 
banking systems.  

 ²Ûm Á[Q ©ØÖ® QøÍ Á[Q°ß |ßø© wø©PøÍ 
ÂÍUSP. 
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17. What are the features of commercial banks? 

 ÁoP Á[Q°ß •UQ¯ C¯À¦PÒ ¯õøÁ? 

18. Explain the various limitations of credit creation.  

 Phß E¸ÁõUP® •øÓ°ß £À÷ÁÖ Áμ®¦PøÍ ÂÍUSP. 

19. Briefly the powers of RBI under banking regulations Act 
1949.   

 Á[Q JÊ[S •øÓ \mh® 1949&ß £i ø©¯ Á[Q°ß 
AvPõμzøu ÂÁ›.  

20. Briefly discuss the main functions of E-banking services.  

 ªßÚÝ Á[Q°ß ÷\øÁ ö\¯À£õkPøÍ ÂÁ›.  

———————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2021 & 

Supplementary/Improvement/Arrear Examinations 

Fifth Semester 

Commerce with Computer Application 

Elective – OPERATING SYSTEM 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define System Software. 

 PoÛ ö©ßö£õ¸øÍ Áøμ¯Ö. 

2. Give any two Names of Operating System. 

 C¯UP •øÓø©°ß H÷uÝ® Cμsk ö£¯ºPøÍ u¸P. 

3. Expand FCFS. 

 FCFS I Â›ÁõUS. 

4. What is Deadlock? 

 •hUP® GßÓõÀ GßÚ? 

5. List out the any two types of Memory? 

 H÷uÝ® Cμsk ÁøP¯õÚ {øÚÁP[PøÍ £mi¯¼kP. 

6. What is meant by Process? 

 ö\¯À•øÓ GßÓõÀ GßÚ? 

Sub. Code 
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7. Define File. 

 ÷Põ¨ø£ Áøμ¯Ö. 

8. Write short Note on File Operations? 

 ÷Põ¨¤ß ö\¯À£õkPÒ £ØÔ ]Ö SÔ¨¦ GÊxP. 

9. List out the any two Output Devices. 

 H÷uÝ® Cμsk öÁÎ±mk \õuÚ[PøÍ £mi¯¼kP. 

10. Mention any two difference between Software and 
Hardware. 

ö©ßö£õ¸Ò ©ØÖ® Áßö£õ¸ÐUS Cøh°»õÚ H÷uÝ® 
Cμsk ÷ÁÖ£õmøh GÊxP. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain about Evolution of Operating System. 

   C¯UP •øÓø©°ß £›nõ©® £ØÔ ÂÍUSP. 

Or 

 (b) Discuss the Multi-Processor System. 

   £»ö\¯»õUP •øÓ £ØÔ ÂÁõvUPÄ®. 

12. (a) Brief a Note on FCFS Scheduling Algorithm. 

   FCFS vmhªhÀ ÁÈ•øÓ SÔzx Â›ÁõÚ ÂÍUP® 
u¸P. 

Or 

 (b) Explain about Inter Process Communication.  

   Cøh ö\¯À•øÓ öuõhº¦ £ØÔ ÂÍUSP. 
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13. (a) Write the Different between Logical and Physical 
Memory. 

   Logical ©ØÖ® Physical {øÚÁPzvØS Cøh°»õÚ 
Âzv¯õ\zøu GÊxP. 

Or 

 (b) Describe Virtual Memory? And how does it works? 

   ö©´{Pº {øÚÁPzøu ÂÁ›? Ax GÆÁõÖ 
C¯[SQÓx. 

14. (a) Discuss the Various types of File Operations. 

   £À÷ÁÖ ÁøP¯õÚ ÷Põ¨¤ß ö\¯À£õkPøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 

Or 

 (b) Describe about File Storage Methods. 

   ÷Põ¨¤ß ÷\ª¨¦ •øÓPÒ £ØÔ ÂÁ›. 

15. (a) What is Virus? Explain its Demerits. 

   Virus GßÓõÀ GßÚ? Auß SøÓ£õkPøÍ ÂÍUSP. 

Or 

 (b) Write a Program to Change the File Mode. 

   ÷Põ¨¤ß £¯ß•øÓø¯ ©õØÖ® {μø» GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain about the various types of Operating System. 

 £À÷ÁÖ ÁøP¯õÚ C¯UP •øÓø© £ØÔ ÂÍUSP. 

17. Define Deadlock. How to avoidance? 

 •hUP® Áøμ¯Ö. AuøÚ uÂº¨£x G¨£i? 
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18. Brief Note on Fragmentation. 

 Fragmentation £ØÔ Â›ÁõÚ ÂÍUP® u¸P. 

19. Discuss the File access Methods. 

 ÷Põ¨¤øÚ AqPÀ •øÓPÒ £ØÔ ÂÁõvUPÄ®. 

20. Develop the shell Program to find out whether the given 
number is odd or even.  

öPõkUP¨£mh Gs JØøÓ¨£øh AÀ»x Cμmøh¨£øh 
Gsnõ Gß£øuU PshÔ¯ shell {μø» GÊxP. 

 

 

 
———————— 
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B.Com. (C.A) DEGREE EXAMINATION, APRIL 2021 & 

Supplementary/Improvement/Arrear Examinations

Fifth Semester 

 Commerce with Computer Application  

Elective – WEB TECHNOLOGIES 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. State the meaning of URL. 

 URL Gß£uß ö£õ¸Ò u¸P. 

2. Expand HTTP and HTML. 

 HTTP ©ØÖ® HTML I Â›Ä£kzxP. 

3. What is meant by multimedia? 

 Multimedia Gß£uß ö£õ¸Ò TÖP. 

4. Write any four browser names. 
 H÷uÝ® |õßS E»õÂ ö£¯øμ GÊxP. 

5. Difference between hardware and software. 
 Áßö£õ¸Ò ©ØÖ® ö©ßö£õ¸ÐUS Cøh°»õÚ 

÷ÁÖ£õk. 

6. Write the types of list in HTML. 

 HTML £mi¯¼ß ÁøPPøÍ GÊxP. 

Sub. Code 
4BCCE1B 



A–10324

  

  2

7. Give the List of advantages of E-mail. 

 ªßÚg\¼ß |ßø©PøÍU TÖP. 

8. Mention the use of intranet. 

 AP Cøn¯® £¯ß£õmøhU TÖP. 

9. What do you mean by navigation with example? 

 Navigation GßÓõÀ GßÚ? GkzxUPõmk u¸P. 

10. Write a paragraph tag with an example. 

 GkzxUPõmkhß Paragraph tag £ØÔ GÊxP. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) How to accessing the internet? 

   Cøn¯zøu GÆÁõÖ AqSÁõ´ Gß£øuU 
SÔ¨¤kP. 

Or 

 (b) Explain about the WWW.  

   WWW I £ØÔ ÂÍUSP. 

12. (a) Explain the following concepts 

  (i) Web page       (ii) website         (iii) browser 

  ¤ßÁ¸ÁÚÁØøÓ ÂÍUSP. 

   (i) Áø»¨£UP®  (ii) ÁøÍzuÍ®   (iii) E»õÂ 

Or 

 (b) Explain about Netscape Navigator. 

   Netscape Navigator  £ØÔ ÂÍUSP. 
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13. (a) Summarize E-mail formats. 
   ªßÚg\À ÁiÁø©¨ø£ _¸UP©õP ÂÍUSP. 

Or 

 (b) How to access the Internet mail? 
   Cøn¯ Ag\ø» GÆÁõÖ AqSÁõ´? 

14. (a) Discuss about the software requirements in 
webserver. 

   Áø» ÷\øÁ¯PzvÀ ö©ßö£õ¸Ò ÷uøÁPÒ £ØÔ 
ÂÁ›UPÄ®. 

Or 

 (b) Summarize web server software. 
   Áø» ÷\øÁ¯P ö©ßö£õ¸ÎÀ _¸UP©õP ÂÍUSP. 

15. (a) How to create a table? Explain with a simple 
program? 

   AmhÁønø¯ E¸ÁõUSÁx G¨££i? J¸ GÎ¯ 
{μ¾hß ÂÍUSP. 

Or 

 (b) Briefly discuss about font tag with example. 
   GÊzx¸ SÔaö\õÀ £ØÔ _¸UP©õP ÂÁõvUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain about the fundamental function of World Wide 
Web. 

 World Wide Web Cß Ai¨£øh ö\¯À£õk £ØÔ 
ÂÍUSP. 

17. Discuss about the service providers by internet. 
 Cøn¯® ‰»® ÷\øÁ ÁÇ[S|ºPøÍ¨ £ØÔ ÂÁ›UPÄ®. 
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18. Briefly discuss about E-mail and on line services. 

 ªßÚg\À ©ØÖ® on line ÷\øÁPøÍ¨ £ØÔ _¸UP©õP 
ÂÍUSP. 

19. Explain about HTTPD with suitable example. 

 ö£õ¸zu©õÚ Euõμnzxhß HTTPD £ØÔ ÂÍUSP. 

20. Write a HTML program to display your Bio-Data. 

 E[PÒ uμøÁU Põs¤UP J¸ HTML {μø» GÊuÄ®. 

 

 

 
———————— 
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ADVANCED ACCOUNTANCY - I 
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Time : 3 Hours Maximum : 75 Marks 

 Section A  (10 × 2 = 20) 

Answer all questions. 

1. Write the meaning of Business Entity concept. 

 ÁoP ÷Põm£õmiß ö£õ¸ÎøÚ GÊxP. 

2. What do you mean by double entry system? 

 Cμmøh £vÄ •øÓ GßÓõÀ GßÚ? 

3. What is suspense account? 

 A|õ©zx PnUS GßÓõÀ GßÚ? 

4. Write a note on errors of omission. 

 Âk ¤øÇPÒ £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

5. Write a note on straight line method. 

 ÷|º÷Põmk •øÓ £ØÔ GÊxP. 

Sub. Code 
4BCC1C1 
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6. Define depreciation. 

 ÷u´©õÚ® – Áøμ¯Ö. 

7. Who is a drawer of a bill? 

 ©õØÖa ^møh GÊx£Áº ¯õº? 

8. What is trade bill? 

 ÁºzuP Esi¯À GßÓõÀ GßÚ? 

9. What is the purpose of fire insurance? 

 w–Põ¨¥mk •øÓ°ß ÷|õUP® GßÓõÀ GßÚ? 

10. What is average clause? 

 \μõ\› \μzx GßÓõÀ GßÚ? 

 Section B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What is accounting? What is need for it? 

   PnUQ¯À GßÓõÀ GßÚ? Auß ÷uøÁ ¯õx ? 

Or 

 (b) Prepare trail balance from the following. 

 Rs.  Rs. 

Capital 9,000 Rent outstanding 1,000

Plant and machinery 12,000 Opening stock 2,000

Purchases 8,000 Sales returns 4,000

Sales 12,000 Investments 14,000

Sundry creditors 8,000 Debtors 12,000

Bank loan 22,000  
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  ¤ßÁ¸® Â£μ[PøÍU öPõsk C¸¨£õ´Ä u¯õº ö\´P. 

 öuõøP  öuõøP

•uÀ 9,000 öPõk£h ÷Ási¯ 
ÁõhøP 

1,000

Bø» ©ØÖ® 
C¯¢vμ® 

12,000 öuõhUP \μUQ¸¨¦ 2,000

öPõÒ•uÀ 8,000 ÂØ£øÚ v¸¨£® 4,000
ÂØ£øÚ 12,000 •u½k 14,000
£Ø£» 
PhÜ¢÷uõº 

8,000 PhÚõÎPÒ 12,000

Á[Q Phß 22,000  

12. (a) From the following particulars prepare a Bank 
reconciliation statement as on 31.12.2018. 

 Rs. 

Balance as per cash book 5,877

Cheque issued but not presented for payment 2,013

Cheque deposited but not cleared upto 31.12.2018 1,419

  Bankers had wrongly debited the firms account 
with Rs.225 which was yet rectified on 31st 
December. 

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x 31.12.2018® |õøÍ¯ 
Á[Q \›Pmk® £mi¯ø» u¯õº ö\´P. 

 ¹. 

öμõUP Hmiß £i C¸¨¦ 5,877
ÁõiUøP¯õÍºPÐUS öPõkUP£mh BÚõÀ 
©õØÓ¨£hõu Põ÷\õø» 

2,013

Á[Q°À ö\¾zu¨£mk Á`¼UP¨£hõu P÷\õø» 
31.12.2018 

1,419

  31.12.2018 AßÖ v¸zu¨£mh ¹.225 Ehß 
Á[Q¯õÍºPÒ {ÖÁÚ PnUQÀ uÁÓõP £ØÖ 
ö\´¯¨£mhx. 

Or 
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 (b) Rectify the following errors: 
  (i) Purchase book is over cast by Rs.300 (For the 

month of march) 
  (ii) Sales book has been under cast by Rs.200 
  (iii) Purchase returns book has been over cast by 

Rs.75. 
  (iv) Sales returns book has been under cast Rs.50. 
   ¤ßÁ¸® uPÁÀPÐUS ¤øÇPøÍ \›ö\´¯Ä®. 

  (i) öPõÒ•uÀ PnUSPÎÀ Tku»õP ¹.300 (©õºa 
©õuzvÀ) 

  (ii) ÂØ£øÚ PnUSPÎÀ SøÓÁõP ¹.200 

  (iii) öPõÒ•uÀ v¸¨£® PnUSPÎÀ Tku»õP 
¹.75. 

  (iv) ÂØ£øÚ v¸¨£® PnUSPÎÀ SøÓÁõP ¹.50. 

13. (a) A company purchased a plant for Rs.50,000. The 
useful life of the plant is 10 years and the residual 
value is Rs.10,000. Find out the rate of depreciation 
under the straight line method. 

   J¸ {ÖÁÚ® J¸ Bø»ø¯ ¹.50,000 US Áõ[Q¯x 
Bø»°ß £¯ÝÒÍ B²Ò 10 BskPÒ ©ØÖ® 
«u•ÒÍ ©v¨¦ ¹.10,000 BS®. GÚ÷Á ÷|º÷Põmk 
•øÓ°À ÷u´©õÚzøu Psk¤iUPÄ®. 

Or 

 (b) A machine is purchased for Rs.51,200. Its life is 
expected to be 4 years and the scrap values is 
expected to be Rs.16,200 you are required to 
determine the rate of depreciation when 
diminishing balance method of depreciation is 
adopted. 

   J¸ C¯¢vμ® ¹.51,200 US Áõ[P¨£kQÓx. Auß 
¤ß¦ AuÝøh¯ B²Ò 4 BskPÒ GÚ 
Gvº£õºUP¨£kQÓx ©ØÖ® ìQμõ¨ ©v¨¦ ¹.16,200 
÷u´©õÚzvß SøÓ¢uu ö\À ©v¨¦ •øÓø¯U 
PnUQkP. 
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14. (a) Prepare profit and loss account for the year ending 
31.3.2020. 

 Rs.  Rs.
Gross profit 25,000 Stationary 75
Salaries 5,600 Rent 650
Insurance 200 Interest on loan 225
Discount allowed 400 Repairs 125
Discount received 300 Office expenses 55
Commission earned 100 General expenses 875
Advertisement 450 Postage 175
Taxes 150 Printing charge 375
Travelling expenses 500  

   31.3.2020 S›¯ C»õ£ \mhU PnUQøn u¯õº 
ö\´P. 

 ¹.  ¹.

ö©õzu C»õ£® 25,000 GÊxö£õ¸Ò 75

\®£Í® 5,600 ÁõhøP 650

Põ¨¥k 200 Phß Ámi 225

uÒÐ£i AÎzux 400 £Êx£õº¨¦ 125

uÒÐ£i ö£ØÓx 300 A¾Á»P ö\»Ä 55

PÈÄ ö£ØÓx 100 ö£õxa ö\»Ä 875

ÂÍ®£μ® 450 u£õÀ 175

Á› 150 Aa_ ö\»Ä 375

÷£õUSÁμzx ö\»Ä 500  

Or 

 (b) On 1st January 2020, Ramesh owes Rajiv Rs.3,000 
and he accepts a bill for Rs.2,900 for 2 months in 
full settlement of his account with Rajiv. Rajiv 
endorses the bill to his creditor. (Arun on 3rd 
January 2020. The bill is meet on the due date. Pass 
journal entries in the books of Ramesh). 
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   áÚÁ› 1, 2020 AßÖ μ÷©è Gß£Áº μõâÂh® 
¹.3,000 Phß ö£ØÓÒÍõº. ÷©¾® AÁº uÚx 
PnUøP •øÓ¯õP øÁ¨£uØPõP Cμsk 
©õu[PÐUS ¹.2,900 Ãu® A¸s 3.1.2020 AßÖ 
μõãÆ ÂUS ö\¾zxQÓõº. ÷©¾® μõãÆ J¨¦uÀ 
AÎUQÓõº. GÚ÷Á μ÷©è HkPÎÀ SÔ¨÷£mk 
£vÄPøÍ u¸P. 

15. (a) Goods worth Rs.1,60,000 of M/S Saravanan and 
sons are insured for Rs.1,40,000. Loss due to fire is 
assessed at Rs.32,000. Calculate the claim 
admissible by the insurer. 

   v¸ÁõÍºPÒ \μÁnß & \ßì ¹.1,60,000 US \μUS 
©v¨¦ÒÍøu ¹.1,40,000 vØS Põ¨¥k ö\´uÚº. 
Cx w°ÚõÀ HØ£mh |mhzvØPõÚ öuõøP 
PnUQmhx. ¹.32,000 Põ¨¥mk EÖv¯õÍ›hª¸¢x 
Põ¨¥mk ö\´£Á›ß ÷PõμÀ öuõøP°øÚU 
PnUQkP. 

Or 

 (b) Fire occurred in the premises on 1.1.2020 and the 
books and records were showed. From the following 
information, calculate the insurance claim. 

 Rs. 

Purchases for the year ending 30.6.2019 60,000

Sales for the year ending 30.6.2019 90,000

Purchases from 1.7.2019 to 31.12.2019 35,000

Sales from 1.7.2019 to 31.12.2019 50,000

Stock on 30.12.2019 28,000

Stock on 30.12.2018 40,000
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   J¸ PmihzvÀ 1.1.2020 AßÖ w HØ£mhx. BÚõÀ 
HkPÒ ©ØÖ® BÁn[PÒ Põ¨£ØÓ¨£mhÚ. 
RÌPõq® Â£μ[PÎ¼¸¢x Põ¨¥k CÇ¨¥mkz 
öuõø°øÚU PnUQkP. 

 ¹. 

öPõÒ•uÀ 30.6.19 Bsk •i¯ 60,000

ÂØ£øÚ 30.6.19 Bsk •i¯ 90,000

öPõÒ•uÀ 1.7.19 •uÀ 31.12.2019 Áøμ 35,000

ÂØ£øÚ 1.7.19 •uÀ 31.12.2019 Áøμ 50,000

\μUQ¸¨¦ 30.12.19 AßÖ 28,000

\μUQ¸¨¦ 30.12.18 AßÖ 40,000

 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the features of double entry system. 

 Cμmøh £vÄ •øÓ°ß ]Ó¨¤¯À¦PøÍ ÂÍUSP. 

17. Pass Journal entries to rectify the following errors and 
prepare suspense a/c. 

 (a) Purchase day book for April 2018 under cost by 
Rs.1,000 

 (b) Sales day book for October 2018 over cost by 
Rs.10,000 

 (c) Furniture purchased Rs.8,100 recorded as Rs.810 in 
furniture a/c 

 (d) Bill Rs.10,000 drawn in the name of Jegan not 
recorded in bill receivable book. 

 (e) Machinery purchased Rs.10,000 recorded in the 
purchase book. 
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 R÷Ç öPõkUP¨£mkÒÍ uPÁÀPøÍ øÁzx SÔ¨÷£mk 
£vÄPÐUPõÚ A|õ©zx PnUSPøÍ u¯õº ö\´P. 

 (A) öPõÒ•uÀ |õÒ HkUPõÚ Á¸h® H¨μÀ 2018–ß 
SøÓ¢u£m\ öuõøP ¹.1,000. 

 (B) ÂØ£øÚ HkUPõÚ Á¸hß AU÷hõ£º 2018ß 
AvP£m\ öuõøP ¹.10,000 

 (C) AøÓP»ß Áõ[Q¯x ¹.8,100 BÚõÀ ¹.810 
AøÓP»ß PnUSUQÀ £vÄ ö\´¯¨£mhx. 

 (D) öáPß «x ¹.10,000 US ©õØÖa^mk GÊu¨£mhx. 
BÚõÀ ö£ÖÁuØS›¯ ©õØÖa^mk ¦zuPzvÀ £vÄ 
ö\´¯¨£hÂÀø». 

 (E) C¯¢vμ® Áõ[Q¯x ¹.10,000 I öPõÒ•uÀ HmiÀ 
£vÄ ö\´¯¨£mhx. 

18. A company whose accounting year is the calender year. 
Purchase on 1.1.2018 a machine for Rs.40,000. It 
purchased further machinery on 1st October 2018. For 
Rs.20,000 and on 1st July for Rs.10,000. On 1.7.2021. 1/4th 
of the machinery installed on 1.1.2018 become obsolete 
and was sold for Rs.6,800. 

 Show how the machinery account would appear in the 
books of the company for all the 3 years under 
diminishing balance method. Depreciation is to be 
provided at 10% p.a. 

J¸ {ÖÁÚ® 1.1.2018 AßÖ J¸ C¯¢vμzøu ¹.40,000 
US Áõ[Q¯x ÷©¾® C¯¢vμ[PøÍ 1.10.2018® ÷uv  
¹.20,000 US® 1 Áx, áüø» 2021 ¹.10,000 US® 
Áõ[Q¯x. 1/4 £[S C¯¢vμ[PÒ 1.1.2018 Áøμ 
{ÖÁ¨£mhx.1.1.18 AßÖ ¹. 6,800 ©v¨¦ÒÍ 
C¯¢vμ[PÒ ÂØ£øÚ ö\´¯¨£mhx. 

SøÓ¢u ö\À C¸¨¦ •øÓ°ß RÌ 3 BskPÐUPõÚ 
÷u´©õÚ PnUS {Ö©zvß PnUSPÎÀ £vÄ ö\´P. 
÷u´©õÚ® 10% BP PnUQh ÷Ásk®. 
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19. From the following trial balance, prepare trading P and L 
a/c for the year ended 31.12.2020 and a balance sheet as 
on the date. 

Trial balance 

 Rs.  Rs. 

Purchase 11,870 Capital 8,000

Debtors 7,580 Bad debts recovered 250

Return 
inwards 

450 Creditors 1,250

Bank deposit 2,750 Return outwards 350

Rent 360 Bank overdraft 1,570

Salaries 850 Sales 14,690

Travelling 
expenses 

300 Bills payable 1,350

Cash 210  

Stock 2,450  

Discount 
allowed 

40  

Drawings 600  

 27,460  27,460

 Adjustments: 

 (a) The closing stock on 31.12.2020 was Rs.4,200 

 (b) Write off Rs.80 bad debts and create a reserve for 
bad debts at 5% on sundry debtors. 

 (c) Three months rent is outstanding. 
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 R÷Ç öPõkUP¨£mkÒÍ C¸¨£õ´ÄPÐUS, Â¯õ£õμ 
C»õ£ |mh, C¸¨¦ {ø»U SÔ¨¦ u¯õº ö\´P. 
(31.12.2020) 

C¸¨¦ P/S 

 ¹.  ¹. 

öPõÒ•uÀ 11,870 •uÀ 8,000

PhÚõÎPÒ 7,580 ÁμõUPhß «m¦ 250

ÂØ£øÚ 
v¸¨£® 

450 PhÜ¢÷uõº 1,250

Á[Q øÁ¨¦ 2,750 öPõÒ•uÀ 
v¸¨£® 

350

ÁõhøP 360 Á[Q ÷©ÀÁøμ 
£ØÖ 

1,570

\®£Í® 850 ÂØ£øÚ 14,690

÷£õUSÁμzx 
ö\»Ä 

300 ö\¾zxÁuØS›¯ 
©õØÖa^mk 

1,350

öμõUP® 210  

C¸¨¦ 2,450  

uÒÐ£i 
ÁÇ[Q¯x 

40  

Gk¨¦ 600  

 27,460  27,460

 \›PmkuÀ 

 (A)  CÖv \μUQ¸¨¦ 31.12.2020 öuõøP ¹.4,200 

 (B) ÁμõUPhß }UQ¯x ¹.80 I¯UPhß JxURk 5% 

 (C) ‰ßÖ ©õu ÁõhøP öPõk£h ÷Ási²ÒÍx. 
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20. A fire occurred in the premises of X Ltd on 10.10.2020. 
All stocks were destroyed except to the extent of Rs.6,200 
from the following figures, ascertain the loss of stock 
suffered by the company. 

 Rs. 

Stock on 1.1.2019 40,000

Purchase during 2019 1,45,000

Sales during 2019 2,00,000

Stock on 31.12.2020 25,000

Purchase during 2019 upto the date of fire 1,52,200

Sales during 2019 upto date of fire 1,89,000

 10.10.2020 AßÖ X ¼ªöhm ÁÍõPzvÀ w Â£zx 
HØ£mhx. ¹.6,200 ©v¨¦ uÂμ AøÚzx® wUQøμ¯õ°Ú. 
¤ßÁ¸® Â£μ[PÎ¼¸¢x {ÖÁÚzøu  CÇ¨ø£ 
PnUQkP. 

 ¹. 

C¸¨¦ 1.1.2019 40,000

öPõÒ•uÀ 2019 1,45,000

ÂØ£øÚ 2019 2,00,000

C¸¨¦ 31.12.2020 25,000

w CÇ¨¦ HØ£mh Bsk öPõÒ•uÀ 
ö\´ux (2019) 

1,52,200

w CÇ¨¦ HØ£mh Bsk ÂØ£øÚ ö\´ux 
(2019) 

1,89,000

 
———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Section A  (10 × 2 = 20) 

Answer all questions. 

1. Write the meaning of Business Entity concept. 

 ÁoP ÷Põm£õmiß ö£õ¸ÎøÚ GÊxP. 

2. What do you mean by double entry system? 

 Cμmøh £vÄ •øÓ GßÓõÀ GßÚ? 

3. What is suspense account? 

 A|õ©zx PnUS GßÓõÀ GßÚ? 

4. Write a note on errors of omission. 

 Âk ¤øÇPÒ £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

5. Write a note on straight line method. 

 ÷|º÷Põmk •øÓ £ØÔ GÊxP. 

Sub. Code 
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6. Define depreciation. 

 ÷u´©õÚ® – Áøμ¯Ö. 

7. Who is a drawer of a bill? 

 ©õØÖa ^møh GÊx£Áº ¯õº? 

8. What is trade bill? 

 ÁºzuP Esi¯À GßÓõÀ GßÚ? 

9. What is the purpose of fire insurance? 

 w–Põ¨¥mk •øÓ°ß ÷|õUP® GßÓõÀ GßÚ? 

10. What is average clause? 

 \μõ\› \μzx GßÓõÀ GßÚ? 

 Section B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What is accounting? What is need for it? 

   PnUQ¯À GßÓõÀ GßÚ? Auß ÷uøÁ ¯õx ? 

Or 

 (b) Prepare trail balance from the following. 

 Rs.  Rs. 

Capital 9,000 Rent outstanding 1,000

Plant and machinery 12,000 Opening stock 2,000

Purchases 8,000 Sales returns 4,000

Sales 12,000 Investments 14,000

Sundry creditors 8,000 Debtors 12,000

Bank loan 22,000  
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  ¤ßÁ¸® Â£μ[PøÍU öPõsk C¸¨£õ´Ä u¯õº ö\´P. 

 öuõøP  öuõøP

•uÀ 9,000 öPõk£h ÷Ási¯ 
ÁõhøP 

1,000

Bø» ©ØÖ® 
C¯¢vμ® 

12,000 öuõhUP \μUQ¸¨¦ 2,000

öPõÒ•uÀ 8,000 ÂØ£øÚ v¸¨£® 4,000
ÂØ£øÚ 12,000 •u½k 14,000
£Ø£» 
PhÜ¢÷uõº 

8,000 PhÚõÎPÒ 12,000

Á[Q Phß 22,000  

12. (a) From the following particulars prepare a Bank 
reconciliation statement as on 31.12.2018. 

 Rs. 

Balance as per cash book 5,877

Cheque issued but not presented for payment 2,013

Cheque deposited but not cleared upto 31.12.2018 1,419

  Bankers had wrongly debited the firms account 
with Rs.225 which was yet rectified on 31st 
December. 

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x 31.12.2018® |õøÍ¯ 
Á[Q \›Pmk® £mi¯ø» u¯õº ö\´P. 

 ¹. 

öμõUP Hmiß £i C¸¨¦ 5,877
ÁõiUøP¯õÍºPÐUS öPõkUP£mh BÚõÀ 
©õØÓ¨£hõu Põ÷\õø» 

2,013

Á[Q°À ö\¾zu¨£mk Á`¼UP¨£hõu P÷\õø» 
31.12.2018 

1,419

  31.12.2018 AßÖ v¸zu¨£mh ¹.225 Ehß 
Á[Q¯õÍºPÒ {ÖÁÚ PnUQÀ uÁÓõP £ØÖ 
ö\´¯¨£mhx. 

Or 
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 (b) Rectify the following errors: 
  (i) Purchase book is over cast by Rs.300 (For the 

month of march) 
  (ii) Sales book has been under cast by Rs.200 
  (iii) Purchase returns book has been over cast by 

Rs.75. 
  (iv) Sales returns book has been under cast Rs.50. 
   ¤ßÁ¸® uPÁÀPÐUS ¤øÇPøÍ \›ö\´¯Ä®. 

  (i) öPõÒ•uÀ PnUSPÎÀ Tku»õP ¹.300 (©õºa 
©õuzvÀ) 

  (ii) ÂØ£øÚ PnUSPÎÀ SøÓÁõP ¹.200 

  (iii) öPõÒ•uÀ v¸¨£® PnUSPÎÀ Tku»õP 
¹.75. 

  (iv) ÂØ£øÚ v¸¨£® PnUSPÎÀ SøÓÁõP ¹.50. 

13. (a) A company purchased a plant for Rs.50,000. The 
useful life of the plant is 10 years and the residual 
value is Rs.10,000. Find out the rate of depreciation 
under the straight line method. 

   J¸ {ÖÁÚ® J¸ Bø»ø¯ ¹.50,000 US Áõ[Q¯x 
Bø»°ß £¯ÝÒÍ B²Ò 10 BskPÒ ©ØÖ® 
«u•ÒÍ ©v¨¦ ¹.10,000 BS®. GÚ÷Á ÷|º÷Põmk 
•øÓ°À ÷u´©õÚzøu Psk¤iUPÄ®. 

Or 

 (b) A machine is purchased for Rs.51,200. Its life is 
expected to be 4 years and the scrap values is 
expected to be Rs.16,200 you are required to 
determine the rate of depreciation when 
diminishing balance method of depreciation is 
adopted. 

   J¸ C¯¢vμ® ¹.51,200 US Áõ[P¨£kQÓx. Auß 
¤ß¦ AuÝøh¯ B²Ò 4 BskPÒ GÚ 
Gvº£õºUP¨£kQÓx ©ØÖ® ìQμõ¨ ©v¨¦ ¹.16,200 
÷u´©õÚzvß SøÓ¢uu ö\À ©v¨¦ •øÓø¯U 
PnUQkP. 
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14. (a) Prepare profit and loss account for the year ending 
31.3.2020. 

 Rs.  Rs.
Gross profit 25,000 Stationary 75
Salaries 5,600 Rent 650
Insurance 200 Interest on loan 225
Discount allowed 400 Repairs 125
Discount received 300 Office expenses 55
Commission earned 100 General expenses 875
Advertisement 450 Postage 175
Taxes 150 Printing charge 375
Travelling expenses 500  

   31.3.2020 S›¯ C»õ£ \mhU PnUQøn u¯õº 
ö\´P. 

 ¹.  ¹.

ö©õzu C»õ£® 25,000 GÊxö£õ¸Ò 75

\®£Í® 5,600 ÁõhøP 650

Põ¨¥k 200 Phß Ámi 225

uÒÐ£i AÎzux 400 £Êx£õº¨¦ 125

uÒÐ£i ö£ØÓx 300 A¾Á»P ö\»Ä 55

PÈÄ ö£ØÓx 100 ö£õxa ö\»Ä 875

ÂÍ®£μ® 450 u£õÀ 175

Á› 150 Aa_ ö\»Ä 375

÷£õUSÁμzx ö\»Ä 500  

Or 

 (b) On 1st January 2020, Ramesh owes Rajiv Rs.3,000 
and he accepts a bill for Rs.2,900 for 2 months in 
full settlement of his account with Rajiv. Rajiv 
endorses the bill to his creditor. (Arun on 3rd 
January 2020. The bill is meet on the due date. Pass 
journal entries in the books of Ramesh). 
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   áÚÁ› 1, 2020 AßÖ μ÷©è Gß£Áº μõâÂh® 
¹.3,000 Phß ö£ØÓÒÍõº. ÷©¾® AÁº uÚx 
PnUøP •øÓ¯õP øÁ¨£uØPõP Cμsk 
©õu[PÐUS ¹.2,900 Ãu® A¸s 3.1.2020 AßÖ 
μõãÆ ÂUS ö\¾zxQÓõº. ÷©¾® μõãÆ J¨¦uÀ 
AÎUQÓõº. GÚ÷Á μ÷©è HkPÎÀ SÔ¨÷£mk 
£vÄPøÍ u¸P. 

15. (a) Goods worth Rs.1,60,000 of M/S Saravanan and 
sons are insured for Rs.1,40,000. Loss due to fire is 
assessed at Rs.32,000. Calculate the claim 
admissible by the insurer. 

   v¸ÁõÍºPÒ \μÁnß & \ßì ¹.1,60,000 US \μUS 
©v¨¦ÒÍøu ¹.1,40,000 vØS Põ¨¥k ö\´uÚº. 
Cx w°ÚõÀ HØ£mh |mhzvØPõÚ öuõøP 
PnUQmhx. ¹.32,000 Põ¨¥mk EÖv¯õÍ›hª¸¢x 
Põ¨¥mk ö\´£Á›ß ÷PõμÀ öuõøP°øÚU 
PnUQkP. 

Or 

 (b) Fire occurred in the premises on 1.1.2020 and the 
books and records were showed. From the following 
information, calculate the insurance claim. 

 Rs. 

Purchases for the year ending 30.6.2019 60,000

Sales for the year ending 30.6.2019 90,000

Purchases from 1.7.2019 to 31.12.2019 35,000

Sales from 1.7.2019 to 31.12.2019 50,000

Stock on 30.12.2019 28,000

Stock on 30.12.2018 40,000
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   J¸ PmihzvÀ 1.1.2020 AßÖ w HØ£mhx. BÚõÀ 
HkPÒ ©ØÖ® BÁn[PÒ Põ¨£ØÓ¨£mhÚ. 
RÌPõq® Â£μ[PÎ¼¸¢x Põ¨¥k CÇ¨¥mkz 
öuõø°øÚU PnUQkP. 

 ¹. 

öPõÒ•uÀ 30.6.19 Bsk •i¯ 60,000

ÂØ£øÚ 30.6.19 Bsk •i¯ 90,000

öPõÒ•uÀ 1.7.19 •uÀ 31.12.2019 Áøμ 35,000

ÂØ£øÚ 1.7.19 •uÀ 31.12.2019 Áøμ 50,000

\μUQ¸¨¦ 30.12.19 AßÖ 28,000

\μUQ¸¨¦ 30.12.18 AßÖ 40,000

 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the features of double entry system. 

 Cμmøh £vÄ •øÓ°ß ]Ó¨¤¯À¦PøÍ ÂÍUSP. 

17. Pass Journal entries to rectify the following errors and 
prepare suspense a/c. 

 (a) Purchase day book for April 2018 under cost by 
Rs.1,000 

 (b) Sales day book for October 2018 over cost by 
Rs.10,000 

 (c) Furniture purchased Rs.8,100 recorded as Rs.810 in 
furniture a/c 

 (d) Bill Rs.10,000 drawn in the name of Jegan not 
recorded in bill receivable book. 

 (e) Machinery purchased Rs.10,000 recorded in the 
purchase book. 
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 R÷Ç öPõkUP¨£mkÒÍ uPÁÀPøÍ øÁzx SÔ¨÷£mk 
£vÄPÐUPõÚ A|õ©zx PnUSPøÍ u¯õº ö\´P. 

 (A) öPõÒ•uÀ |õÒ HkUPõÚ Á¸h® H¨μÀ 2018–ß 
SøÓ¢u£m\ öuõøP ¹.1,000. 

 (B) ÂØ£øÚ HkUPõÚ Á¸hß AU÷hõ£º 2018ß 
AvP£m\ öuõøP ¹.10,000 

 (C) AøÓP»ß Áõ[Q¯x ¹.8,100 BÚõÀ ¹.810 
AøÓP»ß PnUSUQÀ £vÄ ö\´¯¨£mhx. 

 (D) öáPß «x ¹.10,000 US ©õØÖa^mk GÊu¨£mhx. 
BÚõÀ ö£ÖÁuØS›¯ ©õØÖa^mk ¦zuPzvÀ £vÄ 
ö\´¯¨£hÂÀø». 

 (E) C¯¢vμ® Áõ[Q¯x ¹.10,000 I öPõÒ•uÀ HmiÀ 
£vÄ ö\´¯¨£mhx. 

18. A company whose accounting year is the calender year. 
Purchase on 1.1.2018 a machine for Rs.40,000. It 
purchased further machinery on 1st October 2018. For 
Rs.20,000 and on 1st July for Rs.10,000. On 1.7.2021. 1/4th 
of the machinery installed on 1.1.2018 become obsolete 
and was sold for Rs.6,800. 

 Show how the machinery account would appear in the 
books of the company for all the 3 years under 
diminishing balance method. Depreciation is to be 
provided at 10% p.a. 

J¸ {ÖÁÚ® 1.1.2018 AßÖ J¸ C¯¢vμzøu ¹.40,000 
US Áõ[Q¯x ÷©¾® C¯¢vμ[PøÍ 1.10.2018® ÷uv  
¹.20,000 US® 1 Áx, áüø» 2021 ¹.10,000 US® 
Áõ[Q¯x. 1/4 £[S C¯¢vμ[PÒ 1.1.2018 Áøμ 
{ÖÁ¨£mhx.1.1.18 AßÖ ¹. 6,800 ©v¨¦ÒÍ 
C¯¢vμ[PÒ ÂØ£øÚ ö\´¯¨£mhx. 

SøÓ¢u ö\À C¸¨¦ •øÓ°ß RÌ 3 BskPÐUPõÚ 
÷u´©õÚ PnUS {Ö©zvß PnUSPÎÀ £vÄ ö\´P. 
÷u´©õÚ® 10% BP PnUQh ÷Ásk®. 
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19. From the following trial balance, prepare trading P and L 
a/c for the year ended 31.12.2020 and a balance sheet as 
on the date. 

Trial balance 

 Rs.  Rs. 

Purchase 11,870 Capital 8,000

Debtors 7,580 Bad debts recovered 250

Return 
inwards 

450 Creditors 1,250

Bank deposit 2,750 Return outwards 350

Rent 360 Bank overdraft 1,570

Salaries 850 Sales 14,690

Travelling 
expenses 

300 Bills payable 1,350

Cash 210  

Stock 2,450  

Discount 
allowed 

40  

Drawings 600  

 27,460  27,460

 Adjustments: 

 (a) The closing stock on 31.12.2020 was Rs.4,200 

 (b) Write off Rs.80 bad debts and create a reserve for 
bad debts at 5% on sundry debtors. 

 (c) Three months rent is outstanding. 
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 R÷Ç öPõkUP¨£mkÒÍ C¸¨£õ´ÄPÐUS, Â¯õ£õμ 
C»õ£ |mh, C¸¨¦ {ø»U SÔ¨¦ u¯õº ö\´P. 
(31.12.2020) 

C¸¨¦ P/S 

 ¹.  ¹. 

öPõÒ•uÀ 11,870 •uÀ 8,000

PhÚõÎPÒ 7,580 ÁμõUPhß «m¦ 250

ÂØ£øÚ 
v¸¨£® 

450 PhÜ¢÷uõº 1,250

Á[Q øÁ¨¦ 2,750 öPõÒ•uÀ 
v¸¨£® 

350

ÁõhøP 360 Á[Q ÷©ÀÁøμ 
£ØÖ 

1,570

\®£Í® 850 ÂØ£øÚ 14,690

÷£õUSÁμzx 
ö\»Ä 

300 ö\¾zxÁuØS›¯ 
©õØÖa^mk 

1,350

öμõUP® 210  

C¸¨¦ 2,450  

uÒÐ£i 
ÁÇ[Q¯x 

40  

Gk¨¦ 600  

 27,460  27,460

 \›PmkuÀ 

 (A)  CÖv \μUQ¸¨¦ 31.12.2020 öuõøP ¹.4,200 

 (B) ÁμõUPhß }UQ¯x ¹.80 I¯UPhß JxURk 5% 

 (C) ‰ßÖ ©õu ÁõhøP öPõk£h ÷Ási²ÒÍx. 
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20. A fire occurred in the premises of X Ltd on 10.10.2020. 
All stocks were destroyed except to the extent of Rs.6,200 
from the following figures, ascertain the loss of stock 
suffered by the company. 

 Rs. 

Stock on 1.1.2019 40,000

Purchase during 2019 1,45,000

Sales during 2019 2,00,000

Stock on 31.12.2020 25,000

Purchase during 2019 upto the date of fire 1,52,200

Sales during 2019 upto date of fire 1,89,000

 10.10.2020 AßÖ X ¼ªöhm ÁÍõPzvÀ w Â£zx 
HØ£mhx. ¹.6,200 ©v¨¦ uÂμ AøÚzx® wUQøμ¯õ°Ú. 
¤ßÁ¸® Â£μ[PÎ¼¸¢x {ÖÁÚzøu  CÇ¨ø£ 
PnUQkP. 

 ¹. 

C¸¨¦ 1.1.2019 40,000

öPõÒ•uÀ 2019 1,45,000

ÂØ£øÚ 2019 2,00,000

C¸¨¦ 31.12.2020 25,000

w CÇ¨¦ HØ£mh Bsk öPõÒ•uÀ 
ö\´ux (2019) 

1,52,200

w CÇ¨¦ HØ£mh Bsk ÂØ£øÚ ö\´ux 
(2019) 

1,89,000

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Write a notes on computer. 

 PoÛ £ØÔ ö£õ¸Ò GÊxP. 

2. What do you mean by a system software? 

 •øÓ¯õÚ ö©ßö£õ¸Îß Aºzu® GßÓõÀ GßÚ? 

3. Expand - LAN. 

 Â›ÁõUP® & LAN u¸P. 

4. Expand - TCP/IP. 

 Â›ÁõUP® & TCL/IP u¸P. 

5. What is operating system? 

 C¯UP•øÓ GßÓõÀ GßÚ? 

6. Write any four internal DOS commands. 

 H÷uÝ® |õßS AP hõì BønPøÍ GÊxP. 

Sub. Code 
4BCC1C2 
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7. Write a notes on time sharing. 

 ÷|μ £[Rk £ØÔ _¸UP©õP GÊxP. 

8. Narrate the term ‘File security’. 

 ‘÷Põ¨¦ £õxPõ¨¦’ Gß£x ¯õx? 

9. Write a short notes on GUI. 

 ã²I £ØÔ J¸ ]Ö SÔ¨¦ u¸P. 

10. What do you mean by multitasking? 

 £ß•P ÷Áø» Gß£uß ö£õ¸Ò ¯õx? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Define computer and discuss its main 
characteristics. 

  PoÛø¯ Áøμ¯Ö ©ØÖ® AÁØÔß 
Snõv\¯[PøÍ ÂÍUSP. 

Or 

 (b) Write down relative merits and demerits of different 
storage devices. 

  £À÷ÁÖ ÁøP¯õÚ ÷\ª¨¦ \õuÚ •øÓ°ß |ßø© 
©ØÖ® wø©PøÍ GÊxP. 

12. (a) Write a briefly about the needs of communication. 

  uPÁÀ öuõhº¤ß ÷uøÁPÒ ¯õøÁ? 

Or 

 (b) Write about the network topologies. 

  Cøn¯ uÍ ÷hõ¨£õ»âø¯ £ØÔ GÊxP. 
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13. (a) What are the various functions of operating system? 

  £À÷ÁÖ Âu©õÚ C¯UP •øÓ°ß ö\¯À£õkPÒ 
GßÓõÀ GßÚ? 

Or 

 (b) Write a detailed notes on classifications of OS. 

  C¯UP •øÓ°ß £À÷ÁÖ ÁøPPøÍ GÊxP. 

14. (a) Describe the architecture of Unix operating system. 

  ²ÛUì C¯UP •øÓø¯ Â›ÁõP ÂÍUSP. 

Or 

 (b) Explain about the Unix file system. 

  ³ÛUì ÷Põ¨¦ •øÓ £ØÔ ÂÍUSP. 

15. (a) Write a briefly about the features of windowns XP. 

  Âs÷hõì GUì ¤°ß ]Ó¨£®\[PøÍ Â›ÁõP 
GÊxP. 

Or 

 (b) Write any five menus appeared in windows. 

  Âs÷hõêÀ Põn¨£k® H÷uÝ® I¢x 
£mi¯ÀPøÍ GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What are the functions of a computer? 

 PoÛ°ß ö\¯À£kUøP TÖP. 
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17. Describe the functions of LAN. 

 EÒ£Sv Áø»¨¤ßÚ¼ß £¯ßPøÍ ÂÁ›. 

18. Describe the various kinds of operating system. 

 £À÷ÁÖ C¯UP •øÓPøÍ Â›ÁõP GÊxP. 

19. Explain the file security in Unix system. 

 ³ÛUì •øÓ°ß ÷Põ¨¦ £õxPõ¨¦ •øÓø¯ ÂÍUSP. 

20. Describe the features of windows ‘98’. 

 Âs÷hõì ‘98’ ß ]Ó¨£®\[PøÍ Â›ÁõP ÂÍUSP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Computerized Accounting? 

 PoÛ ©¯©õUP¨£mh PnUQ¯À GßÓõÀ GßÚ? 

2. Define Tally. 

 ÷h¼ ÁøμÂ»UPn® u¸P. 

3. What is Double Entry System? 

 Cμmøh¨ £vÄ •øÓ GßÓõÀ GßÚ? 

4. How will you Shut a company in Tally? 

 ÷h¼°À J¸ {ÖÁÚzøu GÆÁõÖ }USÁõ´? 

5. Define Voucher. 

 μ^øu¨ £ØÔ Áøμ¯ÖUPÄ®. 

6. What do you mean by Payment Voucher? 

 Pmhn μ^x AÀ»x ö\¾zxuÀ μ^x £ØÔ } GÆÁõÖ 
AÔÁõ´? 

Sub. Code 
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7. Define Day Book. 

 |õÒ SÔ¨÷£k SÔzx ÁøμÂ»UPn® u¸P. 

8. Name the three important Financial Reports. 

 ‰ßÖ •UQ¯©õÚ {v AÔUøPPøÍ¨ ö£¯›kP. 

9. What is Bank Reconciliation Statement? 

 Á[Q \›UPmk® £mi¯À GßÓõÀ GßÚ? 

10. What is Deposit Slip? 

 øÁ¨¦a ^mk GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Highlight the salient features of Tally. 

   ÷h¼°ß •UQ¯ A®\[PÒ £ØÔ TÖP. 

Or 

 (b) How will you Create/Delete and Alter companies in 
Tally? 

   GÆÁõÖ ÷h¼°À J¸ {ÖÁÚzøu 
E¸ÁõUSÁx/}USÁx/©õØÖÁx? 

12. (a) Explain the terms : 

  (i) Stock Group  

  (ii) Stock Category  

  (iii) Stock Item. 

  (i) ö£õ¸Ò SÊ 

  (ii) ö£õ¸Ò ÁøP 

  (iii) ö£õ¸ÒPÒ £ØÔ ÂÍUQU TÖP. 

Or 
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 (b) Describe the concept of Tally Master configuration.  

   ÷h¼ ©õìh›ß EÒÍø©ÄU P¸zxUPÒ £ØÔ 
ÂÁ›UPÄ®. 

13. (a) What do you mean by vouchers in Tally? How will 
you create vouchers? 

   μ^x GßÓõÀ GßÚ? ÷h¼°À AuøÚ GÆÁõÖ 
E¸ÁõUSÁx? 

Or 

 (b) Write a note on bill wise details maintenance and 
interest calculation. 

   μ^x ÂÁμ[PÒ £μõ©›¨¦ ©ØÖ® Ámi PnURk £ØÔ 
GÊuÄ®. 

14. (a) What are reports? What are the various reports 
available in Tally? 

   AÔUøP GßÓõÀ GßÚ? ÷h¼°À EÒÍ £À÷ÁÖ 
AÔUøPPÒ ¯õøÁ? 

Or 

 (b) How do display a fund flow statements in Tally? 

   ÷h¼°À {v Kmh AÔUøPPøÍ GÆÁõÖ öu›Ä 
ö\´Áõ´? 

15. (a) Discuss the following :  

  (i) Balance Sheet  

  (ii)  Profit and Loss Account. 

   ¤ßÁ¸ÁÚÁØøÓ ÂÁ›. 

   (i) C¸¨¦ {ø»  

   (ii)  »õ£® ©ØÖ® CÇ¨¦U PnUS. 

Or 

 (b) What are the various uses of security control? 

   £õxPõ¨¦ Pmk¨£õmiß £À÷ÁÖ £¯ßPÒ ¯õøÁ? 
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 Part C  (3 × 10 = 30) 

Answer three questions. 

16. Briefly explain the details to be filled in creation of 
company in Tally. 

÷h¼°À J¸ {ÖÁÚzøu E¸ÁõUSÁvÀ 
{μ¨££h÷Ási¯ ÂÁμ[PøÍ¨ £ØÔ ÂÁ›. 

17. Write about the significance of F11 features and  
F12 configuration in Tally. 

÷h¼°À F11 A®\[PÒ ©ØÖ® F12 EÒÍø©Âß 
•UQ¯zxÁ® £ØÔ GÊxP. 

18. Explain various types of inventory vouchers with 
appropriate examples. 

ö£õ¸zu©õÚ GkzxUPõmkUPÐhß £À÷ÁÖ ÁøP¯õÚ 
\μUS μ^x £ØÔ ÂÁ›UPÄ®. 

19. Explain the accounting analysis report in Tally. 

 ÷h¼°À PnUQ¯À £S¨£õ´Ä AÔUøPø¯¨ £ØÔ 
ÂÍUSP. 

20. What are the various options available in banking menu 
of Tally?  

÷h¼°À Á[Q¨ £mi¯¼À QøhUS® £À÷ÁÖ Â¸¨£U 
Pmhø©ÄPÒ ¯õøÁ? 

 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Variable? 

 ©õÔ GßÓõÀ GßÚ? 

2. List out any two keywords in C. 

 ] ö©õÈ°À EÒÍ Cμsk •UQ¯ ÁõºzøuPøÍ 
£mi¯¼kP. 

3. Write the syntax of For loop statement. 

 For loop AÔUøP°ß ÁõUQ¯ Aø©¨ø£ GÊxP. 

4. Define Simple If Statement. 

 Simple If Statement AÔUøPø¯ Áøμ¯ÖUPÄ®. 

5. How to declare an Array? 

 J¸ Á›ø\ø¯ GÆÁõÖ {¸Äx? 

Sub. Code 
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6. Difference between Character and String. 

 GÊzxUS® \μzxUS® Cøh÷¯ EÒÍ ÷ÁÖ£õk GßÚ? 

7. What is mean by Size of Operator? 

 Size of Operator Gß£uß ö£õ¸Ò GßÚ? 

8. How to find the length of string. 

 \μzvß }ÍzvøÚ GÆÁõÖ Psk¤i¨£x? 

9. What is C Preprocessor? 

 C Preprocessor GßÓõÀ GßÚ? 

10. Define the term “getc( )”. 

 “getc( )” GßÓ Áõºzøuø¯ Áøμ¯ÖUPÄ®. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Give the basic structure of a C program with an 
example. 

  ] ö©õÈ°ß Ai¨£øh Aø©¨¤øÚ 
GkzxUPõmkhß  u¸P. 

Or 

 (b)  Write note on following :  

  (i)  Data Types  

  (ii)  Declaration with an example.  

  ¤ßÁ¸ÁÚ £ØÔ ]Ö SÔ¨¦ u¸P. 

   (i)  uμÄ ÁøP  

  (ii)  ©õÔø¯ GÆÁõÖ {ÖÄÁx 
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12. (a) Explain do-while statement with an example. 

   Do-while AÔUøP°ß ÁõUQ¯ Aø©¨¤øÚ 

ÂÍUSP. 

Or 

 (b)  Write a C program to display the Multiplication 

table. 

  ] ö©õÈ°À ö£¸UPÀ AmhÁønUPõÚ {μø» 

GÊxP. 

13. (a) What is Array? Describe its types. 

  Á›ø\ GßÓõÀ GßÚ? Auß ÁøPPøÍ £ØÔ ÂÁ›. 

Or 

 (b)  Explain Scanf and Printf statement with syntax. 

  Scanf ©ØÖ® Printf AÔUøP°ß ÁõUQ¯ Aø©¨ø£ 

GkzxUPõmkhß ÂÍUSP. 

14. (a) What is Structure? How to define and declare a 

structure?  

  Aø©¨¦ GßÓõÀ GßÚ? Aø©¨¤øÚ GÆÁõÖ 

Áøμ¯Ö¨¦x ©ØÖ® AÔÂ¨£x? 

Or 

 (b)  Write about declaring and Initializing pointer 

variables. 

  _miUPõmi ©õÔPøÍ AÔÂ¨£x ©ØÖ® xÁUSuÀ 

£ØÔ GÊxP. 



A–10318

  

  4

15. (a) Discuss about File Input/Output functions. 
  ÷Põ¨¦ EÒÏk/öÁÎ±mk ö\¯À£õkPøÍ £ØÔ 

ÂÁõvUPÄ®. 

Or 

 (b)  To write a C program to find Factorial of given 
value.  

  ] ö©õÈ°À öPõkUP¨£mh Gsoß Põμoø¯ 
Psk¤i¨£uØPõÚ {μø» GÊxP. 

 Part B  (3 × 10 = 30) 

Answer any three questions. 

16. Explain various types of operators in C. 
 ] ö©õÈ°À £À÷ÁÖ ÁøP¯õÚ B£÷μmhºPøÍ ÂÍUSP. 

17. Discuss in detail the various form of If statement. 

 If AÔUøP°ß £À÷ÁÖ ÁøP¯õÚ ÁiÁ[PøÍ 
ÂÁõvUPÄ®. 

18. Briefly discuss about (a) Function (b) Function 
Prototype (c) Global Variable. 

 (A) ö\¯À£õk (B) ö\¯À£õmk •ß©õv› (C) Global 
©õÔ £ØÔ _¸UP©õP ÂÁ›. 

19. Explain String Handling functions with example. 
 \μ® øP¯õÐ® ö\¯À£õkPÒ £ØÔ GkzxUPõmkPÐhß 

ÂÍUSP. 

20. Explain various storage classes with example. 

 £À÷ÁÖ ÁøP¯õÚ ÷\ª¨¦ ÁS¨¦PøÍ 
GkzxUPõmkPÐhß ÂÍUSP. 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Statistical Errors. 

 ¦ÒÎ°¯À ¤øÇPøÍ Áøμ¯Ö. 

2. State the meaning of stratified sample. 

 TÔh¨£mh ©õv›°ß ö£õ¸Ò TÖP. 

3. Write a formula for harmonic mean. 

 Cø\ \μõ\›°ß `zvμzøu GÊxP. 

4. Give the meaning of Mean deviation. 

 \μõ\› ÂÍUP® £ØÔ¯ ö£õ¸Ò u¸P. 

5. Define Regression equation. 

 öuõhº¦÷Põk \©ß£õk £ØÔ Áøμ¯Ö. 

6. What is correlation? 

 Ehß öuõhº¦ GßÓõÀ GßÚ? 
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7. What do you understand by Chain index? 
 öuõhº SÔ±möhsøÚ¨ £ØÔ }Âº AÔÁx ¯õx? 

8. State the condition for unit test. 
 A»Sz ÷uºÄUS›¯ {£¢uøÚø¯ TÖ. 

9. Write short note on moving average method. 
 |P¸® \μõ\› •øÓø¯¨ £ØÔ ]Ö SÔ¨¦ GÊxP. 

10. What do you understood the link relative method? 
 EÓÂÚº •øÓ £ØÔ }Âº AÔÁx GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the various limitations of statistics. 
   ¦ÒÎ°¯¼ß £À÷ÁÖ SøÓ£õkPøÍ ÂÍUSP. 

Or 

 (b) What are the characteristics of a good 
questionnaire?  

   J¸ |À» ÂÚõzuõÒ ©øÓ°ß Sn[PÒ ¯õøÁ? 

12. (a) From the data find the value of median. 
Income 50,000 65,000 72,000 80,000 8,50,000

No of Persons 25 27 17 19 11 

  ¤ßÁ¸® ÂÁμ[PÐUS Cøh{ø» PõsP. 
Á¸©õÚ® 50,000 65,000 72,000 80,000 8,50,000
BmPÒ GsoUøP 25 27 17 19 11 

Or 

 (b) Explain the merits and demerits of quartile 
deviation. 

PõÀ©õÚ Â»UPzvß |ßø© ©ØÖ® wø©PøÍ 
ÂÁ›.  
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13. (a) From the following information ,calculate line of 
regression of y on x: 

 X Y 

Mean 60 80

Standard deviation 15 20

Correlation co efficient  0.8

  RÌUPsh ÂÁμ[PøÍU öPõsk Y ©ØÖ® X öuõhº 
÷PõmiøÚ PnUQkP.  

 X Y 
\μõ\› 60 80
vmhÂ»UP® 15 20
JmkÓÄUöPÊ  0.8

Or 

 (b) Distinguish between correlation and regression 
analysis. 

   JmkÓÄ ©ØÖ® öuõhº ÷£õUS 
BQ¯øÁPÐUQøh÷¯ EÒÍ ÷ÁØÖø©UPøÍ u¸P. 

14. (a) Explain the any two methods of construction of 
index number. 

   SÔ±möhs Aø©US® H÷uÝ® C¸•øÓPøÍ 
ÂÁ›. 

Or 

 (b) Construct the cost of living index 
Group Food Rent Clothing Fuel Misc

Index number 350 220 250 180 210 

Weight 50 10 12 15 5 

  ÁõÌUøP ö\»Ä SÔ±möhs PnUQkP. 
SÊ EnÄ ÁõhøP Eøh G›ö£õ¸Ò ©ØÓøÁ

SÔ±möhs 350 220 250 180 210 
©v¨¦ 50 10 12 15 5 
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15. (a) Calculate 3 yearly moving average and draw the 
trend line 

Year 2016 2017 2018 2019 2020

Production 203 220 231 245 253 

  3 Bsk |P¸® \μõ\›ø¯ PnUQkP ©ØÖ® ÷£õUS 
ÁøμP. 
Á¸h® 2016 2017 2018 2019 2020
EØ£zv 203 220 231 245 253 

Or 

 (b) Compute the trend values by the method of least 
squares from the data given below: 

Year 2013 2014 2015 2016 2017 2018 2019 2020 

Production 55,000 57,000 52,000 45,000 43,000 39,000 35,000 32,000 

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x ÷£õUS ©v¨¦PøÍ 
«a]Ö ÁºUP •øÓ°À PnUQkP. 

Á¸h® 2013 2014 2015 2016 2017 2018 2019 2020 

EØ£zv 55,000 57,000 52,000 45,000 43,000 39,000 35,000 32,000 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the various methods of collecting primary data. 
 •uÛø» ÂÁμ[PÒ öuõSUS® £À÷ÁÖ •øÓPøÍ 
ÂÁ›. 

17. Find the median and mean deviation for the data: 
X 0-10  10-20 20-30 30-40  40-50  50-60 60-70

F 9 14 18 24 17 15 11 

 ¤ßÁ¸® ÂÁμ[PÐUS Cøh{ø» ©ØÖ® Cøh{ø» 
Â»UP® PõsP. 

X 0-10  10-20 20-30 30-40  40-50  50-60 60-70

F 9 14 18 24 17 15 11 
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18. Compute Karl Pearson's coefficient of correlation. 

X 70 50 90 100 115 120 150 155

Y 15 30 40 55 80 75 90 67 

 PõºÀ ¤¯º\Ûß JmkÓÄU öPÊøÁU PõsP. 

X 70 50 90 100 115 120 150 155

Y 15 30 40 55 80 75 90 67 

19. For the following data calculate fishers ideal index and 

verify factor reversal test. 

 2019 2020 

Commodity Price Quantity Price Quantity

X 40 1500 100 1200 

Y 30 1000 80 240 

Z 20 150 40 120 

 ¤ßÁ¸® ÂÁμ[PÐUS ¤åº SÔ±möhs PõsP. 

Au÷Úõk Põμo ©õØÖz ÷uºÄ {øÓÄ ö\´QÓx GßÖ 

AÔP. 

 2019 2020 

ö£õ¸Ò Âø» AÍÄ Âø» AÍÄ

X 40 1500 100 1200 

Y 30 1000 80 240 

Z 20 150 40 120 
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20. Calculate the trend value by the method of least squares. 
Also calculate the monthly increase in sales and trend 
value of 2021. 
Year 2005 2006 2007 2008 2009 2010 2011

Sales 120 130 135 140 145 147 150 

 SøÓ¢u ÁºUP •øÓø¯¨ £¯ß£kzv ÷£õUS÷Põk 
\©ß£õk PõsP. 2021® BskUS ©õu ÂØ£øÚ°ß 
AvPÍÄ ©ØÖ® ÷£õUS ©v¨¤øÚ PõsP. 

Bsk 2005 2006 2007 2008 2009 2010 2011

ÂØ£øÚ 120 130 135 140 145 147 150 

 

 

 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What is contract? 
 J¨£¢u® GßÓõÀ GßÚ? 

2. Write a short note on sub-contracts. 
 xøn J¨£¢u® £ØÔ ]Ö SÔ¨¦ ÁøμP. 

3. What do you mean by royalty? 
 μõ¯Ài PnUSPÒ GßÓõÀ GßÚ? 

4. Write a notes on sub-lease. 
 xøn SzuøP £ØÔ SÔ¨¦ ÁøμP. 

5. What is instalment purchase system? 
 öPõÒ•uÀ uÁøn •øÓ GßÓõÀ GßÚ? 

6. What do you mean by hire purchase system? 
 ÁõhøP öPõÒ•uÀ •øÓ GßÓõÀ GßÚ? 
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7. Who is insolvent? 

 ö|õizuÁº Gß£Áº ¯õº? 

8. Write a short note on preferential creditors. 

 •ßÝ›ø© PhÜ¢÷uõº £ØÔ SÔ¨¦ ÁøμP. 

9. What are departmental account? 

 xøÓÁõ› PnUSPÒ GßÓõÀ GßÚ? 

10. Write any two points of advantages of departmental 
accounts. 

 xøÓÁõ› PnUSPÎß |ßø©PÒ H÷uÝ® Cμsk TÖ. 

 Part B  (5  5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) The following is the summary of transactions as on 
31.12.2020, relating to a special contract completed 
during the year. 

 Rs. 

Material bought from the market  1,500

Material issued from the stores  500

Wages  2,440

Direct expenses  294

  Works on cost – 25% of direct wages 

  Office on cost – 10% of prime cost 

  Contract price – Rs. 6,000 

  You are required to prepare a contract a/c Keeping 
in view that material returned amounted to Rs. 240. 
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  RÌUPsh |hÁiUøPPÒ ]Ó¨¦ J¨£¢u® ‰»® 

31.12.2020 |õÍßÖ •iÄ ö£ØÖÒÍx. ÂÁμ[PÒ 

¤ßÁ¸©õÖ. 

   

 ¹. 

‰»¨ö£õ¸ÒPÒ \¢øu°À Áõ[Q¯x 1,500 

ÂØ£øÚ Thzv¼¸¢x 

‰»¨ö£õ¸ÒPøÍ Áõ[P¨£mhx 

500 

T¼ 2,440 

÷|μia ö\»ÄPÒ 294 

  ÷Áø»°ß «x ö\»Ä – 25% ÷|μi ö\»ÄPÒ  

  A¾Á»P ö\»Ä – 10% •ußø© ö\»Ä 

  J¨£¢u Âø» – ¹. 6,000 

  ‰»¨ö£õ¸ÒPÒ v¸¨¤ AÝ¨£¨£mhx ¹. 240  

  J¨£¢u PnUS u¯õº ö\´P. 

Or 

 (b) Explain the various types of contract. 

 £À÷ÁÖ ÁøP¯õÚ J¨£¢u[PÒ £ØÔ ÂÍUSP. 

12. (a) Explain the methods of recoupment. 

 «Ò v¸¨¦ ÁÈ•øÓPÒ £ØÔ ÂÍUSP. 

Or 



A–10320

  

  4

 (b) The Bengal mines Co. Ltd. took from Mr. Dass a 
lease of a mine for a period of 25 years from 
1.1.2021 on royalty of Rs. 5 per tonne of mineral 
raised with a dead rent of Rs. 20,000 and power to 
recoup shortworkings during the first years of the 
lease. 

  The annual outputs were as follows : 

  1986 – 2000 tonnes 

  1987 – 3000 tonnes 

  1988 – 4000 tonnes 

  1989 – 4500 tonnes 

  1990 – 5000 tonnes 

  Give journal entries in the books of the Bengal 
mines company and in the books of Dass. 

  uõì P®ö£Û°hª¸¢x ö£[PõÀ P®ö£Û _μ[Pzøu 

1.1.2021 •uÀ 25 Á¸hzxUS J¸ _μ[Pzøu 

SzuøPUS GkUP¨£mhx. J¸ hß PÛ©zvØS  

¹. 5 μõ¯Ài,  SøÓ¢u ÁõhøPUS E¯ºzu¨£mh uõx 

©ØÖ® ¹. 20,000 A÷uõk SÖQ¯ Põ»zvÀ EøÇ¨ø£ 

«möhkUS® SzuøP°ß I¢x BskPÒ. 

  Bsk öÁÎ±kPÒ :  

  1986 – 2000 hß 

  1987 – 3000 hß 

  1988 – 4000 hß 

  1989 – 4500 hß 

  1990 – 5000 hß 

  ö£[PõÀ P®ö£Û°US SÔ¨÷£mk £vÄPøÍz u¸P. 



A–10320

  

  5

13. (a) Distinguish between hire purchase system and 
Instalment purchase system. 

ÁõhøP öPõÒ•uÀ •øÓUS® ©ØÖ® uÁøn 

öPõÒ•uÀ •øÓUS® ÷ÁÖ£õkPøÍU PõsP. 

Or 

 (b) On 1.1.2020, X purchased machinery on hire 
purchase system. The payment is to be made  
Rs. 4,000 down (on signing of the contract) and  
Rs. 4,000 annually for three years. The cash price of 
the machinery is Rs. 14,900 and the rate of interest 
is 5%. Calculate the interest in each year’s 
instalment. 

  1.1.2020 CÀ X Gß£Á›ß ÁõhøP öPõÒ•uÀ 

•øÓ°À C¯¢vμ[PøÍ J¨£¢uvÀ øPö¯Êzx Cmk 

Áõ[Q¯x ¹.4,000 ©ØÖ® ‰ßÖ BskPÐUS 

Bsk÷uõÖ® ¹.4,000 ö\¾zu¨£h ÷Ásk®. 

C¯¢vμ[PÎß öμõUP Âø» ¹. 14,900 ©ØÖ® Ámi 

ÂQu® 5% BS®. JÆöÁõ¸ BskUS® uÁøn 

•øÓ°À Ámiø¯U PnUQkP. 

14. (a) What are preferential creditors in the following 
liabilities of insolvent Bhupesh according to 
presidency Towns insolvency act and provincial 
insolvency act? 

 Rs. 

3 month’s salary for 10 clerks  3,600

One month wages of 12 Labourer’s 1,600

Sales tax  400

3 months rent of landlord  600

Income tax  1,000

Wages of four servants  1,400

Salaries  1,000

Municipal tax  400

Wages  6,000
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  §÷£è Gß£Áº ö|õi¨¦ {ø» Aøh¢xÒÍõº. 

áÚõv£v |Pμ vÁõÀ ußø© \mh® ©ØÖ® ©õPõn 

vÁõÀ ußø© \mhzvß £i ö£õÖ¨¦PÎ¼¸¢x 

•ßÝ›ø© PhÜ¢÷uõ¸US ö\¾zu ÷Ási¯øÁPøÍ 

PnUQkP. 

 ¹. 

10 GÊzu¸US ‰ßÖ ©õu[PÐUS \®£Í® 3,600
12 öuõÈ»õÍ¸US J¸ ©õu® T¼ 1,600
ÂØ£øÚ Á› 400
{» E›ø©¯õÍº ÁõhøP 600
Á¸©õÚ Á› 1,000
|õßS ÷Áø»¯õÐUS T¼ 1,400
\®£Í® 1,000
|Pμõm] Á› 400
T¼ 6,000

Or 

 (b) Difference between balance sheet and statement of 
affairs. 

C¸¨¦{ø» SÔ¨¦US®, ÂÁμ AÔUøPUS® EÒÍ 

÷ÁÖ£õkPøÍ TÖP. 

15. (a) What are departmental accounts? Explain their 
advantages. 

xøÓÁõ› PnUS GßÓõÀ GßÚ? xøÓÁõ› 

PnUQ¯¼ß |ßø©PÒ £ØÔ ÂÍUSP. 

Or 

 (b) From the following, prepare departmental trading 
and profit and loss account for the year ended 31st 
December 2020, apportioning expenses on a suitable 
basis : 

Stock 1.1.2020 Dept A 5,400
 Dept B 4,900
Purchases  Dept A  9,800
 Dept B 7,350
Sales  Dept A  16,900
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 Dept B 13,520
Closing  Dept A  2,748
 Dept B 2,401
Wages  Dept A  1,340
 Dept B 240

  Carriage inward Rs. 469 

  Discount allowed Rs. 441 

  Discount received Rs. 133 

  Advertisement Rs. 738. 

  ¤ßÁ¸® uPÁÀPøÍ 2020 øÁzx Â¯õ£õμ C»õ£ 

|mhU PnUøP 31.12.2020 u¯õº ö\´P. ©ØÖ® 

ö\»ÂÚ[PøÍ ¤›zx PõmkP. 

C¸¨¦ 1.1.2020 xøÓ A 5,400

 xøÓ B 4,900

öPõÒ•uÀ xøÓ A  9,800

 xøÓ B 7,350

ÂØ£øÚ xøÓ A  16,900

 xøÓ B 13,520

CÖv \μUQ¸¨¦ xøÓ A  2,748

 xøÓ B 2,401

T¼ Dept A  1,340

 Dept B 240

  EÒyUS T¼ ¹. 469 

  AÎzu uÒÐ£i ¹. 441 

  ö£ØÓ uÒÐ£i ¹. 133 

  ÂÍ®£μ® ¹. 738 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Following expenses were incurred by a contractor on a 
contract which he started on 1st January. 

 Rs.  

Materials  40,000

Wages  50,000

Other expenses  15,000

Plant at cost  50,000

Cash received from contract  1,00,000

Work certified  1,20,000

Work uncertified  60,000

Materials on hand (31st December) 11,000

Plant value at close  43,000

Material returned to stores  2,000

 Prepare contract a/c assuming that the contract price, 
was Rs. 3,50,000. How will work in progress appear in 
the balance sheet of the contractor? 

 J¨£¢u©õÚx áÚÁ› 1&À ÷©ØöPõÒÍ¨£mk, 

J¨£¢uUPõμ›ß ö\»ÄPÒ ÂÁμ[PÒ uμ¨£mkÒÍx. 

 ¹. 

‰»¨ö£õ¸ÒPÒ 40,000

T¼ 50,000

Cuμ ö\»ÄPÒ 15,000

Bø»PÒ 50,000

J¨£¢u® HØ£kzv¯ Á›hª¸¢x ö£Øμ öμõUP® 1,00,000

\õßÓÎUP¨£mh £o  1,20,000

\õßÓÎUP¨£hõu £o 60,000
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‰»¨ö£õ¸Ò øP°¸¨¦ (i\®£º 31) 11,000

Bø»°ß CÖv ©v¨¦  43,000

ÂØ£øÚ ThzvØS AÎUP¨£mh ‰»¨ö£õ¸Ò 2,000

 J¨£¢uzvß ö©õzu ©v¨¦ ¹. 3,50,000. J¨£¢uPõμº C¸¨¦ 

{ø»U SÔ¨¤À ÷Áø» |h¢x öPõsi¸US® ÂÁμzvøÚ 

u¯õ›UPÄ® ©ØÖ® J¨£¢u P/S u¯õº ö\´P. 

17. A company leased a colliery on 1.1.1998 at a minimum 
rent of Rs. 20,000 merging into a royalty of Rs. 1.50 per 
tonne with power to recoup shortworkings over the first 
four years of the lease. The output of the colliery for the 
first four years was 9000 tonnes, 12,000 tonnes, 16,000 
tonnes, 20000 tonnes respectively. Give journal entries 
and ledger accounts for four years in the books of lessee 
and lessor. 

 J¸ {ÖÁÚ® 1.1.1998 AßÖ SøÓ¢u£m\ ¹. 20,000 

ÁõhøPUS J¸ hß ¹. 1.50 μõ¯Ài²hß JßÔøn¢x 

SzuøP°ß •uÀ |õßS BskPÎÀ \õºm JºUQ[ 

«möhkUS® •uÀ |õßS BskPÎÀ _μ[Pzvß EØ£zv 

•øÓ÷¯ 9000 hß, 12000 hß, 16000 hß, 20000 hß BS®. 

SzuøPuõμº ©ØÖ® SzuøPuõμ›ß SÔ¨÷£k ©ØÖ® ÷£÷μk 

PnUSPøÍ u¯õº ö\´P. 

18. Knight purchased a truck for Rs. 1,60,000 from S. waugh 
on 1.1.1998 payment to be made Rs. 40,000 down and  
Rs. 46,000 at the end of first year Rs. 44,000 at the end of 
second year and Rs. 42,000 at the end of third year. 
Interest was charged at 5%. Knight depreciates the truck 
at 10% per annum on written down value method. 

 Knight after having paid down payment and first 
instalment at the end of first year could not second 
instalment. The seller took possession of the truck, and 
after spending Rs. 4,000 on repairs of the asset. Sold it 
away for Rs. 91,500. 

 Give journal entries and ledger accounts in the books of 
knight. 
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 ø|m Gß£Áº Gì. ÁõUQhª¸¢x 1.1.1998&À ¹. 1,60,000 

©v¨¦ÒÍ iμUøP Áõ[QÚõº. ÁõhøP öPõÒ•uÀ •øÓ°À 

Bμ®£zvÀ ¹. 40,000 ö\¾zu¨£h ÷Ásk®. ©ØÖ® •uÀ 

Á¸h® ¹. 46,000 CμshõÁx Á¸h® ¹. 44,000 ©ØÖ® 

‰ßÓõ® Á¸h® ¹. 42,000 ö\¾zvÚº. SøÓ¢x ö\À 

•øÓ°À BsiØS 10% ÷u´©õÚ® ÷£õUöPÊvÚº. 5% 

Ámi PnUQh¨£mhx. ø|m Gß£Áº •uÀ BsiÖv°À 

ö\¾zu ÷Ási¯ uÁønø¯ ö\¾zvÚõº. BÚõÀ Akzu 

uÁønø¯ ö\¾zu C¯»ÂÀø». iμUQß £Êx 

£õº¨¤ØPõP ¹. 4,000I ö\»Ä ö\´u¤ß ÁõhøP 

ÂØ£øÚ¯õÍº, AuøÚ ¹. 91,500US ÂØÓõº. ø|m 

Gß£Áμx SÔ¨÷£mk £vÄPÒ ©ØÖ® ÷£÷μmk £vÄPøÍ 

u¯õº ö\´P. 

19. Mr. ‘X’ is insolvent. He supplies to you the following 
information as on 31.12.1999. 

 Rs. 

Cash in hand  1,000

Creditors for good  5,25,000

Salary due to clerks  7,000

Taxes due to Government  21,000

Bank loan secured by lien on stock of the book value 
of Rs. 3,50,000 

1,75,000

Furniture (expected to realized Rs. 35,000) 70,000

Stock (Expected to realized 60%) 5,25,000

Bad debts (good) 70,000

Bad debts (doubtful, executed to realized 40%) 1,75,000

Bills receivable (Rs. 52,500 bad) 87,500

Bills discounted (Rs. 35,000 bad) 1,05,000

Loan from Mrs. ‘X’ 1,75,000
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 Mr. ‘X’ started business six years ago with a capital of  
Rs. 4,37,500. He drew Rs. 87,500 each year for private 
purpose but did not maintain proper books of accounts. 
Mrs. ‘X’ gave up her jewellery valued at Rs. 70,000 to the 
receiver. 

 Prepare the statement of affairs and deficiency account. 

 31.12.1999 AßÖ v¸. ‘X’ ö|õizx ÷£õÚõº. AÁ›ß HkPÒ 

RÌUPsh C¸¨¦PøÍ Põs¤zux.  

 ¹. 

øP°¸¨¦ öμõUP® 1,000

PhÜ¢÷uõºPÒ  5,25,000

GÊzu¸US öPõkUP ÷Ási¯ \®£Í® 7,000

Aμ\õ[PzvØS ö\¾zu ÷Ási¯ Á›PÒ 21,000

£ØÖ›ø©°ß ‰»® Á[Q Phß Auß ¦zu ©v¨¦  

¹. 3,50,000 
1,75,000

AøÓP»ß (wºÄz öuõøP ¹. 35,000) 70,000

\μUQ¸¨¦ (60% wºÄ) 5,25,000

¦zuPPhß (ö£õ¸mPÒ «x) 70,000

¦zuP Phß (I¯UPhß «x 40% wºÄ ) 1,75,000

ö£ÖuØS›¯ Esi¯ÀPÒ  (¹. 52,500 Phß) 87,500

uÒÐ£i ö\´¯¨£mh ©õØÖa^mk (¹. 35,000 Phß) 1,05,000

v¸. ‘X’ß ©øÚÂ¯hª¸¢x ö£ØÓ Phß 1,75,000

 v¸. ‘X’ Gß£Áº ¹. 4,37,500 •u½khß BÖ Á¸h[PÐUS 

•ß¦ öuõÈÀ öuõh[Q²ÒÍõº. AÁμx ö\õ¢u ÷uøÁUPõP 

JÆöÁõ¸ Á¸h•® ¹. 87,500 GkzxÒÍõº, Aøu £μõ©›zx 

PnUS GÊu¨£hÂÀø». v¸. X&ß ©øÚÂ°hª¸¢x  

¹. 70,000 ©v¨¦ÒÍ |øPPøÍ Áõ[Q ö\¾zx÷Áõ¸US 

ö\¾zv²ÒÍõº. {ø»¯ÔUøP ©ØÖ® £ØÓõUSøÓ PnUøP 

u¯õº ö\´P. 
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20. The following purchases were made by a business house 
having three departments 

 Dept. A – 1000 units 
 Dept. B – 2000 units      at a total cost of Rs. 1,00,000 
 Dept. C – 2400 units 
 Stocks on 1st January were : 
 Dept. A – 120 units 
 Dept. B – 80 units 
 Dept. C – 152 units 
 Sales were : 
 Dept. A – 1020 units at Rs. 20 each  
 Dept. B – 1920 units at Rs. 22.50 each 
 Dept. C – 2496 units at Rs. 25 each 
 The rate of Gross profit is same in each case prepare 

departmental trading account. 

 R÷Ç öPõkUP¨£mkÒÍ ‰ßÖ xøÓPÎß öPõÒ•uÀ 

ÂÁμ[PÒ : 

 xøÓ A – 1000 A»SPÒ 

 xøÓ B – 2000 A»SPÒ          ö©õzu ö\»Ä ¹. 1,00,000 

 xøÓ C – 2400 A»SPÒ 

 C¸¨¦ (1, áÚÁ›) : 

 xøÓ A – 120 A»SPÒ 

 xøÓ B – 80 A»SPÒ 

 xøÓ C – 152 A»SPÒ 

 ÂØ£øÚ : 

 xøÓ A – 1020 A»SPÒ @ ¹. 20  

 xøÓ B – 1920 A»SPÒ @ ¹. 22.50 

 xøÓ C – 2496 A»SPÒ @ ¹.  25  

 ö©õzu C»õ£ ÂQu® JÆöÁõ¸ uPÁÀPÎ¾® J÷μ 

©õv›¯õP C¸US®. xøÓPÐUPõÚ Â¯õ£õμ PnUS u¯õº 

ö\´P. 

——————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Income? 

 Á¸©õÚ® GßÓõÀ GßÚ? 

2. Mention any two objectives of taxation. 

 Á›Âv¨¤ß H÷uÝ® Cμsk ÷|õUP[PøÍ GÊxP. 

3. What is meant by Previous Year? 

 •¢øu¯ Bsk GßÓõÀ GßÚ? 

4. Mention the kinds of residential status. 

 Si°¸¨¦ {ø»°ß ¤›ÄPøÍ SÔ¨¤kP. 

5. Give the meaning of ‘Casual Income’. 

 uØö\¯À Á¸©õÚ® Gß£vß ö£õ¸Ò u¸P. 

6. What do you understand by Tax - Holiday? 

 Á›–Âv•øÓ ‰»® }[PÒ GßÚ ¦›¢x öPõÒQÕºPÒ? 

Sub. Code 
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7. Define Salary. 

 \®£Í® Áøμ¯Ö. 

8. State the meaning of ‘Allowances’. 

 £iPÒ Gß£uß ö£õ¸øÍ SÔ¨¤kP. 

9. What do you mean by ‘Exempted Securities’? 

 Á› Â»UPÎUP¨£mh ¤øn¯[PÒ Gß£x £ØÔ E©x 
P¸zx ¯õx? 

10. Give the meaning of Profession. 

 ]Ó¨¦ öuõÈÀ ö£õ¸Ò ÂÍUP® u¸P. 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Give the Canons of Taxation relevant to India. 

  C¢v¯õÂØS ö£õ¸zu©õÚ Á› Âv¨¦U 
÷Põm£õkPøÍ u¸P. 

Or 

 (b) Explain the Direct taxes levied by central 
government. 

  ©zv¯ Aμ_ ÂvUS® ÷|μi Á›PøÍ ÂÍUSP. 

12. (a) Explain Agricultural Income. 

  ÂÁ\õ¯ Á¸©õÚ® £ØÔ  ÂÁ›. 

Or 

 (b) Differentiate between Capital and Revenue items. 

  ‰»uÚ ©ØÖ® Á¸Áõ°ß CÚ[PøÍ ÷ÁÖ£kzxP. 
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13. (a) On 1-4-2019 the WDV of various assets of a 
manufacturing concern was as given below: 

 Machinery Building 

 Rs. Rs.

WDV at the beginning of the year 5,00,000 20,00,000

Additions during the year (1-8-2019) 6,00,000 Nil

Sale of part of the asset during 

the year 10,00,000 4,00,000

  Rate of depreciation for machinery is 15% and 
building 10%. Compute depreciation for the 
previous year 2019-20 and written down value on  
31-3-2020. 

  J¸ EØ£zv {ÖÁÚzvß £À÷ÁÖ ö\õzxUPÎß 
SøÓ¢u ö\À•øÓ C¸¨¦ 1-–-4–2019 AßÖ 
RÌÁ¸©õÖ. 

 C¯¢vμ® Pmih®

¹. ¹.

Bsk xÁUP SøÓ¢x ö\À•øÓ C¸¨¦ 5,00,000 20,00,000

CÆÁõsiÀ Tku»õUQ¯x 1.8.2019 6,00,000 CÀø»

CÆÁõsiÀ ÂØÓ ö\õzvß J¸ £Sv 10,00,000 4,00,000

  ÷u´©õÚ ÂQu® C¯¢vμzvØS 15% ©ØÖ® 
PmihzvØS 10% 2019–20. •¢øu¯ BsiØPõÚ 
÷u´©õÚ® ©ØÖ® 31.3.2020 À SøÓ¢u  ö\À•øÓ 
C¸¨¦PøÍ PnUQhÄ®. 

Or 

 (b) Give any ‘5’ items of income which are totally 
exempt from Tax. 

  Á›°¼¸¢x Â»UPÎUP¨£mh Á¸©õÚ[PÒ 
H÷uÝ® I¢x °øÚ SÔ¨¤kP. 
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14. (a) From the following information, compute Gross 
salary: 

 Rs. 
Salary 24,000 
House Rent Allowances 24,000 
Dearness Allowances 3,000 
Rent paid 18,000 

  RÌUPõq® Â£μ® öPõsk ö©õzu \®£Í® 
PnUQhÄ®. 

 ¹. 
\®£Í® 24,000 
Ãmk ÁõhøP¨£i 24,000 
£g\¨£i 3,000 
ÁõhøP ö\¾zv¯x 18,000 

Or 

 (b) Explain the different types of Provident Fund. 

  Á¸[Põ» øÁ¨¦ {v°ß £À÷ÁÖ ÁøPPøÍ  ÂÁ›. 

15. (a) From the following Profit and Loss account of a 
merchant for the year ended 31.3.2019 ascertain    
his taxable Profit from business. 

Profit and Loss Account 
 Rs.  Rs. 

Office salary 4,800 Gross Profit 1,35,532
General expenses 2,550 Commission 1,205
Bad debts written off 2,100 Discount 751
Reserve for bad debts 3,000 Sundry receipts 202
Fire Insurance Premium 450 Rent of building 52,640
Advertisement 2,500 Profit and sale of
Interest on capital 1,000 investment 3,000
Interest on Bank Loan 1,550  
Donations 3,875  
Depreciation 1,200  
Net profit 1,70,305  
 1,93,330  1,93,330
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  RÌUPsh C»õ£ |mhU PnUQ¼¸¢x 
Â¯õ£õμzv¼¸¢x AÁ¸US QøhUS® C»õ£zøu 
•¢øu Bsk 31–3-–2019 US wº©õÛ. 

C»õ£ |mh PnUS 
 ¹.  ¹. 

A¾Á»Pa \®£Í® 4,800 ö©õzu C»õ£® 1,35,532
ö£õxa ö\»ÄPÒ 2,550 uμS 1,205
ö\»öÁÊu¨£mh ÁμõUPhßPÒ 2,100 uÒÐ£i 751
ÁμõUPhßPÐUPõÚ Põ¨¦ 3,000 £Ø£» ÁμÄPÒ 202
w Põ¨¥mk Pmhn® 450 Pmih ÁõhøP 52,640
ÂÍ®£μ® 2,500 •u½kPÒ ÂØÓvÚõÀ

‰»uÚzvØPõÚ Ámi 1,000 Qøhzu C»õ£® 3,000
Á[Q Phß «uõÚ Ámi 1,550  
|ßöPõøh 3,875  
÷u´©õÚ® 1,200  
{Pμ C»õ£® 1,70,305  
 1,93,330  1,93,330

Or 

 (b) Name at least ‘5’ items which can be included under 
the head Income from other sources. 

  ¤Ó ÁÈPÎÀ C¸¢x Á¸©õÚzvÀ H÷uÝ®  
I¢x–°øÚ SÔ¨¤kP.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the evolution of income tax law in India. 

 C¢v¯õÂÀ Á¸©õÚ Á› \mhzvß Áμ»õØøÓ ÂÍUSP. 

17. A Malaysian citizen Mr. B left India on 1-6-2016 after a 
continuous stay of 10 years. During the financial year 
2017-18 he come back to India and stayed for a period of 
46 days and left. In the year 2018-19 he came back to 
India on 10-10-2018 and stayed here thereafter for two 
years. Determine the Residential status of Mr. B for the 
Assessment Year 2020-21. 
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 J¸ ©÷»]¯õ Si©Pß v¸. B 10 BskPÍõP öuõhº¢x 
C¢v¯õÂÀ u[Q°¸¢x ¤ÓS 1.6.2016 AßÖ 
C¢v¯õÂ¼¸¢x öÁÎ÷¯ÔÚõº. 2017–18 ® {v BsiÀ 
«sk® C¢v¯õ Á¢x 46 |õmPÒ ©mk÷© u[Q°¸¢x 
Âmk ö\ßÓõº. 2018–19 ® Bsk 10.10.2018 À «sk® 
C¢v¯õ Á¢v¸¢x Cμsk BskPÒ u[Q C¸¢uõº. v¸ 

B AÁºPÎß Si°¸¨¦ {ø» 2020–21® Bsøh  
wº©õÛUP. 

18. What are the conditions laid down in Income Tax Act 
1961 to claim Depreciation on Fixed Assets? 

 {ø»a ö\õzxUPÒ «x ÷u´©õÚ® ÷Põμ Á¸©õÚ Á›a 
\mh® 1961–À TÓ¨£mh {£¢uøÚPÒ ¯õøÁ? 

19. During the year ended 2019-20 Murugan sold the 
following assets: 

 Sale proceeds 

 Rs. 

 (a) Land Purchased in 2001-02 for   
 Rs. 18,000 [CII-100]  65,000 

 (b) Machinery purchased in 2013-14 

  [CII-220] for Rs.50,000 

  written down value on   
 1-4-2019 Rs.35,000]   60,000 

 (c) Furniture purchased on   
 1.4.2018 for Rs.1,000    1,300 

 (d) Plant purchased on 1.4.2018   
 for Rs.10,000    12,000 

 (e) One residential house purchased  

  in 2017-18 for Rs.30,000 [CII-272]   88,200 

 Compute income from capital gains of  
Mr. Murugan. 
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 2019–20 ® BsiÀ •¸Pß ÂØÓ ö\õzxUPÒ 
¤ßÁ¸©õÖ. 

       ÂØÖ ÁμÄ ¹. 

 (A) 2001–02 À ¹.18,000 ØS Áõ[Q¯ {»®  

  [£nÃUP AhUP SÔ±k–100] 65,000   

 (B) 2013–14 À ¹.50,000 ØS Áõ[Q¯ C¯¢vμ® 

  [£nÃUP AhUP SÔ±k–220]  

  1.4.2019 AßÖ ÷u´©õÚ® GÊv  

  SøÓUP¨£mh ©v¨¦ ¹.35,000  60,000 

 (C) 1.4.2018 À ¹.1,000 ØS   

 Áõ[Q¯ ©øÚzxøn¨ ö£õ¸Ò  1,300 

 (D) 1.4.2018 À ¹.10,000ØS Áõ[Q¯ ö£õÔ  12,000 

 (E) 2017–18 À ¹. 30,000 ØS Áõ[Q¯ Si°¸¨¦ Ãk 

  [£nÃUP AhUP SÔ±k–272] 88,200 

  •¸PÛß ‰»uÚ Buõ¯zøu PnUQhÄ®. 

20. From the following particulars calculate the salary 
Income of Mr. M for the Assessment Year 2020-21.            
Salary Rs.5,500 per month House Rent allowance 
Rs.2,400 per month. Dearness allowance Rs.3,300            
per month. Entertainment allowance Rs. 1,200 per 
month.   His employer contributes to provident fund 14% 
of salary. He lives in a rented house monthly rent            
being Rs.3,000. He pays Life Insurance premium 
Rs.4,000. He has been provided with a Gardener and            
a Sweeper. Their salary Rs.500 p.m. and Rs.600 p.m. 
respectively. 
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 RÌÁ¸® Â£μ® öPõsk 2020 –21 PnURk BsiØPõÚ 
v¸. M \®£Í Á¸©õÚ® PnUQkP. 

 \®£Í® ©õu® ¹.5,500 Ãmk ÁõhøP¨£i ©õu® ¹.2,400 
£g\¨£i ©õu® ¹.3,300. ÷PÎUøP¨ £i ©õu® ¹.1,200. 

 ÷\© |» {vUS AÁ›ß £o¯Î¨£º ö\¾zxÁx 
\®£ÍzvÀ 14% CÁº Si°¸US® Ãmk ÁõhøP ©õu® 
¹.3,000 AÁº ö\¾zx® B²m Põ¨¥mk •øÚ©® 
¹.4,000. CÁ¸US ÷uõmhUPõμº ©ØÖ® x¨¦μÁõÍº Á\v 
AÎUP¨£mkÒÍx. CÁºPÎß \®£Í® •øÓ÷¯ ©õu® 
¹.500 ©ØÖ® ¹.600.  

—————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define System Software. 

 PoÛ ö©ßö£õ¸øÍ Áøμ¯Ö. 

2. Give any two Names of Operating System. 

 C¯UP •øÓø©°ß H÷uÝ® Cμsk ö£¯ºPøÍ u¸P. 

3. Expand FCFS. 

 FCFS I Â›ÁõUS. 

4. What is Deadlock? 

 •hUP® GßÓõÀ GßÚ? 

5. List out the any two types of Memory? 

 H÷uÝ® Cμsk ÁøP¯õÚ {øÚÁP[PøÍ £mi¯¼kP. 

6. What is meant by Process? 

 ö\¯À•øÓ GßÓõÀ GßÚ? 

Sub. Code 
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7. Define File. 

 ÷Põ¨ø£ Áøμ¯Ö. 

8. Write short Note on File Operations? 

 ÷Põ¨¤ß ö\¯À£õkPÒ £ØÔ ]Ö SÔ¨¦ GÊxP. 

9. List out the any two Output Devices. 

 H÷uÝ® Cμsk öÁÎ±mk \õuÚ[PøÍ £mi¯¼kP. 

10. Mention any two difference between Software and 
Hardware. 

ö©ßö£õ¸Ò ©ØÖ® Áßö£õ¸ÐUS Cøh°»õÚ H÷uÝ® 
Cμsk ÷ÁÖ£õmøh GÊxP. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain about Evolution of Operating System. 

   C¯UP •øÓø©°ß £›nõ©® £ØÔ ÂÍUSP. 

Or 

 (b) Discuss the Multi-Processor System. 

   £»ö\¯»õUP •øÓ £ØÔ ÂÁõvUPÄ®. 

12. (a) Brief a Note on FCFS Scheduling Algorithm. 

   FCFS vmhªhÀ ÁÈ•øÓ SÔzx Â›ÁõÚ ÂÍUP® 
u¸P. 

Or 

 (b) Explain about Inter Process Communication.  

   Cøh ö\¯À•øÓ öuõhº¦ £ØÔ ÂÍUSP. 
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13. (a) Write the Different between Logical and Physical 
Memory. 

   Logical ©ØÖ® Physical {øÚÁPzvØS Cøh°»õÚ 
Âzv¯õ\zøu GÊxP. 

Or 

 (b) Describe Virtual Memory? And how does it works? 

   ö©´{Pº {øÚÁPzøu ÂÁ›? Ax GÆÁõÖ 
C¯[SQÓx. 

14. (a) Discuss the Various types of File Operations. 

   £À÷ÁÖ ÁøP¯õÚ ÷Põ¨¤ß ö\¯À£õkPøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 

Or 

 (b) Describe about File Storage Methods. 

   ÷Põ¨¤ß ÷\ª¨¦ •øÓPÒ £ØÔ ÂÁ›. 

15. (a) What is Virus? Explain its Demerits. 

   Virus GßÓõÀ GßÚ? Auß SøÓ£õkPøÍ ÂÍUSP. 

Or 

 (b) Write a Program to Change the File Mode. 

   ÷Põ¨¤ß £¯ß•øÓø¯ ©õØÖ® {μø» GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain about the various types of Operating System. 

 £À÷ÁÖ ÁøP¯õÚ C¯UP •øÓø© £ØÔ ÂÍUSP. 

17. Define Deadlock. How to avoidance? 

 •hUP® Áøμ¯Ö. AuøÚ uÂº¨£x G¨£i? 
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18. Brief Note on Fragmentation. 

 Fragmentation £ØÔ Â›ÁõÚ ÂÍUP® u¸P. 

19. Discuss the File access Methods. 

 ÷Põ¨¤øÚ AqPÀ •øÓPÒ £ØÔ ÂÁõvUPÄ®. 

20. Develop the shell Program to find out whether the given 
number is odd or even.  

öPõkUP¨£mh Gs JØøÓ¨£øh AÀ»x Cμmøh¨£øh 
Gsnõ Gß£øuU PshÔ¯ shell {μø» GÊxP. 

 

 

 
———————— 
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B.Com. (C.A) DEGREE EXAMINATION, APRIL 2021 & 

Supplementary/Improvement/Arrear Examinations

Fifth Semester 

 Commerce with Computer Application  

Elective – WEB TECHNOLOGIES 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. State the meaning of URL. 

 URL Gß£uß ö£õ¸Ò u¸P. 

2. Expand HTTP and HTML. 

 HTTP ©ØÖ® HTML I Â›Ä£kzxP. 

3. What is meant by multimedia? 

 Multimedia Gß£uß ö£õ¸Ò TÖP. 

4. Write any four browser names. 
 H÷uÝ® |õßS E»õÂ ö£¯øμ GÊxP. 

5. Difference between hardware and software. 
 Áßö£õ¸Ò ©ØÖ® ö©ßö£õ¸ÐUS Cøh°»õÚ 

÷ÁÖ£õk. 

6. Write the types of list in HTML. 

 HTML £mi¯¼ß ÁøPPøÍ GÊxP. 

Sub. Code 
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7. Give the List of advantages of E-mail. 

 ªßÚg\¼ß |ßø©PøÍU TÖP. 

8. Mention the use of intranet. 

 AP Cøn¯® £¯ß£õmøhU TÖP. 

9. What do you mean by navigation with example? 

 Navigation GßÓõÀ GßÚ? GkzxUPõmk u¸P. 

10. Write a paragraph tag with an example. 

 GkzxUPõmkhß Paragraph tag £ØÔ GÊxP. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) How to accessing the internet? 

   Cøn¯zøu GÆÁõÖ AqSÁõ´ Gß£øuU 
SÔ¨¤kP. 

Or 

 (b) Explain about the WWW.  

   WWW I £ØÔ ÂÍUSP. 

12. (a) Explain the following concepts 

  (i) Web page       (ii) website         (iii) browser 

  ¤ßÁ¸ÁÚÁØøÓ ÂÍUSP. 

   (i) Áø»¨£UP®  (ii) ÁøÍzuÍ®   (iii) E»õÂ 

Or 

 (b) Explain about Netscape Navigator. 

   Netscape Navigator  £ØÔ ÂÍUSP. 
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13. (a) Summarize E-mail formats. 
   ªßÚg\À ÁiÁø©¨ø£ _¸UP©õP ÂÍUSP. 

Or 

 (b) How to access the Internet mail? 
   Cøn¯ Ag\ø» GÆÁõÖ AqSÁõ´? 

14. (a) Discuss about the software requirements in 
webserver. 

   Áø» ÷\øÁ¯PzvÀ ö©ßö£õ¸Ò ÷uøÁPÒ £ØÔ 
ÂÁ›UPÄ®. 

Or 

 (b) Summarize web server software. 
   Áø» ÷\øÁ¯P ö©ßö£õ¸ÎÀ _¸UP©õP ÂÍUSP. 

15. (a) How to create a table? Explain with a simple 
program? 

   AmhÁønø¯ E¸ÁõUSÁx G¨££i? J¸ GÎ¯ 
{μ¾hß ÂÍUSP. 

Or 

 (b) Briefly discuss about font tag with example. 
   GÊzx¸ SÔaö\õÀ £ØÔ _¸UP©õP ÂÁõvUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain about the fundamental function of World Wide 
Web. 

 World Wide Web Cß Ai¨£øh ö\¯À£õk £ØÔ 
ÂÍUSP. 

17. Discuss about the service providers by internet. 
 Cøn¯® ‰»® ÷\øÁ ÁÇ[S|ºPøÍ¨ £ØÔ ÂÁ›UPÄ®. 
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18. Briefly discuss about E-mail and on line services. 

 ªßÚg\À ©ØÖ® on line ÷\øÁPøÍ¨ £ØÔ _¸UP©õP 
ÂÍUSP. 

19. Explain about HTTPD with suitable example. 

 ö£õ¸zu©õÚ Euõμnzxhß HTTPD £ØÔ ÂÍUSP. 

20. Write a HTML program to display your Bio-Data. 

 E[PÒ uμøÁU Põs¤UP J¸ HTML {μø» GÊuÄ®. 

 

 

 
———————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2021 &

Supplementary/Improvement/Arrear Examinations 

Sixth Semester 

Commerce with Computer Applications  

Elective — DOT NET PROGRAMMING  

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define CLR and list down its responsibilities. 

].GÀ.Bøμ Áøμ¯Özx Auß ö£õÖ¨¦PøÍ 
£mi¯¼k[PÒ. 

2. What is Assemblies? 

Tmh[PÒ GßÓõÀ GßÚ? 

3. How to declare an array? 

 J¸ Á›ø\ø¯ GÆÁõÖ AÔÂ¨£x? 

4. Distinguish between string and Character. 

 \μ® ©ØÖ® GÊzxUS Cøh°À ÷ÁÖ£k[PÒ.  

5. What is mean by List box? 

 £mi¯À ö£mi°ß ö£õ¸Ò GßÚ? 

Sub. Code 
4BCCE3A 
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6. How to create Pickers? 

 ¤UPºPøÍ E¸ÁõUSÁx G¨£i? 

7. Explain the role of security model. 

£õxPõ¨¦ ©õv›°ß £[øP ÂÍUPÄ®. 

8. Write short note about tracing. 

 uh©ÔuÀ £ØÔ ]Ö SÔ¨¦ GÊuÄ®. 

9. What is SQL and how does it work? 

SQL GßÓõÀ GßÚ? Ax GÆÁõÖ C¯[SQÓx? 

10. What is a data object? 

uμÄ ö£õ¸Ò GßÓõÀ GßÚ? 

         Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Explain Garbage Collection. 

  Garbage Collection £ØÔ ÂÍUS[PÒ. 

Or 

 (b) What is Name space? Explain with example. 

  ö£¯º Ch® GßÓõÀ GßÚ? GkzxUPõmkhß 
ÂÍUS[PÒ. 

12. (a) Difference between Sub procedures and Functions. 

  xøn |øh•øÓPÒ ©ØÖ® ö\¯À£õkPÐUS 
Cøh°»õÚ ÷ÁÖ£õk GßÚ? 

Or 
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 (b) What is event? Explain various important .NET 
Events. 

  {PÌÄ GßÓõÀ GßÚ? £À÷ÁÖ •UQ¯©õÚ Dot Net 
{PÌÄPøÍ ÂÍ[SP[PÒ. 

13. (a) Explain Tab controls .Net. 

  Dot Net–À EÒÍ uõÁÀ Pmk¨£õkPøÍ 
ÂÍUS[PÒ. 

Or 

 (b) Write a short note on following with example : 

  (i)  Rich Tex box   

  (ii)  Link Labels. 

  ¤ßÁ¸ÁÚ £ØÔ GkzxUPõmkhß ]Ö SÔ¨ø£ 
GÊx[PÒ : 

  (i)  Rich Tex box  ö£mi 

  (ii)  Cøn¨¦ ÷»¤ÒPÒ. 

14. (a) Write a short note on Global.asax file. 

  Global.asax ÷Põ¨¦ £ØÔ ]Ö SÔ¨ø£ GÊx[PÒ. 

Or 

 (b) Explain Windows authentication in ASP .Net. 

  ASP .Net–À EÒÍ Âs÷hõì A[RPõμzøu 
ÂÍUS[PÒ. 

15. (a) Difference between Data Grid and Data list. 

  uμÄ PmhzvØS® uμÄ £mi¯¾US® EÒÍ ÷ÁÖ£õk 
GßÚ? 

Or 

 (b) Explain repeater control using example. 

  Euõμnzøu¨ £¯ß£kzv ›¨¥mhº Pmk¨£õmøh 
ÂÍUS[PÒ. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Draw and explain various component of CLR. 

].GÀ.B›ß £À÷ÁÖ TÖSøÍ Áøμ¢x ÂÍUS[PÒ. 

17. Write a short note on following : 

 (a)   Dialog box  

 (b)  Msgbox  

 (c)  Docking controls. 

 ¤ßÁ¸ÁÚ £ØÔ ]Ö SÔ¨ø£ GÊx[PÒ : 

 (A) Eøμ¯õhÀ ö£mi 

 (B) ö\´v ö£mi 

 (C) Docking Pmk¨£õkPÒ. 

18. Write a window-based application to find the average of 
five subject marks. Assume that the five subject marks 
are entered in textboxes and the average is also displayed 
in a text box. 
I¢x £õh ©v¨ö£sPÎß \μõ\›ø¯U PshÔ¯ \õÍμ 
Ai¨£øh°»õÚ £¯ß£õmøh GÊx[PÒ. I¢x £õh 
©v¨ö£sPÒ Eøμ¨ö£miPÎÀ EÒÎh¨£mkÒÍÚ 
©ØÖ® \μõ\› J¸ Eøμ ö£mi°¾® Põmh¨£k® GßÖ 
øÁzxU öPõÒÐ[PÒ. 

19. How to create web forms using ASP .NET? Explain with 
example. 
HGì¤. ö|m £¯ß£kzv Áø» £iÁ[PøÍ E¸ÁõUSÁx 
G¨£i? GkzxUPõmkhß ÂÍUS[PÒ. 

20. Explain ADO .NET data connections with suitable 
illustration. 

 ö£õ¸zu©õÚ ÂÍUPzxhß ADO .NET uμÄ Cøn¨¦PøÍ 
ÂÍUS[PÒ. 

———————— 
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ADVANCED ACCOUNTANCY – II 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Write the meaning of Capital expenditure. 

 •u¼Úa ö\»Ä ö£õ¸Ò GÊxP. 

2. What is Income and Expenditure account? 

 Á¸Áõ´ ö\»ÂÚU PnUS GßÓõÀ GßÚ? 

3. What is meant by Grace days? 

 \¾øP |õmPÒ ö£õ¸Ò ¯õx? 

4. What do you understand by Product method? 

 ö£¸USzöuõøP •øÓ £ØÔ } AÔÁÚ ¯õx? 

Sub. Code 
4BCC2C1 
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5. Write a note on Consignment. 

 AÝ¨¥k £ØÔ SÔ¨¦ GÊxP. 

6. Explain the meaning of Proforma invoice. 

 Chõ¨¦ ©õv› ö£õ¸Ò ÂÍUSP. 

7. Define a Joint Venture. 

 Cøn ÂøÚ C»UPn® u¸P. 

8. What are the methods of recording transactions relating 
to joint venture? 

Cøn ÂøÚ öuõhº£õÚ |hÁiUøPPÒ £v¯¨£k® 
•øÓPÒ ¯õøÁ? 

9. Write any two features of Single entry system. 

 JØøÓ¨ £vÄ •øÓ°ß ]Ó¨¤¯À¦PÒ H÷uÝ® Cμsk 
GÊxP. 

10. What is statement of affairs? 

 {ø» AÔUøP GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Distinguish between Receipts and Payments 
account and Income and Expenditure account. 

ö£ÖuÀ ö\¾zuÀ PnUQØS® ©ØÖ® Á¸Áõ´ 

ö\»ÂÚ PnUQØS® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

Or 
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 (b) From the following information, determine the 
amount to be debited to income and expenditure 
account and the amount to be shown on the balance 
sheets. 

Particulars Rs. 

Stock of stationery on 1.1.2012 2,500 

Stock of stationery on 31.12.2012 1,000 

Purchase of stationery during the year 8,000 

Stationery bill outstanding for 1.1.2012 1,200 

Stationery bill outstanding for 31.12.2012 2,000 

Stationery paid in advance on 31.12.2011 1,400 

Stationery paid in advance on 31.12.2012 1,800 

  RÌPsh ÂÁμ[PÎ¼¸¢x Á¸Áõ´ ö\»ÂÚ 
PnUQß £ØÖ £UPzv¾® ©ØÖ® C¸¨¦{ø» 
SÔ¨¤¾® ÷uõßÓUTi¯ öuõøPø¯ PnUQkP. 

Â£μ® ¹. 

1.1.2012 AßøÓ¯ GÊxö£õ¸Ò C¸¨¦ 2,500 

31.12.2012 AßøÓ¯ GÊxö£õ¸Ò C¸¨¦ 1,000 

A¢u BsiÀ GÊxö£õ¸Ò Áõ[Q¯x 8,000 

1.1.2012 AßÖ öPõk£h ÷Ási¯ GÊxö£õ¸Ò öuõøP 1,200 

31.12.2012 AßÖ öPõk£h ÷Ási¯ GÊxö£õ¸Ò öuõøP 2,000 

31.12.2011 AßÖ •ßTmi ö\¾zv¯ GÊxö£õ¸Ò öuõøP 1,400 

31.12.2012 AßÖ •ßTmi ö\¾zv¯ GÊxö£õ¸Ò öuõøP 1,800 

12. (a) On 1st January 2012, A owes B Rs. 2,000 

  On 1st March 2012, A remits cash Rs. 600 

  On 1st April 2012, A buys foods from B Rs. 1,200 

  On 1st May 2012, A remits cash Rs. 1,800 

  Show Account Current rendered by B to A for the 
half year ending 30th June 2012, calculating interest 
at 10% per annum. 
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áÚÁ› 1, 2012 AßÖ B US A öPõkUP ÷Ási¯x  ¹. 2,000 

©õºa 1, 2012 AßÖ A ö\¾zv¯ öμõUP® ¹.600 

H¨μÀ 1, 2012 AßÖ B °hª¸¢x A \μUS Áõ[Q¯x  ¹. 1,200 

÷© 1, 2012 AßÖ A ö\¾zv¯ öμõUP® ¹. 1,800 

2012 áüß 30 À A, B US AÝ¨£ ÷Ási¯ |h¨¦ 
PnUøP u¯õ›UPÄ®, Á¸hzvØS 10% Ámi 
PnUQhÄ®. 

Or 

 (b) Mani drew upon Ragu several bills of exchange due 
for payment on different dates as under : 

Date of Bill Amount Tenure of the bill

01.06.2008 1,200 3 months 

19.06.2008 1,600 2 months 

10.07.2008 2,000 3 months 

27.07.2008 1,500 3 months 

07.08.2008 1,800 1 month 

15.08.2008 2,400 2 months 

  Find out Average due date on which payment may 
be made in one single amount. 

  ©o Gß£Áº μS Gß£Áº «x GÊu¨£mh £À÷ÁÖ 
©õØÖ ^mkPøÍ ¤ßÁ¸©õÖ HØÖÒÍõº. 

©õØÖa^mk ÷uv öuõøP uÁønU Põ»® 

01.06.2008 1,200 3 ©õu[PÒ 

19.06.2008 1,600 2 ©õu[PÒ 

10.07.2008 2,000 3 ©õu[PÒ 
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©õØÖa^mk ÷uv öuõøP uÁønU Põ»® 

27.07.2008 1,500 3 ©õu[PÒ 

07.08.2008 1,800 1 ©õu® 

15.08.2008 2,400 2 ©õu[PÒ 

  \μõ\›z uÁøn |õÒ •øÓ°À AøÚzx 
©õØÖa^mkPÐUPõÚ ö©õzu öuõøPø¯²® J÷μ 
|õÎÀ ö\¾zu •iÄ ö\´uõº. \μõ\›z uÁøn 
|õøÍU Psk¤iUPÄ®. 

13. (a) How will you treat normal and abnormal loss in 
consignment account? 

AÝ¨¥mk PnUQÀ \õuõμn ©ØÖ® A\õuõμn 
|mhzøu GÆÁõÖ } øP¯õÊÁõ´? 

Or 

 (b) Rajan consigned Ajay 200 cases of tea costing 
Rs.400 per case. He paid freight and insurance 
Rs.3,000 and Rs.2,000 respectively. Ajay took 
delivery of only 180 cases. 20 cases were lost in 
transit. He paid Rs.2,000 as unloading charges and 
he reported that he has sold away 160 cases at 
Rs.450 per case. Find out the value of unsold stock 
and abnormal loss. 

  μõáß Gß£Áº Aá´ Gß£Á¸US 200 j yÒ 
ö£miPøÍ u»õ ¹.400 Ãu® AÝ¨¥k ö\´uõº. AÁº 
\zu® ©ØÖ® Põ¨¥mkUPõP ¹.3,000 ©ØÖ® ¹.2,000 
•øÓ÷¯ ö\¾zvÚõº. Aá´ 180 ö£miPøÍ 
GkzxUöPõshõº. 20 j yÒ ö£miPÒ 
÷£õUSÁμzvß ö£õÊx AÈ¢x Âmhx. AÁº 
¹.2,000 CÓUSU T¼ ö\¾zvÚõº ©ØÖ® 160 
ö£miPøÍ uμõ ¹.450 Ãu® ÂØ£øÚ ö\´x AÔUøP 
AÝ¨¤Úõº. ÂØPõa \μUQ¸¨¦ ©ØÖ® A\õuõμn 
|mh ©v¨ø£ PnUQkP. 
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14. (a) Distinguish between Consignment and Joint 
venture. 

AÝ¨¥miØS® CønÂøÚUS® EÒÍ ÷ÁÖ£õkPÒ 
¯õøÁ? 

Or 

 (b) A joint bank account has been opened in the joint 
names of Contractor and Engineer, Contractor pays 
Rs.2,50,000 and Engineer pays Rs.1,80,000. Their 
transactions are: wages paid Rs. 60,000 and 
materials purchases Rs. 1,50,000. 

  Pass Journal entries. 

J¨£¢uuõμº ©ØÖ® ö£õÔ¯õÍº Cøn¯õP J¸ Á[Q 
PnUS öuõh[P¨£mhx. J¨£¢uuõμº ¹.2,50,000 ® 
ö£õÔ¯õÍº ¹.1,80,000 ® ö\¾zvÚõºPÒ. AÁºPÐøh¯ 
|hÁiUøPPÒ ¤ßÁ¸©õÖ. T¼ ö\¾zv¯x ¹.60,000 
©ØÖ® ‰»¨ö£õ¸mPÒ Áõ[Q¯x ¹.1,50,000.  

SÔ¨÷£mk £vÄPÒ u¸P. 

15. (a) What are the defects of single entry system? 

  JØøÓ¨ £vÄ •øÓ°ß SøÓ£õkPÒ ¯õøÁ? 

Or 

 (b) From the following information, calculate stock at 
the end : 

  Stock in the beginning  Rs.30,000 

  Purchase    Rs. 1,35,000 

  Cash sales    Rs.80,000 

  Credit sales   Rs. 1,00,000 

  Rate of Gross profit on cost 33.33% (1/3). 
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  RÌPsh ÂÁμ[PøÍU öPõsk CÖv \μUQß ©v¨ø£ 

PnUQkP. 

  öuõhUPa \μUQ¸¨¦  ¹. 30,000 

  öPõÒ•uÀ    ¹. 1,35,000 

  öμõUP ÂØ£øÚ   ¹. 80,000 

  Phß ÂØ£øÚ   ¹. 1,00,000 

  AhUP Âø»°À ö©õzu »õ£ ÂQu® 33.33% (1/3). 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. From the following information of MRF sports club of 

Chennai, you are required to prepare the Receipts and 

Payments account for the year ended 31st March 2015. 
Particulars Rs. Particulars Rs. 

Balance on 1.4.2014  Life membership fee 6,080 

Cash 5,000 Rent paid 9,000 

Bank 3,000 Stationery purchased 1,800 

Transaction during the year :  Subscription :  

Entrance fee 4,500  2013-14 5,800 

Donation 27,000 2014-15 37,000 

Legacy 16,000 2015-16 3,200 

Honorarium paid 8,000 Interest paid 5,600 

Sports meet collection 18,000 Purchase of news paper 1,000 

Sports expenses 12,000 Sale of news paper 600 

Sports equipment purchased 40,000 Balance on 31.3.2015 : Cash 2,500 
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 G®.Bº.G¨. ÂøÍ¯õmk PÇPzvß ÂÁμ[PøÍ öPõsk 31 
©õºa 2015 ® BsiØS›¯ ö£ÖuÀ ö\¾zuÀ PnUS u¯õº 
ö\´P. 

ÂÁμ® ¹. ÂÁμ® ¹. 

1.4.2014 AßøÓ¯   B²mPõ» EÖ¨¤Úº 
Pmhn® 

6,080 

öμõUP® 5,000 ÁõhøP ö\¾zv¯x 9,000 

Á[Q 3,000 GÊxö£õ¸Ò Áõ[Q¯x 1,800 

A¢u Bsiß |hÁiUøPPÒ  \¢uõ :  

~øÇÄU Pmhn® 4,500  2013-14 5,800 

|ßöPõøh 27,000 2014-15 37,000 

E°À 16,000 2015-16 3,200 

©v¨§v¯® ö\¾zv¯x 8,000 Ámi ö\¾zv¯x 5,600 

ÂøÍ¯õmk ÷£õmi Á`À 18,000 |õÎuÌ Áõ[Q¯x 1,000 

ÂøÍ¯õmka ö\»ÄPÒ 12,000 |õÎuÌ ÂØÓx 600 

ÂøÍ¯õmk E£Pμn[PÒ 
Áõ[Q¯x 

40,000 31.3.2015 AßøÓ¯   

  öμõUP® 2,500 

17. Ramesh had the following transactions with Ravi during 
the year 2014. 

                                                      Rs. 

 July  1  Balance due from Ravi 1,200 

   15  Sold goods to Ravi 3,800 

 August 10  Received cash from Ravi 2,200 

   19  Purchased goods from Ravi 1,400 

 September  3  Returned goods to Ravi 600 

   16  Received cash from Ravi 1,000 

 Prepare account current to be rendered by Ramesh to 
Ravi as on 30th September 2014, Calculate interest at 
10% per annum. 
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 2014 ® BsiØPõÚ μÂ EhÚõÚ μ÷©êß |hÁiUøPPÒ 
R÷Ç öPõkUP¨£mkÒÍx. 

                                      ¹. 

 áüø» 1  μÂ°hª¸¢x {¾øÁ 1,200 

   15  μÂUS ÂØÓx 3,800 

 BPìm 10  μÂ°hª¸¢x ö£ØÓ öμõUP® 2,200 

   19  μÂ°hª¸¢x \μUS Áõ[Q¯x 1,400 

 ö\¨h®£º  3  μÂUS v¸¨¤¯ \μUS 600 

   16  μÂ°hª¸¢x ö£ØÓ öμõUP® 1,000 

 μÂ EhÚõÚ μ÷©êß |øh•øÓ PnUøP ö\¨h®£º 30, 
2014 ® ÷uv £i u¯õ›UP. Á¸hzvØS 10% Ámi PnUQkP. 

18. X consigned to Y 100 fans costing Rs 1,800 each, at 
invoice price Rs. 2,000 per fan. He paid freight and 
insurance Rs.1,400. Y remits Rs. 50,000 as advance and 
spent Rs. 1,200 for unloading charges. Y sells 90 fans at 
Rs. 2,200 each for cash. Y remits the balance due by a 
bank draft after deducting commission 5%. 

 Pass entries and prepare necessary Ledger accounts in 
the books both parties. 

 X Gß£Áº Y Gß£Á¸US JßÖ ¹.1,800 AhUPÂø»²ÒÍ 
100 ªß Â]ÔPøÍ JßÖ ¹.2,000 Ãu® Chõ¨¦ 
Âø»°mk AÝ¨¥k ö\´uõº. AÁº \zu® ©ØÖ® 
Põ¨¥mkUPõP ¹.1,400 ö\¾zvÚõº. •ß£n©õP ¹.50,000 

® CÓUSU T¼UPõP ¹.1,200® ö\¾zvÚõº. Y Gß£Áº 
JßÖ ¹. 2,200 Ãu® 90 ªß Â]ÔPøÍ öμõUPzvØS 
ÂØ£øÚ ö\´uõº. 5% PÈÄ PÈzu¤ß «u•ÒÍ öuõøPUS 
Á[Q £nÂøh ö\¾zvÚõº. 

 SÔ¨÷£mk £vÄPÒ u¢x ÷uøÁ¯õÚ ÷£÷μmk PnUSPøÍ 
C¸Áº HkPÎ¾® u¸P. 
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19. Arun and Babu entered into a joint venture for purchase 
and sale of some house hold items. They agreed to share 
profit and losses in the ratio of their cash contribution. 
Arun contributes Rs. 10,000 in cash and Babu Rs. 13,000. 
The whole amount was placed in a joint bank account. 
Goods were purchased by Arun for Rs. 10,000 and 
expenses paid by Babu Rs. 2,000. They also purchased 
goods for Rs. 15,000 through joint Bank Account. The 
expenses on purchase and sale of the goods amounted of 
Rs. 6,000 (including those met by Babu). Goods costing 
Rs. 20,000 were sold for Rs. 45,000 and the balance was 
lost by fire. 

 Prepare Joint Venture Account, Joint Bank account and 
ventures accounts closing the venture. 

A¸s ©ØÖ® £õ¦ C¸Á¸® J¸ Cøn ÂøÚ°À Ãmk 
E£÷¯õP¨ ö£õ¸mPÒ ÂØ£uØPõP Dk£mhÚº. 
AÁºPÐøh¯ öμõUP £[PÎ¨¦ ÂQuzvuÀ C»õ£ 
|mh[PøÍ £Qº¢x öPõshÚº. A¸s ¹.10,000 ® £õ¦ 
¹.13,000 ® öμõUP £[PÎ¨¦ ö\´uÚº. ö©õzu öuõøP²® 
Cøn Á[Q PnUQÀ ö\¾zu¨£mhx. A¸s  
¹.10,000 US \μUSPøÍ Áõ[QÚõº ©ØÖ® £õ¦ ¹.2,000 
ö\»Ä ö\´uõº. AÁºPÒ ¹.15,000 US \μUSPøÍ Cøn 
Á[Q PnUS ‰»©õP Áõ[QÚõºPÒ. \μUSPøÍ Áõ[P 
ÂØP BÚ ö\»Ä ¹.6,000 (£õ¦ ö\´u ö\»Ä EÒ£h). 
¹.20,000 ©v¨¤»õÚ \μUSPøÍ ¹. 45,000 US ÂØ£øÚ 
ö\´¯¨£mk Gg]¯ \μUSPÒ w°ÚõÀ ÷\u©øh¢ux. 

Cøn ÂøÚ PnUS, Cøn Á[Q PnUS ©ØÖ® Cøn 
ÂøÚ¯ºPÎß PnUSPøÍ²® u¯õº ö\´P. 

20. Following balances are extracted from the books of 
Xavier, who keeps incomplete records of his transactions : 

 1.1.2014 31.12.2014

Stock 40,000 60,000

Debtors 30,000 40,000
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 1.1.2014 31.12.2014

Creditors 15,000 25,000

Cash in hand 12,000 6,000

Bank overdraft 5,000 8,000

Furniture 3,000 2,000

 Drawings during the year amounted to Rs. 12,000. 
Depreciate furniture @ 10%. Ascertain the profit or loss 
the year ended 31.12.2014 and prepare a statement of 
affairs on that date. 

 ÷\Â¯º uÚx PnUSPøÍ JØøÓ¨£vÄ •øÓ°ß RÌ 
øÁzv¸¢uõº. {ÖÁÚzvß C¸¨¦PÒ ¤ßÁ¸©õÖ. 

 1.1.2014 31.12.2014

\μUQ¸¨¦ 40,000 60,000

PhÚõÎPÒ 30,000 40,000

PhÜ¢÷uõº 15,000 25,000

öμõUP°¸¨¦ 12,000 6,000

Á[Q ÷©ÀÁøμ£ØÖ 5,000 8,000

AøÓP»ß 3,000 2,000

 Gk¨¦z öuõøP ¹.12,000. AøÓP»ß «x 10% ÷u´©õÚ® 
}UP ÷Ásk®. 31.12.2014 UPõÚ C»õ£® AÀ»x |mhzøu 
PnUQkP ©ØÖ® A÷u ÷uv°À {ø» AÔUøP u¯õº ö\´P. 

———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What is hybrid computer? 

 P»øÁ Po¨ö£õÔ GßÓõÀ GßÚ? 

2. Define Laptop. 

 ©iUPoÛ C»UPn® u¸P. 

3. What is meant by a table? 

 AmhÁøn Gß£uß ö£õ¸Ò GßÚ? 

4. What is ruler? 

 AÍÃk GßÓõÀ GßÚ? 

5. What is Work Book? 

 £o¨¦zuP® GßÓõÀ GßÚ? 

6. Define – Tool Bars. 

 lÀ £õºì – C»UPn® u¸P. 
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7. Define Slide. 

 ìø»k – C»UPn® u¸P. 

8. What is Clip Art? 

 ]Ö£h® GßÓõÀ GßÚ? 

9. What is Query? 

 ÷PmhÔuÀ GßÓõÀ GßÚ? 

10. What is SQL? 

 Gì.U³.GÀ GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions. 

11. (a) What are the characterisation of a computer? 

   Po¨ö£õÔ°ß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

Or 

 (b) Write short notes on fifth generation of computer. 

   I¢uõ® uø»•øÓ Po¨ö£õÔ £ØÔ ]Ö SÔ¨¦ 
ÁøμP. 

12. (a) Brief notes on “Spell checking of Grammar in 
M.S.Word. 

   G®.Gì. ÷ÁºiÀ ìö£À ö\UQ[ ©ØÖ® C»UPn® 
£ØÔ SÔ¨¦ ÁøμP. 

Or 

 (b) Write short notes on aligning the text in M.S. Word. 

   G®.Gì. ÷ÁºiÀ ÁõºzøuPøÍ \›ö\´uÀ £ØÔ ]Ö 

SÔ¨¦ ÁøμP. 
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13. (a) List down the feature of M.S. Excel. 

   M.S. GUé¼ß £s¦PøÍ Á›ø\¨£kzxP. 

Or 

 (b) How to insert and delete cells, rows and columns? 

   ö\À, Á›ø\ ©ØÖ® £zvPøÍ GÆÁõÖ Cøn¨£x 
©ØÖ® }USÁx? 

14. (a) How do you start Power Point? 

   £Áº£õ´smøh Bμ®¤¨£x G¨£i? 

Or 

 (b) How to insert a picture in Power Point? 

   £Áº£õ´siÀ J¸ £hzøu GÆÁõÖ Cøn¨¥º? 

15. (a) Write short notes on primary key function in  
M.S, Access. 

   M.S AU\êÀ •ußø©a ö\¯¼ £¯ß£õmiøÚ¨ £ØÔ 
]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) What are the advantages of forms? 

   £iÁ[PÎß |ßø©PÒ ¯õøÁ? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Define – Computer. Describe the components of a 
computer. 

 Po¨ö£õÔ – C»UPn® u¸P. Po¨ö£õÔ°ß £õP[PøÍ 
ÂÁ›UP. 

17. Discuss the formatting of text in M.S.Word. 

 G®.Gì.÷ÁºiÀ BÁn[PøÍ ö|v{ø»¨£kzxuø» 
ÂÍUSP. 



A–9977 

  

  4

18. Describe the various function in M.S. Excel. 

 G®.Gì. GUé¼À £À÷ÁÖ ÁøP ö\¯À `zvμ[PøÍ 
ÂÍUSP. 

19. How do you create, delete at copying a new slide? 

 J¸ ¦v¯ ìø»øh E¸ÁõUSÁx, }USÁx ©ØÖ® 
÷\P›¨£x G¨£i? 

20. Define data types. Explain its kinds. 

 uPÁÀ ÁøPPÒ £ØÔ C»UPn® u¸P. ÷©¾® 
uPÁÀÁøP°øÚ £À÷ÁÖ ¤›ÄPøÍ ÂÍUSP. 

 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Mention the kinds of partners.  

 TmhõÎPÎß ÁøPPøÍ SÔ¨¤kP.  

2. What is meant by guarantee? 

 EzuμÁõu® Gß£uß ö£õ¸Ò ¯õx? 

3. State the meaning of memorandum revaluation a/c. 

 SÔ¨¦ ©Ö©v¨¥mkU PnUS Gß£uß ö£õ¸Ò TÖP.  

4. What is annuity method? 

 Bsk •øÓ GßÓõÀ GßÚ? 

5. Write down any two rights of retiring partners.  

 Â»S® TmhõÎ°ß E›ø©PÒ H÷uÝ® CμsiøÚ 
GÊxP.  
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6. What are the needs of a joint life policy? 

 Cøn B²Ò vmhõÁnzvß ÷uøÁPÒ ¯õx? 

7. Write short notes on ‘Compulsory Dissolution’. 

 ‘Pmhõ¯ Pø»¨¦’ £ØÔ SÔ¨¦ GÊxP.  

8. Point out the rule Garner Vs Murray case.  

 ‘PõºÚº Vs •º÷μ’ ÁÇUQß Âvø¯ _miU PõmkP.  

9. What is meant by maximum loss method? 

 Ea\ |øh•øÓ Gß£uß ö£õ¸Ò ¯õx? 

10. How will you distribute the purchase price among the 
partners? 

 TmhõÎPÐUQøh÷¯ öPõÒ•uÀ Âø»ø¯ }Âº GÆÁõÖ 
£Qº¢uÎ¨£õ´? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the various kinds of partners.  

  TmhõÎ°ß £À÷ÁÖ ÁøPPÒ £ØÔ ÂÁ›.  

Or 

 (b) P, Q and S were partners sharing profits in the ratio 
of 5 : 3 : 2. P draws Rs. 4,000 at the end of each 
quarter. Q draws Rs. 8,000 at the end of each half 
year. S draws Rs. 1,500 on 1.5.2013 Rs. 2,500 on 
31.10.2013. Rs. 4,000 on 30.11.2013. Calculate 
interest on their drawings @ 10% p.a. for the year 
ending 31.3.2014.  
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  P, Q ©ØÖ® S GßÝ® TmhõÎPÒ •øÓ÷¯ 5:3:2 
GßÓ ÂQuzvÀ C»õ£® £Qº¢x öPõÒQßÓÚº. P 
Gß£Áº JÆöÁõ¸ Põ»õsk CÖv°¾®  ¹. 4,000 
v¸®£ GkzxÒÍõº. Q Gß£Áº JÆöÁõ¸ 
Aøμ¯õsk CÖv°¾® ¹. 8,000 v¸®£ 
GkzxÒÍõº. S Gß£Áº 1.5.2013 AßÖ ¹. 1,500, 
31.10.2013 AßÖ ¹. 2,500, 30.11.2013 AßÖ ¹. 
4,000 GkzxÒÍõº. 31.3.2014À |õ÷Íõk 
•iÁøh²® BsiØS AÁºPÎß Gk¨¦PÒ «uõÚ 
Ámi°øÚ BskUS 10% PnUQkP.  

12. (a) (i) ‘X’ and ‘Y’ were the partners sharing profits in 
the ratio of 7:3. ‘Z’ was admitted on 3/7th share 
in the profits. Calculate the new profit sharing 
ratio of the partners.  

  (ii) Kundran and Kumaran are partners sharing 
profit and losses in the ratio of 9:7. Kugan is 
admitted as partners he acquires 3/16 of the 
profit entirely from Kundran. Calculate the 
new profit ratio and the sacrificing ratio.  

  (i) ‘X’ ©ØÖ® ‘Y’ 7:3 GßÓ ÂQuzvÀ »õ£[PøÍ¨ 
£Qº¢x öPõÒQßÓÚº. ‘Z’ GßÓ TmhõÎ 
¦vuuõP ÷\ºQßÓõº. ‘Z’ £[S ÂQu® 3/7 ¦v¯ 
C»õ£ £QºÄ ÂQuzøu PnUQkP.  

  (ii) SßÓß, S©μß GßÓ TmhõÎPÒ •øÓ÷¯ 9:7 
GÝ® ÂQuzvÀ C»õ£® £Qº¢x Á¢uÚº. 
SPß Gß£Áøμ 3/16 TmkUS •ÊÁx® 
SßÓß v¯õP® ö\´x ÷\ºzuÚº. ¦v¯ C»õ£¨ 
£QºÄ ÂQu® ©ØÖ® v¯õP ÂQu® PnUQkP.  

Or 

 (b) Give the journal entries to record the following 
arrangement in the books of the firm.  

  X and Y are in partnership sharing profit in the 
ratio of 3:2. They admit Z into the firm, Z paying a 
premium of Rs. 36,000 for 1/6 the share of  

  The profit X and Y agreed to share future profit 
equally.  
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  RÌUPshÁØÔØS SÔ¨÷£k u¸P.  

  X, Y GÝ® TmhõÎPÒ 3:2 GÝ® ÂQuzvÀ 
C»õ£zøu £Qº¢x öPõÒQßÓÚº. Z Gß£Áøμ 
Tmhõsø©°À ÷\ºzxUöPõÒÍ •iÄ ö\´QßÓÚº. 
‘Z’ 1/6 £[QØPõP ¹. 36,000 •øÚ©® ö\¾zxQÓõº. 
X, Y C¸Á¸® Á¸® Põ»[PÎÀ \©©õP »õ£zøu 
£Qº¢x öPõÒQßÓÚº.   

13. (a) A, B and C are in partnership sharing profits and 
losses in the ratio of 3:2:1. ‘A’ retires from the firm. 
The goodwill of the firm is fixed at Rs. 24,000. Pass 
journal entries for the goodwill when  

  (i) Goodwill is raised and written off 

  (ii) A’s share of goodwill is given to him without 
raising goodwill account.  

  A, B ©ØÖ® C BQ¯ ‰Á¸® C»õ£® ©ØÖ® 
|mh[PøÍ 3:2:1 GÝ® ÂQuzvÀ £Q¸® 

TmhõÎPÒ, A {ÖÁÚzv¼¸¢x K´Ä ö£ÖQÓõº. 
{ÖÁÚzvß |ß©v¨¦ ¹.24,000 BP 
{ºn°UP¨£kQÓx. RÌUPsh {ø»°À |ß©v¨¦ 
SÔzx £v¯¨£k® |hÁiUøPPøÍ u¸P.  

  (i) |ß©v¨¦ HØ£kzu¨£mk ÷£õUöPÊxuÀ  

  (ii) |ß©v¨¦ HØ£kzuõ©À A&°ß £[øP 
ÁÇ[SuÀ.  

Or 

 (b) Arun and Balu share profits in the ratio of 3:2. They 
have taken a joint life policy for Rs. 30,000 on 1st 
May 2010. The annual premium was Rs. 1,300. The 
surrender value was as follows.  

  2010 - Nil ; 2011 - Rs. 700 ; 2012 - Rs. 950;  
2013 - Rs. 2,250 ; Balu died on 15.9.2013. Claims 
were received on 31.12.13. The accounts are closed 
on 31st December every year. Prepare joint life 
policy account and joint life policy reserve account.  
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  A¸s, £õ¾ Cøh÷¯ C»õ£ ÂQu® 3:2. AÁºPÒ 
2010 ÷© •uÀ |õÒ ¹. 30,000US Cøn B²Ò 
Põ¨¥k ö\´QßÓÚº. Põ¨¥mk Bska \¢uõ ¹. 
1,300. vmhzvß \μs ©v¨£ÍÄ Á¸©õÖ.  

  2010 & CÀø» ; 2011 & ¹. 700 ; 2012 & ¹. 950;  
2013 & ¹. 2,250 ; £õ¾ 2013 ö\®h®£º 15À 
CÓ¢uõº. 2013 i\®£º 31À Põ¨¥mkz öuõøP 
ö£Ó¨£mhx. JÆöÁõ¸ Bsk® i\®£º 31À 
PnUS •iUP¨£kQßÓx.  

  Cøn B²Ò vmhU PnUQøÚ²®, Cøn B²Ò 
vmhPõ¨¦ PnUQøÚ²® u¯õº ö\´P.  

14. (a) Padma, Kumudha and Vidhya are the three 
partners sharing profits and losses in the ratio of 
2:1:1 respectively. They balance sheet as on 31st 
December 2012 is as follows.  

Liabilities Rs. Assets Rs. 

Creditors 35,000 Sundry assets 1,00,000

Capital accounts :   

  Padma 25,000  

  Kumudha 25,000  

  Vidhya 15,000  

 1,00,000  1,00,000

  On the above date, the firm is dissolved and the 
following were the terms agreed.  

  The assets realised Rs. 1,07,000. Creditors were 
paid Rs. 28,000 in full settlement. Realisation 
expenses a mounted to Rs. 2,000. Prepare 
realisation account.  
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  £z©õ, S•uõ ©ØÖ® Âz¯õ BQ¯ ‰ßÖ 
TmhõÎPÐ® C»õ£ |mh[PøÍ •øÓ÷¯ 2:1:1 
GßÓ ÂQuzvÀ £Qº¢x öPõÒQßÓÚº. i\®£º 31, 
2012 AßÖÒÍ C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõºPÒ 35,000 £Ø£» ö\õzxUPÒ 1,00,000

•uÀ PnUSPÒ :   
  £z©õ 25,000  
  S•uõ  25,000  
  Âz¯õ  15,000  

 1,00,000  1,00,000

  ÷©ØPsh ÷uv°À, Tmhõsø© {ÖÁÚ® 
Pø»UP¨£mhx. ¤ßÁ¸ÁÚ J¨¦UöPõÒÍ¨£mh 
{£¢uøÚPÍõS®.  

  ö\õzxUPÎ¼¸¢x ö£Ó¨£mhz öuõøP ¹. 1,07,000. 
PhÜ¢÷uõºPÐUS ¹. 28,000 ö\¾zv, •ÊÁx©õP 
\›Pmh¨£mhx. wºÄa ö\»ÄPÒ ¹. 2,000 BS®. 
wºÄ PnUQøÚ u¯õ›UPÄ®.  

Or 

 (b) The balance sheet of Hari, Vijay and Dass who are 
sharing profits in the ratio of 2:2:1 was as follows on 
31.3.2014 the date of dissolution.  

Liabilities Rs. Assets Rs. 

Bank loan 50,000 Cash 1,000

(with a charge on stock)  Stock 60,000

Creditors 1,20,000 Other assets 1,09,000

Capital :  Goodwill 30,000

 Hari 30,000 Capital-Dass 20,000

  Vijay 20,000  

 2,20,000  2,20,000
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  Stock realised Rs. 26,000 and other assets were sold 

for Rs. 45,000. Expenses on realisation amounted to 

Rs. 1,500. Assuming all the partners are insolvent. 

Prepare Realisation a/c and capital a/cs.  

  í›, Âá´, uõì ‰Á¸® 2:2:1 GßÓ ÂQuzvÀ 

C»õ£® £Qº¢uÚº. 31.3.2014À Tmhõsø© 

Pø»UP¨£mh A÷u ÷uv°À AÁºPÎß 

C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

Á[QU Phß  50,000 öμõUP® 1,000

(\μUQ¸¨¦ «x)  \μUQ¸¨¦ 60,000

PhÜ¢÷uõº 1,20,000 ©ØÓ ö\õzxUPÒ 1,09,000

•uÀ :  |Øö£¯º 30,000

  í› 30,000 •uÀ&uõì 20,000

  Âá´ 20,000  

 2,20,000  2,20,000

  \μUQ¸¨¦ ¹. 26,000US® ¤Ó ö\õzxUPÒ  

¹. 45,000US® ÂØP¨£mhx. wºÄ ö\»ÄPÒ ¹. 

1,500. AøÚzx TmhõÎPÐ® ö|õi¢x ÷£õ°Úº. 

wºÄ P/S ©ØÖ® •uÀ PnUSPøÍ u¯õ›UP.  

15. (a) The following was the balance sheet of R, S and T.  

Liabilities Rs. Assets Rs. 

Creditors 10,000 Sundry assets 60,000

R’s loan 5,000 Cash in hand 1,000

S’s loan 3,000  
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Capital accounts :   

  R              20,000   

  S              15,000   

  T                8,000 43,000  

 61,000  61,000

  The partners share profits in the ratio of 
4
1

:
4
1

:
2
1

. 

The assets realised as follows. I instalment Rs. 
15,000; instalment Rs. 16,000 ; final instalment Rs. 
14,000. Show how the amount will be distributed 
each instalment.  

  R, S ©ØÖ® T Gß£Áμx C¸¨¦{ø»U SÔ¨¦ 
¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõºPÒ 10,000 £Ø£» ö\õzxUPÒ 60,000

Rß Phß 5,000 øP°¸¨¦ öμõUP® 1,000

Sß Phß 3,000  

•uÀ PnUSPÒ :   

  R              20,000   

  S              15,000   

  T                8,000 43,000  

 61,000  61,000

  TmhõÎPÎß C»õ£ £[Rmk ÂQu® 
4
1

:
4
1

:
2
1

. 

ö\õzxUPÒ ¤ßÁ¸©õÖ wºÁõÚx. •uÀ uÁøn ¹. 
15,000; CμshõÁx uÁøn ¹. 16,000; CÖv 
uÁøn ¹. 14,000. JÆöÁõ¸ uÁøn öuõøP²® 
GÆÁõÖ ÁÇ[P¨£kQÓx Gß£øu PõmkP.  

Or 
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 (b) Explain briefly the accounting treatment when a 
firm is converted into or sold to a company.   

  J¸ Tmhõsø© {ÖÁÚzøu, {Ö©©õP ©õØÖÁuØS 
AÀ»x {Ö©zvh® ÂØ£øÚ ö\´ÁuØS øP¯õÍ 
÷Ási¯ PnUQ¯À •øÓPøÍ _¸UP©õP ÂÁ›.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Shukla, Tiwari are partners with capitals of Rs. 2,50,000 
and Rs. 1,30,000 respectively on 1st January 2015. The 
trading profit (before taking into account the provision of 
the deed) for the year ended 31st December, 2015 was  
Rs. 71,400. Interest on capital is to be allowed at 5% per 
annum. Tiwari is entitled to a salary of Rs. 16,000 per 
annum. The drawings of the partners were Shukla  
Rs. 40,000 and Tiwari Rs. 25,000; the interest on 
drawings for Shukkla being Rs. 2,250 and Tiwari  
Rs. 1,125.  

 Assuming that Shukla, Tiwari are equal partners, 
prepare the profit and loss appropriation account and the 
partners capital account (the capitals are fluctuating).  

 _U»õ, vÁõ› GÝ® TmhõÎPÒ •øÓ÷¯ ¹. 2,50,000,  
¹. 1,30,000 •u½mk 2015 áÚÁ› 1&B® |õÒ AßÖ 
Tmhõsø©z öuõÈÀ öuõh[QÚº. 2015 i\®£º 31&B® 
|õ÷Óõk •iÁøh²® Bsiß C»õ£® (Ehß£õmiÀ 
TÓ¨£mhøÁPøÍa \›UPmk® •ß¦) ¹. 71,400. •uÀ 
«x Ámi BskUS 5% AÝ©vUP¨£mkÒÍx. vÁõ›US 
Fv¯® BskUS ¹.16,000 AÝ©vUP¨£mkÒÍx. A¢u 
Bsk _U»õ Gkzu öuõøP ¹. 40,000, vÁõ› Gkzu 
öuõøP ¹. 25,000; AuØPõÚ Ámi •øÓ÷¯ ¹. 2,250, ¹. 
1,125 BS®.  

 _U»õ, vÁõ› BQ¯ C¸Á¸® \©©õÚ ÂQuzvÀ C»õ£® 
£Qº¢x öPõÒÁuõPU öPõsk, C»õ£ |mh¨ £QºÄ 
PnUøP²®, TmhõÎPÒ •uÀ PnUSPøÍ²® (©õÖ£k® 
•uÀ •øÓ) u¯õ›UP.   
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17. Tharun and Varun were partnes of a firm sharing profits 
and losses in the ratio of 5:4. Their balance sheet as at 
31.12.2013 stood as under : 

Liabilities Rs. Assets Rs. 

Sundry creditors  30,000 Cash 6,000

Bills payable  7,000 Sundry debtors    40,000 

P & L a/c 18,000 (–) Provision for 

Capital accounts :    doubtful debts      1,000 39,000

  Tharun     50,000  Stock 30,000

  Varun       40,000 90,000 Furniture 10,000

  Motor car 20,000

  Land and buildings 40,000

 1,45,000  1,45,000

 They decided to admit ‘Arun’ into the partnership on 
3
1

rd 

share which he acquired equally from each of the old 
partners on the following terms.  

 (a) That Arun was to bring in a capital of Rs. 60,000 

 (b) That goodwill of the firm was valued at Rs. 36,000 
and that value it was to be raised  

 (c) That Motorcar was to be depreciated by 5% and 
stock by Rs. 3,400.  

 (d) That provision for doubtful debts to be increased to 
5% on Sunday debtors.  

  Show revaluation account, capital accounts of 
partners and balance sheet of the reconstituted 
partnership. Show also their new profit ratio.  
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  u¸s, Á¸s GßÓ TmhõÎPÒ •øÓ÷¯ 5:4 GÝ® 
ÂQuzvÀ C»õ£ |mh[PøÍ¨ £Qº¢x Á¢uÚº. 2013 
i\®£º 31® |õøÍ¯ AÁºPÍx C¸¨¦{ø»U SÔ¨¦ 
¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£Ø£» PhÜ¢÷uõº 30,000 öμõUP® 6,000

ö\.©õ. ^mk 7,000 £Ø£» PhÚõÎPÒ    
40,000 

C»õ£&|mhU PnUS 18,000 (–) I¯UPhß JxUS  

1,000 
39,000

•uÀ PnUSPÒ :  \μUQ¸¨¦ 30,000

        u¸s       
50,000 

 AøÓP»ß 10,000

      Á¸s       40,000 90,000 ©QÌÄ¢x 20,000

  {»®, Pmih®  40,000

   

 1,45,000  1,45,000

 AÁºPÒ ¤ßÁ¸® £QºÄPÎÀ ‘A¸s’ Gß£ÁøμU 
Tmhõsø©°À ÷\ºzxUöPõÒÍ J¨¦U öPõshÚº.  

 (A) A¸s Gß£Áμx £[S 
3
1

; AÁº Aøu £øÇ¯ 

TmhõÎPÎhª¸¢x \©©õP¨ ö£ÖÁx ; AÁº  
¹. 60,000 •uÀ öPõnºÁx.  

 (B) |Øö£¯øμ ¹. 36,000 GÚ HkPÎÀ ÷uõØÖÂ¨£x.  

 (C) ©QÌÄ¢x ©v¨¤À ÷u´©õÚ® 5%&®, \μUQ¸¨¦ 
©v¨¤À ¹. 3,400&® SøÓ¨£x  

 (D) I¯Uhß JxUøP¨ £Ø£» PhÚõÎPÎÀ 5% BP 
C¸US©õÖ AvP¨£kzxÁx 

©Ö©v¨¥mk PnUS, •uÀ PnUSPÒ, ¦v¯ 
Tmhõsø©°ß C¸¨¦{ø»U SÔ¨¦ 
BQ¯ÁØøÓ²® PõmkP. AÁºPÍx ¦v¯ C»õ£ 
ÂQuzøu²® TÖP.  
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18. The two firms P and Q and R and S agreed to 
amalgamate their business. Their positions as on 
31.12.2011.  

Liabilities PQ 
Rs. 

 RS 
Rs. 

 Assets PQ 
Rs. 

RS 
Rs. 

Creditors 1,04,000  52,000  Cash at bank 1,56,000 65,000
Capitals :     Debtors 1,30,000 1,04,000
  P 1,82,000    Stock 42,000 26,000
  Q 1,30,000    Office building 78,000 -
  R   91,000  Furniture 10,000 13,000
  S   65,000   

 4,16,000  2,08,000   4,16,000 2,08,000

 Creditors and debtors were not taken over by the new 
form PQRS building was retained by P and Q but new 
firm agreed to pay a monthly rent of Rs. 400. The cash 
required for working of the new firm was estimated at  
Rs. 1,30,000 to be provided by the partner in their new 
profit proportions as under : 

 
10
2

:S,
10
2

:R;
10
3

:Q,
10
3

:P  

 (a) Write the books of P and Q and R and S. 
 (b) Give the opening balance sheet of PQRS.  

 P ©ØÖ® Q, R ©ØÖ® S Cμsk Tmhõsø©²® JßÓõP 
Cøn¯ •iöÁkzuÚ. CÁºPÐøh¯ {ø» 31.12.2011 
AßÖ.  

ö£õÖ¨¦PÒ PQ 
¹. 

 RS 
¹. 

 ö\õzuUPÒ PQ 
¹. 

RS 
¹. 

PhÜ¢÷uõºPÒ 1,04,000  52,000  Á[Q öμõUP® 1,56,000 65,000

•uÀ :     PhÚõÎPÒ 1,30,000 1,04,000

  P 1,82,000    \μUQ¸¨¦ 42,000 26,000

  Q 1,30,000    A¾Á»P Pmih® 78,000 -

  R   91,000  AøÓP»ß 10,000 13,000

  S   65,000   

 4,16,000  2,08,000   4,16,000 2,08,000
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 ¦v¯ {ÖÁÚ® PhÜ¢÷uõøμ²®, PhÚõÎPøÍ²® 

GkzxUöPõÒÍÂÀø» .Pmih® P ©ØÖ® Q &°h÷© 
C¸US® BÚõÀ ¦v¯ {Ö©® AuØPõP ©õu® ¹. 400 
ö\¾zu J¨¦U öPõshx. ¦v¯ Tmhõsø©ø¯ |hzu 
Auß TmhõÎPÒ ö©õzu©õP ¹. 1,30,000 ÁÇ[P¨h 
÷Ásk®. AÁºPÐøh¯ ¦v¯ C»õ£ £QºÄ Ãu® : 

 
10
2

:S,
10
2

:R;
10
3

:Q,
10
3

:P  

 (A) P, Q, R, S &ß PnUSPøÍ u¯õ›UP.  

 (B) ¦v¯ Tmhõsø©ø¯ PQRS C¸¨¦{ø»U SÔ¨ø£ 
u¯õ›UP.  

19. Prakash, Prasanna and Prathap were partners. sharing 
profits and losses in the ratio of 6:3:1. On 31.3.2018 that 
balance sheet stood as follows.  

Liabilities Rs. Assets Rs. 

Capitals :  Plant and machinery 7,500

  Prakash 8,000 Closing stock 2,500

  Prasana 3,000 Debtors 6,000

Bank overdraft 3,500 Cash in hand 500

Prakash loan 500 Prathap’s capital 1,000

Creditors 2,500  

 17,500  17,500

 The partners decide on dissolution of the firm and the 
assets realised as under.  

 Plant and machinery 20% less, stock 25% less, debtors 
30% less. Expenses of dissolution amounted to Rs. 250. 
Prathap became bankrupt and his private estate held  
Rs. 100. You are required to close the books of the firm.   
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¤μPõè, ¤μ\ßÚõ, ¤μuõ¨ ‰Á¸® »õ£|mh[PøÍ 6:3:1 
GßÓ ÂQuzvÀ £Qº¢x öPõÒÐ® TmhõÎPÒ 31.3.18ß 
£i AÁºPÎß C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzuUPÒ ¹. 

•uÀ :   ö£õÔÁøP²® C¯¢vμ•® 7,500

    ¤μPõè 8,000 \μUQ¸¨¦ 2,500

    ¤μ\ßÚõ  3,000 PhÚõÎPÒ 6,000

Á[Q÷©À Áøμ¨£ØÖ 3,500 øP°À öμõUP® 500

¤μPõæß Phß 500 ¤μuõ¨¤ß •uÀ 1,000

PhÜ¢÷uõº 2,500  

 17,500  17,500
 TmhõÎPÎß {ÖÁÚzøuU Pø»UP •iÄ ö\´x 

ö\õzxUPøÍ ¤ßÁ¸©õÖ £n©õUQÚõº.  
 ö£õÔ ÁøP²® C¯¢vμ•® 20% SøÓÁõP, \μUQ¸¨¦ 25% 

SøÓÁõÚ, PhÚõÎPÒ 30% SøÓÁõP, {ÖÁÚU Pø»¨¦a 
ö\»Ä ¹. 250, ¤μuõ¨¤ØS ö|õi¨¦ {ø» HØ£mk 
AÁ¸øh¯ ö\õ¢u ö\õzxUPÎß C¸¢x ¹. 100 
ö£Ó¨£mhx. {ÖÁÚzvß PnU÷PkPøÍ •iUPÄ®.  

20. I, J and K are in partnership sharing profits and losses as 
3:2:1 respectively. Their balance sheet as on 31st 
December 2013, on which date they have agreed to 
convert their business into a private limited company is 
as follows : 

Liabilities Rs. Assets Rs. 

Creditors 12,000 Properties 18,000

Capitals :  Machinery 12,000

  I          20,000  Debtors 15,000

  J          15,000  Stock 13,000

  K         13,000 48,000 Cash 2,000

 60,000  60,000
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 Company takes over the assets at the following valuation:  

 Properties Rs. 22,000; machinery Rs. 11,000 ; debtors  
Rs. 14,000; stock Rs. 12,000; Goodwill Rs. 4,000. 

 Company’s settlement is as follows : 

 Rs. 33,000 in shares of each Rs. 10 face value and the 
balance is paid in cash. Give the necessary ledger 
accounts in the books of the firm.  

 I, J ©ØÖ® K TmhõÎPÒ C»õ£ |mh[PøÍ 3:2:1 GßÓ 
ÂQuzvÀ £Qº¢x öPõÒQßÓÚº. i\®£º 31, 2013 AßÖ 
AÁºPÒ {ÖÁÚzvß ÁoPzøu uÛ¯õº {Ö©©õP 
©õØÖÁuØS J¨¦U öPõshÚº. A÷u |õÍßÖ EÒÍ 
C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÛ¢÷uõºPÒ 12,000 £Ø£» ö\õzxPPÒ 18,000

•uÀPÒ :  C¯¢vμ® 12,000

  I          20,000  PhÚõÎPÒ 15,000

  J          15,000  \μUQ¸¨¦ 13,000

  K         13,000 48,000 öμõUP® 2,000

 60,000  60,000

 ¤ßÁ¸® ©v¨¥miÀ {Ö©® ö\õzxUPøÍ 
GkzxUöPõÒQÓx.  

 £Ø£» ö\õzxUPÒ ¹. 22,000; C¯¢vμ® ¹. 11,000; 
PhÚõÎPÒ ¹. 14,000 ; \μUQ¸¨¦ ¹. 12,000; |Øö£¯º  
¹. 4,000.  

 {ÖÁÚzvß wºÄ ¤ßÁ¸©õÖ : JÆöÁõßÖ® ¹. 10 
•P©v¨¦ÒÍ £[SPÒ ¹. 33,000US «vø¯ öμõUP©õP 
ö\¾zv¯x.  

 {ÖÁÚzvß PnUSPøÍ •i¨£uØS›¯ ÷uøÁ¯õÚ 
÷£÷μmkU PnUPPøÍ u¸P.  

———————— 
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E-COMMERCE AND INTERNET 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is meant by E-Commerce? 

 ªßÁºzuP® GßÓõÀ GßÚ? 

2. WWW – Explain in brief. 

 E»P AÍÄ Cøn¯® – _¸UP©õP ÂÍUSP. 

3. What is EPS? 

 ªßÚg\À £n® ö\¾zx® •øÓ GßÓõÀ GßÚ? 

4. Define Internal commerce. 

 APÁoP® – C»UPn® u¸P. 

5. What is ISP? 

 Cøn¯ uPÁÀ £o AÎ¨£Áº GßÓõÀ GßÚ? 
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6. What is DSL? 

 i.Gì.GÀ GßÓõÀ GßÚ? 

7. Define – MODEM. 

 ÷©õh® – ÁøμÂ»UPn® u¸P. 

8. What is FTP? 

 ÷Põ¨¦ ©ØÖ® ö|Ô•øÓ GßÓõÀ GßÚ? 

9. What is search Engine? 

 ÷ukuÀ P¸Â GßÓõÀ GßÚ? 

10. Define – WEB. 

 öÁ¨ (AÀ»x) Cøn¯® – C»UPn® u¸P. 

 Part B (5  5 = 25) 

Answer all questions. 

11. (a) What are the components of I. Way? 

   AvÂøμÄ uPÁÀ ÷\ª¨¦ •øÓ°ß £À÷ÁÖ TÖPÒ 
¯õøÁ? 

Or 

 (b) Write short note on GID network. 

   E»P uÁÀ Â{÷¯õP ¤øn¯® £ØÔ SÔ¨¦ ÁøμP. 

12. (a) List out the uses of E-Commerce. 

   ªßÁºzuPzvß £¯ßPøÍ¨ £mi¯¼kP. 

Or 

 (b) Write short notes on “MACROS”. 

   “÷©U÷μõì”  £ØÔ SÔ¨¦ ÁøμP. 
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13. (a) Distinguish between e-Commerce and WWW. 

   ªßÁºzuPzvØS E»P AÍÄ öÁ¨¤ØS•ÒÍ 
÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) Write short notes on “corporate data warehouses”. 

   {ÖÁÚz uPÁÀ ÷\P›¨¦ Á[Q £ØÔ SÔ¨¦ ÁøμP. 

14. (a) Explain in brief the concept of ISDN. 

   ISDN I.Gì.i.Gß £ØÔ _¸UP©õP ÂÍUSP. 

Or 

 (b) What is WAN? Draw it a diagram. 

   Áõß GßÓõÀ GßÚ? Auß E¸ÁzvøÚ ÁøμP. 

15. (a) Write short notes on ISP. 

   Cøn¯ uPÁÀ  £o u¸£Áº £ØÔ  SÔ¨¦ ÁøμP. 

Or 

 (b) Explain the concept of web page protocol. 

   Cøn¯ £UPzvß ö|Ô•øÓ £ØÔ SÔ¨¦ ÁøμP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Describe the applications of E-Commerce. 

 ªßÁºzuPzvß £À÷ÁÖ ÁøP £¯ß£õkPøÍ ÂÍUSP. 

17. Discuss the process of supply chain management. 

 ÁÇ[PÀ öuõhº ÷©»õsø©°ß £i{ø»PøÍ ÂÁ›UP. 

18. Explain the architecture of Internet. 

 Cøn¯uÍzvß Pmk©õÚ[PÒ ÂÍUSP. 
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19. Discuss the various topologies of network. 

 Cøn¯zvß £À÷ÁÖ ÁøPøÍ ÂÍUSP. 

20. Describe the process of Internet relay chart. 

 Cøn¯z öuõhº ÷£a]ß £i{ø»PøÍ ÂÍUSP. 

 

 

 
———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Data Abstraction? 

 uμÄ A¸Á©õUP® GßÓõÀ GßÚ? 

2. Explain constants. 

 ©õÔ¼PÒ £ØÔ ÂÁ›UPÄ®. 

3. What do you mean by object? 

 C»US Gß£uß ö£õ¸Ò GßÚ? 

4. Define Arrays. 

 AoPÒ Áøμ¯Ö. 

5. What is destructor? 

 AÈ¨¤PÒ GßÓõÀ GßÚ? 
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6. Explain copy constructor. 

 Copy constructor – I £ØÔ ÂÁ›UPÄ®. 

7. Define Single Inheritance. 

 J¸ ÁÈ ©μ¦›©® Áøμ¯Ö. 

8. Explain Abstract class. 

 Abstract class – I £ØÔ ÂÁ›UPÄ®. 

9. What is virtual function? 

 Virtual function GßÓõÀ GßÚ? 

10. What is stream? 

 Stream GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain about the structure of C++. 

   ]++–ß Pmhø©¨ø£ ÂÍUSP. 

Or 

 (b) Explain the C++ operators with examples. 

   ]++–ß ö\¯ØSÔ Euõμnzxhß ÂÁ›. 

12. (a) Write short notes on objects. 

   Objects–I £ØÔ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) How is member function of a class defined? Explain. 

   J¸ ÁºUPzvß EÖ¨¤ÚμõP ö\¯ø» G¨£i 
Áøμ¯Ö¨£õ´? ÂÁ›UP. 
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13. (a) Examine with example dynamic constructor. 

   Dynamic constructor –I GkzxUPõmkPÐhß 
PnUQkP. 

Or 

 (b) Enumerate with example-parameterized constructor. 

   Parameterized constructor – I GkzxUPõmkPÐhß 
PnUQkP. 

14. (a) Describe the rules for operator overloading. 

   Ava_ø© C¯UPzvß Âv•øÓPøÍ ÂÍUSP. 

Or 

 (b) Write short notes on Hierarchical Inheritance. 

   Hierarchical Inheritance–I £ØÔ ]Ö SÔ¨¦ ÁøμP. 

15. (a) Write the uses of pointers in C++. 

   ]++–ß _miUPõmi £¯ßPøÍ GÊxP. 

Or 

 (b) Explain how to Update a file. 

   ‘Update a file’ G¨£i ö\´Áõ´ GßÖ ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Discuss briefly the Basic data types in C++. 

 ]++–ß Ai¨£øh uμÄ CÚ[PÒ £ØÔ Â›ÁõP ÂÁõvUP. 

17. Explain in detail about friend function using in C++. 

 ]++–ß |m¦a ö\¯ØTÖPÒ SÔzx ÂÍUSP. 
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18. What is constructor? Write about various types of 
constructor. 

BUQPÒ GßÓõÀ GßÚ? £À÷ÁÖ ÁøP¯õÚ BUQPÎß 
£i{ø»PøÍ GÊxP. 

19. Examine Multiple Inheritance with example program. 

 £»ÁÈ ©μ¦›©® Euõμn vmh® öPõsk B´P. 

20. Explain formatted and unformatted I/O operations. 

 ÁiÁø©UP¨£mh ©ØÖ® ÁiÁø©UP¨£hõu I/O ö\¯ÀPøÍ 
ÂÁ›. 

 

 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What is meant by Legal due date? 

 \mh¨£i öPõkUP¨£h ÷Ási¯ ÷uv GßÓõÀ GßÚ? 

2. Define Banker’s Gain.  

 Á[Q¯›ß Buõ¯® C»UPn® ÁøμP.  

3. What is Natural Logarithms? 

 C¯ØUøP ©hUPøh GßÓõÀ GßÚ? 

4. Find the value of )27(loglog 33 .  

 ©v¨ø£ PõsP )27(loglog 33 .  

5. What do you know about family of sets? 

 Pn[PÎß Sk®£® £ØÔ } AÔÁx ¯õx? 
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6. Write a note on Venn Diagram.  

 öÁs Áøμ£h ]Ö SÔ¨¦ ÁøμP.  

7. What is a Dependent event? 

 \õº¦ {PÌÄ GßÓõÀ GßÚ? 

8. Define Poisson distribution.  

 £õ´éõß £μÁÀ C»UPn® ÁøμP.  

9. Find the value of 3105  through Binomial theorem.  

 D¸Ö¨¦ ÷uØÓzvß ‰»©õP 3105  ©v¨ø£ PnUQkP.  

10. Find the expansion of 5)3( x .  

 ÂÁ›zx GÊxP 5)3( x .  

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) A banker proposes to give Rs. 7,000 at the end of 

4
1

3  years from now. How much the banker  ought 

to receive from the customers now in order to pay 
off the amount taking money to be worth  
8% p.a. C.I.? 

  J¸ Á[Q¯õÍº 
4
1

3  BskPÒ PÈzx ¹. 7,000 

öPõkUP vmhªmkÒÍõº. GÚ÷Á Á[Q¯õÍº uÚx 

ÁõiUøP¯õÍ›h® C¸¢x ö£Ó ÷Ási¯ •u½k 

£nzvøÚ BskUS 8% Tmk Ámi ÂSv°ß ‰»® 

PnUQkP.  

Or 
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 (b) At the age of 35, a person invests a certain sum of 
money at 8% per annum compound interest. The 
investment is sufficient to entitle him to receive  
Rs. 7,500 per year and the payment is to be started 
at his age of 50; find the amount invested  

  J¸Áº uÚx 35Áx Á¯vÀ J¸ SÔ¨¤mh öuõøPø¯ 
8% Tmk Ámi ÂQuzvÀ •u½k ö\´¯ Â¸®¦QÓõº. 
AÁºPÍx 50Áx Á¯x •uÀ BskUS ¹. 7,500 
ö£Ó¨£h ÷Ásk® GÛÀ AÁº •u½k ö\´¯¨£h 
÷Ási¯ öuõøPø¯ PnUQkP.  

12. (a) Show that 3log
4log3log

11log
12log
11log

2
55

3

5

2 


 .  

  PõsP 3log
4log3log

11log
12log
11log

2
55

3

5

2 


 . 

Or 

 (b) Find the value of 45.932.543  .  

  ©v¨ø£ PõsP 45.932.543  . 

13. (a) Given  fedcbaU ,,,,,  and  ,,, cbaA   
 edcbB ,,, ,  feC , .  

  Find )()()( BABABA   

  öPõkUP¨£mkÒÍ  fedcbaU ,,,,,  ©ØÖ® 

 ,,, cbaA   edcbB ,,, ,  feC ,  PõsP  

  )()()( BABABA  . 

Or 

 (b) Using Venn diagram verify  

  )()()( CABACBA   

  öÁsÁøμ£h öPõsk )()()( CABACBA   

{ÖÄP.  
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14. (a) A bag contains 8 white and 4 red balls. Five balls 
are drawn at random. What is the probability that 2 
of them are red and 3 white? 

  J¸ ø£°À 8 öÁÒøÍ ©ØÖ® 4 ]Á¨¦ £¢xPÒ 
EÒÍÚ. AvÀ 5 £¢xPÒ ^μØÓ •øÓ°À 
GkUP¨£kQßÓÚ. •øÓ÷¯ 2 £¢xPÒ ]Á¨¦® ©ØÖ®  
3 £¢xPÒ öÁÒøÍ¯õPÄ® C¸UP {PÌÄ ¯õx? 

Or 

 (b) 5000 light bulbs with a mean life of 60 days are 
installed in a factory. The length of life is normally 
distributed with standard deviation 10 days. How 
many bulbs will fuse in less than 45 days? 

  J¸ öuõÈØ\õø»°À 5000 JÎ ÂÍUSPÒ \μõ\› 
ÁõÌÄ 60 |õmPÎÀ {ÖÁ¨£mkÒÍÚ A¢u 
ÂÍUSPÎß \μõ\› B²mPõ»® 103 |õmPÒ vmh 
ÂÍUP B²m Põ»® 10 |õmPÒ, GÛÀ GzuøÚ 
ÂÍUSPÎß B²mPõ»® 45 |õmPÐ® SøÓÁõP 
C¸US® Gß£øu PõsP.  

15. (a) Write down the 7th term in the expansion of 
9

2
5

5
4







 

x
x

.  

  Â›ÁõUPzvß 7Áx C»UPzøu GÊxP 
9

2
5

5
4







 

x
x

. 

Or 

 (b) Find the coefficient of 3x  in the expansion 
10

2 4
5 






 

x
x .  

  Â›ÁõUPzvß 3x  °ß SnPzøu 
10

2 4
5 






 

x
x  

PshÔ¯Ä®.  
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Mr. X decides to made a gift of Rs. 50,000 to his son after 
5 years. He decides to save this amount by making equal 
annual payment, which given 6% compound interest. 
Calculate the amount of each annual payment.  

 v¸. X Gß£Áº uÚx ©PÝUS 5 BskPÐUS ¤ÓS  

¹. 50,000 ©v¨¦ÒÍ J¸ ¤›Ä ÁÇ[P vmhªmkÒÍõº 

GÚ÷Á AÁº uØö£õÊ÷u BskUS \© AÍÄ öuõøPø¯ 

÷\ªUQÓõº. AÁØÔØS 6% Tmk Ámi ÂQu® 

ÁÇ[P£kQßÓx. GÚ÷Á AÁº JÆöÁõ¸ Bsk® AÁº 

÷\ªUP ÷Ási¯ öuõøPø¯ PnUQkP.  

17. Evaluate 5

00137.0
04321.054.26 

. 

 ©v¨¤kP 5

00137.0
04321.054.26 

. 

18. In a class of 50 Students, the number of students passed 
in various subjects is as follows. English - 25, 
Mathematics - 18, Science - 14, English and Mathematics 
- 8, Mathematics and Science - 5, English and Science - 7. 
All the three subjects - 3. Using Venn diagram, find the 
number of students failed in all the subjects.  

 J¸ ÁS¨¤À 50 ©õnÁºPÒ EÒÍÚº £À÷ÁÖ £õh[PÎÀ 

©õnÁºPÎß ÷uºa]PÒ R÷Ç ÁÇ[P£mkÒÍÚ  

B[Q»® & 25; Pou® & 18; AÔÂ¯À & 14 ; B[Q»® 

©ØÖ® Pou® & 8 ; Pou® ©ØÖ® AÔÂ¯À & 5 ; 

B[Q»® ©ØÖ® AÔÂ¯À & 7 ; AøÚzx £õh[PÎ¾® 

÷uºa] ö£ØÓÁºPÒ & 3 öÁs Áøμ£hzøu £¯ßkzv 

AøÚzx £õh[PÎ¾® ÷uºa] Aøh¯õuÁºPÎß 

GsoUøPø¯ PõsP.  
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19. 100 cars radios are inspected as they come off the 
production line and number of defects per set is recorded 
below.  

No. of defects : 0 1 2 3 4

No. of sets : 79 18 2 1 0

 Fit a Poisson distribution to the above data and calculate 
the frequency of 0, 1, 2, 3 and 4 defects. )779.0( 25.0 e .  

 100 PõºPÎß ÷μi÷¯õUPÒ EØ£zv ö\´¯¨£mk uμ® 
÷\õuøÚ Á›\ø°À C¸¢x Á¸ÁuõÀ ÷μi÷¯õUPÎÀ EÒÍ 
SøÓ£õkPÎß GsoUøP R÷Ç £vÄ ö\´¯¨£mkÒÍx.  

SøÓ£õk GsoUøP : 0 1 2 3 4

öuõS¨¦ GsoUøP : 79 18 2 1 0

 ÷©ØPsh uμÄPÎ¼¸¢x £õ´\õß £QºÂøÚ ö£õ¸zxP 
©ØÖ®  0, 1, 2, 3, 4 BQ¯ AvºöÁsÛß SøÓ£õkPøÍ 

PnUQkP )779.0( 25.0 e . 

20. Expand and simplify :    66
1212  .  

 ÂÁ›UP ©ØÖ® _¸USP    66
1212  . 

———————— 
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 Section A  (10  2 = 20) 

Answer all questions. 

1. Explain ‘forfeiture of shares’. 

 £[S JÖ¨¤Ç¨¦  ÂÁ›. 

2. What do you mean by calls-in-arrears? 

 AøÇ¨¦ {¾øÁ GßÓõÀ GßÚ? 

3. Explain the term ‘‘firm under writing’’. 

 EÖv J¨¦Öv £ØÔ  ÂÁ›. 

4. Write short notes on collateral security. 

 Cøn¨ £õxPõ¨¦ £ØÔ ]Ö SÔ¨¦ GÊxP. 

5. What do you mean by redeemable preference shares? 

 ªÒuS •ßÝ›ø©¨ £[SPÒ GßÓõÀ GßÚ? 

Sub. Code 
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6. What is meant by loss prior to incorporation? 

 £vÂØS •¢øu¯ |mh® Gß£uß ö£õ¸Ò ¯õx? 

7. What is reserve fund? 

 Põ¨¦ {v GßÓõÀ GßÚ? 

8. Write a note on purchase consideration? 

 öPõÒ•uÀ ©Ö£¯ß £ØÔ SÔ¨¦ GÊxP. 

9. Explain ‘capital reduction’. 

 ‰»uÚU SøÓ¨¦ £ØÔ  ÂÁ›. 

10. What is liquidation of a company? 

 {ÖÁÚU Pø»¨¦ GßÓõÀ GßÚ? 

 Section B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) S Ltd forfeited 1000 shares of Rs.10 each held by 

Ravi for non payment of allotment money Rs.3, 1st 

Call Rs.2 and final call Rs.2. Pass journal entries.  

  JxURk £n® ¹.3 •uÀ AøÇ¨¦ ¹.2 ©ØÖ® CÖv 

AøÇ¨¦ ¹. 2 öPõkUPõuuõÀ μÂ øÁzv¸¢u ¹.10 

©v¨¦ÒÍ 1000 £[SPøÍ S GßÓ {Ó©® £Ô•uÀ 

ö\´ux •uØ SÔ¨÷£k¨ £vÄPøÍz u¸P. 

Or 
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 (b) K Ltd has authorised capital of Rs.25 Lakhs 
dividend into  1,00,000 equity shares of Rs.25 each. 
The company issued for subscription 25,000 shares 
at a premium of Rs.10 each. 

  The entire issue was under written as follows : 
  A–15,000 shares (Firm underwriting –2,500 shares) 
  B–7,500 shares (Firm underwriting –1,000 shares) 
  C–2,500 shares (Firm underwriting –500 shares) 
  Out of the total issues,22,500 shares including firm 

underwriting were subscribed. 
  The following were the market forms A 
  A–8,000 shares 
  B–5,000 shares 
  C–2,000 shares. 

  Calculate the liability of each under writer. 

  K ¼ªöhmiß A[RP›UP¨£mh •u»õÚ ¹.25,00,000 
£[S JßÖUS ¹.25 Ãu® 1,00,000 \õuõμn¨ 
£[SPÍõP ¤›UP¨£mkÒÍx. 

  {Ö©® £[S JßÖUS ¹.10 •øÚ©zvÀ 25,000 
£[SPøÍ öÁÎ±k ö\´ux. 

  A-15,000  £[SPÒ (EÖv J¨¦Öv–2,500  £[SPÒ) 

  B-7,500  £[SPÒ (EÖv J¨¦Öv–1,000  £[SPÒ) 

  C-2,500  £[SPÒ (EÖv J¨¦Öv–500  £[SPÒ) 

  •Ê öÁÎ±miÀ EÖv J¨¦Öv ÷\º¢x 22,500 
£[SPÒ AÎUP¨£mhÚ. RÌPshÁøÁ 
SÔ¨¤h¨£mh Âsn¨£[PÒ BS®. 

  A-8,000 £[SÒ 

  B-5,000 £[SÒ 

  C-2,000 £[SÒ 

  JÆöÁõ¸ J¨¦Öv¯õÍ›ß ö£õÖ¨¤øÚ²® 
PnUQkP. 
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12. (a) Explain : 

  (i) Redemption of debentures out of capital 

  (ii) Redemption of debentures out of profit. 

  ÂÍUSP. 

  (i) ‰»uÚzvØS öÁÎ÷¯ Phß£zvμzøu «m£x 

  (ii) »õ£zv¼¸¢x Phß £zvμzøu «m£x. 

Or 

 (b) C Ltd issued 1000, 12% debentures of Rs.100 each. 
Give journal entries under two situations.  

  (i) Issued at per and redeemable at par 

  (ii) Issued at a discount of 10% and redeemable at 
a premium of 10%. 

  C ¼m 1000 ¹.100 Ãu® 12% PhÜmk¨ £zvμ® 
öÁÎ°h¨£mhx. •uØSÔ÷£k u¸P. 

  (i) •P©v¨¤À öÁÎ±k ©ØÖ® •P©v¨¤À «m¦ 

  (ii) 10% uÒÐ£i öÁÎ±k ©ØÖ® 10% 
•øÚ©zvÀ «m¦. 

13. (a) X Ltd, had earned Rs.9,00,000 profit on 31.12.2007 
which is appropriated as follows :  

  (i) Rs.75,000 towards debenture redemption fund 

  (ii) 8% preference dividend (tax free) , tax being 
20%  on Rs.9,90,000 

  (iii) 10% ordinary dividend, tax being 20% on 
30,00,000 

  (iv) Rs.1,11,000 to general forward 

  (v) Balance to be carried forward. 

   Prepare profit and loss appropriation a/c. 
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  31.12.2007 X ¼ªöhm ¹.9,00,000 C»õ£® Dmi¯x 

£QºÄ Â£μ[PÒ ¤ßÁ¸©õÖ. 

  (i) Phß £zvμ «m¦ ¹.75,000 

  (ii) 8% •ßÝ›ø© £[Põuõ¯® (Á› CÀ»õ©À 

¹.9,90,000  20% Á›) 

  (iii) 10% \õuõμn £[Põuõ¯® ¹.30,00,000 US 20% 

Á› 

  (iv) ö£õxU Põ¨¥miØS ¹.1,11,000 

  (v) «vz öuõøP C¸¨¦ {ø»U SÔ¨¤ØS öPõska 

ö\À» ÷Ásk®. 

   C»õ£ ©ØÖ® CÇ¨¦ JxURmkU PnUøP 

u¯õ›UPÄ®. 

Or 

 (b) Explain : 

  (i) Prepaid expenses 

  (ii) Outstanding expenses. 

  ÂÍUSP. 

  (i) •ßTmi¯ ö\´u ö\»ÄPÒ 

  (ii) öPõk¨£h ÷Ási¯ ö\»ÄPÒ. 

14. (a) Give a journal entries in the book of purchaser 
under absorption. 

  Dº¨£ø©°À ÂØ£Áº HmiÀ uS¢u SÔ¨÷£kPøÍz 

u¸P. 

Or 
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 (b) The following is the balance sheet of Weak & Co. as 
on 31.3.1999. 

Liabilities Rs. Assets Rs. 

1,00,000 equity 10,00,000 Land  1,00,000

Shares of Rs.10  Machinery 2,30,000

each creditors 1,73,000 Furniture 68,000

  Stock 1,50,000

  Debtors 70,000

  Cash at bank 5,000

  P and L a/c 5,50,000

 11,73,000  11,73,000

  Scheme of capital reduction was : 

  (i) The equity shares to be reduced to Rs.4 per 
share 

  (ii) Machinery to be written down to Rs.1,50,000 

  (iii) Stock to b e revalued at Rs.1,40,000 

  (iv) The provision on debtors for doubtful debts to 
be created Rs.2,000. 

  (v) Land to be revalued at Rs.1,42,000. 

   Pass journal entries to give effect to the above 
arrangement and also prepare reconstruction. 

  ÃU &  ÷PõÂß C¸¨¦{ø» 31.3.1999 ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

1,00,000 \õuõμn 10,00,000 {»® 1,00,000

£VSPÒ ¹.10  C¯¢vμ® 2,30,000

Ãu® PhÜ¢÷uõº 1,73,000 AøÓP»ß 68,000
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ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

  \μUS 1,50,000

  PhÚõÎ 70,000

  Á[Q¾ÒÍ £n® 5,000

  C»õ£ |mh PnUS 5,50,000

 11,73,000  11,73,000

  ‰»uÚ SøÓ¨¦ ¤ßÁ¸©õÖ. 

  (i) J¸ £[Qß ¹.4 Ãu® \õuõμn £[SPÍõP 

SøÓUP¨£mhx. 

  (ii) C¯¢vμ® ¹.1,50,000 BP GÊv¯x 

  (iii) \μUQß ©Ö ©v¨¥k ¹.1,40,000 

  (iv) £Ø£» PhÚõÎPÎÀ I¯UPhß ¹.2,000 BP 

GÊv¯x 

  (v) {»® ©Ö©v¨¥k ¹.1,42,000 BP GÊv¯x 

•uØSÔ¨÷£k u¸P. 

15. (a) The amount due to unsecured creditors Rs.6,00,000. 
The amount available for unsecured creditors before 
charging commission is Rs.2,06,000 6% commission 
is to be paid on the amount paid to unsecured 
creditors. Calculate the liquidators remuneration. 

  ¤øn¯ªÀ»õu PhÜ¢÷uõ¸US ö\¾zu ÷Ási¯ 

öuõøP ¹.6,00,000. PÈøÁ PÈ¨£uØS •ß 

¤øn¯ªÀ»õu PhÜ¢÷uõ¸US ö\¾zu u¯õμõP EÒÍ  

öuõøP ¹.2,06,000. ¤øn¯ªÀ»õu PhÜ¢÷uõ¸US 

ö\¾zv¯ öuõøP°À 6% PÈøÁ ö£Ó Pø»¨£õÍ¸US 

E›ø© Esk. Pø»¨£õÍ›ß Fv¯zøuU PõsP. 

Or 
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 (b) Briefly explain the reasons for winding up of the 
company. 

  {ÖÁÚ P»¨¤ØPõÚ Põμn[PøÍ _¸UP©õP  ÂÁ›. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. S Ltd, issued the public to subscribe 10,000 equity shares 
of Rs.100 each at a premium of Rs.10 per share. Payment 
was to be made as follows : On application Rs.20; on 
allotment Rs.40 (including premium) : On first call Rs.30; 
On final call Rs.20.  

 Application totalled for Rs.13,000 shares , applications for 
2,000 shares were rejected and allotment was made 
proportionately to the remaining applicants. The 
directors made both the calls and all the moneys were 
received except the final call on 300 shares which were  
forfeited. Later 200 of these forfeited shares were issued 
as fully paid @ Rs.85 per share. Journalise these 
transactions including cash transactions. 

 S ¼ªöhm ¹.100 Ãu® 10,000 \õuõμn £[SPøÍ ¹.10 
•øÚ©zvÀ öÁÎ°mhx. 

 Âsn¨£zvß ÷£õx ¹.20 

 JxURmiß ÷£õx ¹.40 (•øÚ©® Em£h) 

 •uÀ AøÇ¨¦ ÷£õx ¹.30 

 CÖv AøÇ¨¦ ÷£õx ¹.20 

 13,000 Âsn¨£[PÒ Á¢u ÷\º¢uÚ. AvÀ 2000 Âsn¨ 
£[SPÒ {μõP›UP¨£mhx. «u•ÒÍ Âsn¨£[PÒ 
JxURk ö\´¯¨£mhx. CÖv  AøÇ¨ø£z uÂμ ©ØÓ 
AøÇ¨¦PÒ  ö£Ó¨£mhx. CÖv AøÇ¨¦ öPmh 
uÁÔ¯uõÀ C¯S|ºPÒ 300 £[øP JÖ¨¤Ç¨¦ ö\´uÚº. 
AvÀ 200 £[øP ¹.85 Ãu® ©ÖöÁÎ±k ö\´uÚº. 
•uØSÔ¨÷£k u¸P. 
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17. U Ltd was incorporated on June 30,2010 to acquire the 
business of Lal and Bros as from January 1, 2010 on the 
basis of the balance sheet dated December 31, 2009. The 
accounts for the year ended December 31, 2010 disclosed 
the following : 

 (a) There was a gross profit of Rs.2,40,000 

 (b) The sales for the year amounted to Rs.12,00,000 of 
which Rs.5,40,000 was for the first six months  

 (c) The expenses debited to profit and loss a/c included 
directors fees Rs.15,000, bad debts Rs.3,600; 
advertising Rs.12,000 (under a contract  amounting  
to Rs.1,000 per month) ; Salaries and general 
expenses Rs.64,000; Preliminary expenses written 
off Rs.5,000; donation to the political party given by 
the company Rs.5,000. 

  Find out the profit made before and after the 
incorporation. 

 U ¼m £vÄ ö\´¯¨£mhx 30.6.2010. 1.1.2010 •uÀ »õÀ 
©ØÖ® ¨÷μõì ¼m Â¯õ£õμzøu GkzxU öPõshx. 
31.12.2009 Bsk •i¯ EÒÍ ÂÁμ[PÎß Ai¨£øh°À 
£vÂØS •ß¦ÒÍ C»õ£® ©ØÖ® £vÂØS 31–12–-2010 
¤ß¦ EÒÍ C»õ£zvøÚU PnUQkP. 

 (A) ö©õzu C»õ£® ¹.2,40,000 

 (B) C¢u Á¸hzvß »õ£® ¹.12,00,000 CvÀ ¹.5,40,000 
©mk® •uÀ BÖ ©õu[PÐUS›¯x. 

 (C) C»õ£ ©ØÖ® |mh PnUQÀ £ØÖ øÁUP Ti¯øÁ. 
C¯US|º Pmhn® ¹.15,000, ÁõμõUPhß ¹.3,600, 
ÂÍ®£μ® ¹.12,000 (J¨£¢u Ai¨£øh°À RÌ, 
JÆöÁõ¸ ©õu•® ¹.1,000)  \®£Í® ©ØÖ® ö£õx 
ö\»ÂÚ[PÒ ¹.64,000 öuõhUPa ö\»ÂÚ[PÒ 
¹.5,000 BP GÊv¯x. {ÖÁÚzvÚõÀ ÁÇ[P Ti¯ 
|ßöPõøh ¹.5,000.  

  Tmk¸ÁõUPzvØS •ßÝ® ¤ßÝ® EÒÍ C»õ£zøu 
PshÔP. 
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18. The following is the trial balance of Adharsh and Co Ltd 
as on 31.3.2003 wit the authorised capital of 72,000 
shares @ Rs.10 each. 

 Debit  Credit 

 Rs.  Rs. 

Cash in hand 900   

Cash at bank 3,55,980   

P/L a/c balance –  17,400 

Creditors –  60,000 

Debenture –  3,60,000 

Share capital (called up) –  5,52,000 

Bills payable –  45,600 

Sales –  4,98,000 

Reserve for bad debts –  4,200 

General reserve –  30,000 

Calls in arrear 9,000   

Wages 92,760   

Land and buildings 3,60,000   

Plant and machinery 4,32,000   

General expenses 20,280   

Salaries 17,400   

Interim dividend paid 9,000   

Furniture 40,000   

Purchases 2,29,880   

 15,67,200  15,67,200 

 Additional information : 

 (a) Outstanding wages Rs.6,000 ; salaries Rs.3,000  

 (b) General expenses include prepaid insurance @ 
Rs.300  
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 (c) Provide depreciation on land and buildings plant 
and machinery and furniture 5%, 10% and 20% 
respectively. 

 (d) Stock on 31.12.2003 amounted to Rs.1,40,000  

 (e) Outstanding interest on debenture Rs.18,000 

 (f) Final dividend paid Rs.21,000. 

  Prepare final accounts. 

 31.12.2003 A[QP›UP¨£mh •u¾hß ¹.10 Ãu® 72,000 
£[SPÒ Buºì ©ØÖ® ÷Põ ¼m ÷\õuøÚ C¸¨¦ 
¤ßÁ¸©õÖ. 

 £ØÖ  ÁμÄ

 ¹.  ¹. 

øP°¸¨¦ öμõUP® 900   

Á[Q°¸¨¦ öμõUP® 3,55,980   

C»õ£ |mh PnUS C¸¨¦ –  17,400 

PhÜ¢÷uõº –  60,000 

PhÜmk¨£zvμ® –  3,60,000 

£[S •uÀ (AøÇ) –  5,52,000 

ö\.©õ.Ãmk –  45,600 

ÂØ£øÚ –  4,98,000 

ÁõμõUPhß Põ¨¦ –  4,200 

ö£õxPõ¨¦ –  30,000 

{¾øÁ¾ÒÍ AøÇ¨¦ 9,000   

T¼ 92,760   

{»® ©ØÖ® Pmih[PÒ 3,60,000   

Bø» ©ØÖ® C¯¢vμ[PÒ 4,32,000   

ö£õx ö\»ÄPÒ 20,280   

\®£Í[Ò 17,400   

CøhPõ» £[Põuõ¯® ö\¾zv¯x 9,000   
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AøÓP»ß 40,000   

öPõÒ•uÀ 2,29,880   

 15,67,200  15,67,200 

 TkuÀ ÂÁμ[PÒ ¤ßÁ¸©õÖ. 

 (A) öPõk¨£h ÷Ási¯ T¼.6,000 ©ØÖ® \®£Í[PÒ 
¹.3,000 

 (B) •ß Tmi¯ Põ¨¥k ¹.300 ö£õx ö\»ÂÀ 
÷\º¢xÒÍx  

 (C) ÷u´©õÚ®. 

  {»® ©ØÖ® Pmih[PÒ «x  5% 

  Bø» ©ØÖ® C¯¢vμ[PÒ «x 10% 

  AøÓP»ß «x 20% 

 (D) CÖva \μUQ¸¨¦ 31.12.2013 ¹.1,40,000 

 (E) PhÜmk¨ £zvμzvß «x öPõk£h ÷Ási¯ Ámi 
¹.18,000 

 (F) CÖv £[Põuõ¯® ö\¾zv¯x ¹.21,000 

  Bsk CÖv PnUSPøÍz u¯õº ö\´. 

19. Distinguish between amalgamation and absorption. 

 Dº¨¦ø© ©ØÖ® øP¯P¨£kzu¾US•ÒÍ ÷ÁÖ£õkPÒ 
¯õøÁ? 

20. A company went in liquidation on 31.3.2008 when the 
following balance sheet was prepared. 

Liabilities Rs. Assets Rs. 
Share capital  Goodwill 60,000
19,500 shares of Rs.10 each 1,95,000 Buildings 48,000

Sundry creditors:  Machinery 65,500
Partly secured   Stock 56,800
(on buildings) 53,310 Sundry debtors 48,820

Unsecured creditors 99,790 Cash 2,500
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Liabilities Rs. Assets Rs. 
Preferential creditors 24,200 Profit and loss a/c 98,680
Bank overdraft 8,000  

 3,80,300  3,80,300

 Assets realised as follows : 

 Rs. 

Building 35,000 

Machinery 51,000 

Stock 39,000 

Debtors 58,500 

Cash 2,500 

 The expenses of liquidation amounted to Rs.1,000. The 
liquidators remuneration  was agreed at 25% on the 
amount realised (including cash) and 2% on the amount 
paid to unsecured creditors. 

 Prepare liquidators final statements of account. 

 31.3,2008 B® Bsk A {ÖÁÚ® Pø»UP¨£mhx. 

¤ßÁ¸ÁÚÁØÔÀ C¸¨¦ {ø» SÔ¨¦ u¯õº ö\´ux. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£[S •uÀ  |Øö£¯º 60,000

19,500 £[SPÒ ¹.10 Ãu® 1,95,000 Pmih[PÒ 48,000

£Ø£» PhÜ¢÷uõº :  C¯¢vμ® 65,500

£Sv ¤øn¯® (Pmih[PÒ) 53,310 \μUQ¸¨¦ 56,800

¤øn¯ªÀ»õ PhÜ¢÷uõºPÒ 99,790 £Ø£» PhÚõÎPÒ 48,820

•ßÝ›ø© PhÜ¢÷uõº 24,200 öμõUP® 2,500

Á[Q ÷©ÀÁøμ¨£ØÖ 8,000 C»õ£ ©ØÖ®  

  |mh PnUS 98,680

 3,80,300  3,80,300
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 ¤ßÁ¸® ö\õzxUPÎß ÂÁμ[PÒ 

 ¹. 

Pmih® 35,000 

C¯¢vμ® 51,000 

\μUS 39,000 

PhÚõÎ 58,500 

öμõUP® 2,500 

  Pø»¨¦a ö\»ÄPÎß öuõøP ¹.1,000. ¤øn¯ªÀ»õ 
PhÜ¢÷uõºUS 2% ©ØÖ® ©õÔ¯ öuõøP°À(öμõUP® 
Em£h) J¨£¢u £i 25% {ÖÁÚU Pø»¨£õÍ¸US 
Fv¯©õP öPõkzux. 

  {ÖÁÚU Pø»¨£õÍ›ß CÖv PnUS £mi¯ø» 
u¯õ›UPÄ®. 

—————— 



  

A–9990   

B.Com.(C.A.) DEGREE EXAMINATION, APRIL 2021 & 

Supplementary/Improvement/Arrear Examinations 

Fifth Semester 

Commerce with Computer Applications 

Elective — COST ACCOUNTING 

(CBCS 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define “Cost Accounting”. 

 “AhUPÂø» PnUQ¯ø»” – Áøμ¯Ö. 

2. What is Fixed cost? 

 {ø»¯õÚa ö\»Ä GßÓõÀ GßÚ? 

3. What is BIN Card? 

 öPõÒP» Amøh GßÓõÀ GßÚ? 

4. What is Perpetual inventory system? 

 {ø» \μUS •øÓ GßÓõÀ GßÚ? 

5. What do you mean by Piece Rate system? 

 xsk Ãu •øÓ £ØÔ }Âº AÔÁx GßÚ? 
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6. Define Equivalent production. 

 EØ£zv \©Ú® – Áøμ¯Ö. 

7. What is meant by allocation of overheads? 

 ÷©Øö\»Ä JxURk GßÓõÀ GßÚ? 

8. Define “Machine hour rate”. 

 “C¯¢vμ ©o ÷|μ®” Áøμ¯Ö. 

9. What is Tender? 

 J¨£¢u ¦ÒÎ GßÓõÀ GßÚ? 

10. What is Work certified? 

 A[RP›UP¨£mh £o GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the various classification of cost and discuss 
each of them in detail. 

  AhUPÂø»°øÚ ÁøP¨£kzxP. Auß 

JÆöÁõßøÓ²® ÂÍUSP. 

Or 

 (b) Calculate the amount of production cost. 

     Rs.  

  Prime cost  – 1,00,000 

  WIP (Opening) – 10,000 

  WIP (Closing) – 5,000 

  Sale of scrap  – 500 

  Production overheads – 10,000 
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  EØ£zv AhUPÂø»ø¯ PõsP : 

      ¹.   

  •ußø©a ö\»Ä – 1,00,000 

  WIP (öuõhUP®) – 10,000 

  WIP (•iÄ) – 5,000 

  PÈÄ ÂØ£øÚ  – 500 

  EØ£zv ÷©Øö\»Ä – 10,000 

12. (a) State the various techniques of inventory control. 

  \μUQ¸¨ø£ Pmk£kzxÁuØPõÚ ÁÈ•øÓPøÍ 

SÔ¨¤kP. 

Or 

 (b) Calculate the Economic Order Quantity. 

  (i) Consumption during the year – 600 units 

  (ii) Order cost Rs.12 per order 

  (iii) Earning cost 20% 

  (iv) Price per unit Rs.20. 

  ]UPÚ Bøn PnUQhÄ® : 

  (i) Bsk ~PºÄ – 600 A»SPÒ 

  (ii) \μUS ÁøP°À AÝ¨£õøn ¹.12 J¸ 

BønUS 

  (iii) HØ¦ AÝ¨£õøn 20% 

  (iv) J¸ A»Qß AhUP® ¹.20. 
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13. (a) What are the two principal system of wage 
payment? 

  Cμsk •ußø©¯õÚ \®£Í •øÓø¯ ÁøP¨£kzxP. 

Or 

 (b) From the following particulars calculate the labour 
cost per man day of 8 hours : 

  (i) Basic salary – 500 

  (ii) Leave salary – 5% of (i) basic salary 

  (iii) Employer’s contribution to State Insurance 5% 
of (i) (ii) and (iii) 

  (iv) Employer’s contribution to P.F. 6% of  
(i) and (ii) 

  (v) Prorata expenditure on amenities to labour – 
Rs.25 per head per month. 

   – Number of working days in a month –  
24 days of 8 hours. 

  RÌPõq® ÂÁμ[PÎ¼¸¢x 8 ©o ÷|μ® öPõsh 

J¸ |õÎØPõÚ T¼°øÚ Põmk® AÔUøP°øÚ 

u¯õ›UP : 

  (i) Ai¨£øh ©õu Fv¯® ¹.500 

  (ii) Âk¨¦ Põ» Fv¯® (i) À 5% 

  (iii) ©õ{» Põ¨¥miØS (ESI) £o¯Î¨£Á›ß 

£[PÎ¨¦ 5% Ãu® – (i) (ii) ©ØÖ® (iii) À 

  (iv) \Põ¯ {vUS £o¯Î¨£Á›ß £[PÎ¨¦  

(i) ©ØÖ® (ii) À 6% 

    (v) £o¯õÍ¸US AÎUP¨£k® Á\v – ©õu® J¸ 

|£¸US ¹.25 J¸ ©õu ÷Áø» ÷|μ® – 

24 |õmPÒ 8 ©o ÷|μ® Ãu®. 
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14. (a) What are the steps involved in overhead 

accounting? 

  ÷©Øö\»ÂÚ PnUQß ÷ÁÖ£mh £i•øÓPÒ ¯õøÁ? 

Or 

 (b) What are the differences between works overhead 

and administration overheads? 

  £o ÷©Øö\»ÂØUS® {ºÁõP ÷©Øö\»ÂØUS® 

Cøh÷¯ EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

15. (a) What is Process account? State its features. 

  ö\´•øÓ PnUS GßÓõÀ GßÚ? ©ØÖ® Auß 

A®\[PøÍU TÖP. 

Or 

 (b) A B Builders accepted a contract for the 

construction of flats. The contract prices was Rs.40 

lakhs. At the end of financial year 2000-2001. The 

company had received Rs.14,40,000 being 45% of 

work certified. Uncertified work was Rs.50,000, 

Other particulars are material used Rs.4,00,000, 

Wages paid Rs.10,00,000. Plant issued Rs.80,000 

material costing Rs.10,000 wear lost, Depreciate 

plant by 12.5%. Prepare contract account. 
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  A B GßÓ {ÖÁÚ® öuõS¨¦U Si°¸¨¦ PmkÁuØUS 

J¸ J¨£¢uzøu HØÖUöPõshx. J¨£¢u Âø» ¹.40 

»m\®, 2000-2001 B® {v Bsiß CÖv°À 

{ÖÁÚ® ö£ØÓ öμõUP® ¹.14,40,000 CzöuõøP 

\õßÔuÈh¨£mh ÷Áø»°À 45% BS®, 

\õßÔuÈh¨£hõu ÷Áø» ©v¨¦ ¹.50,000 ©ØÓ 

ÂÁμ[PÍõÁÚ : ‰»¨ö£õ¸Ò £¯ß£kzu¨£mh 

¹.4,00,000, T¼ ¹.10,00,000. C¯¢vμ® ¹.80,000, 

‰»¨ö£õ¸Ò |mh® ¹.10,000 C¯¢vμzvß 

÷u´©õÚ® 12.5%. J¨£¢u PnUøP u¯õº ö\´P. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Materials : 

 Rs. 

Stock (1.1.2018) 50,000

Purchase 7,50,000

Stock (31.12.2018) 1,00,000

Wages 6,00,000

Direct expenses 3,00,000

Factory on cost 2,00,000

Office on cost 1,00,000

Value of opening stock 5,40,000
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Selling overhead 20 per unit

Selling price 150 per unit

Number of unit produced 19,000 units

Opening stock of finished goods 6,000 units

Closing stock of finished goods 5,000 units

 Prepare cost sheet. 

 ö£õ¸mPÒ : 

 ¹. 

C¸¨¦ (1.1.2018) 50,000

öPõÒ•uÀ 7,50,000

C¸¨¦ (31.12.2018) 1,00,000

T¼ 6,00,000

÷|μi ö\»ÄPÒ 3,00,000

öuõÈØ\õø» ö\»Ä 2,00,000

A¾Á»P ö\»Ä 1,00,000

öuõhUP \μUQ¸¨¦ ©v¨¦ 5,40,000

 

ÂØ£øÚ ÷©Øö\»Ä 20 (per unit) J¸ A»S

ÂØ£øÚ ö\»Ä 150 J¸ A»S

EØ£zv ö\´¯¨£mh A»SPÎß 

GsoUøP 19,000 A»SPÒ

•iUP¨£mh ö£õ¸mPÎß öuõhUP 

£[S 6,000 A»SPÒ

•iUP¨£mh ö£õ¸mPÎß CÖv £[S 5,000 A»SPÒ

 AhUP Âø» uõÒ JßøÓ u¯õºö\´P. 
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17. From the following information show the Stores ledger 
account on average method 

 2018  
 March 1 Opening stock 500 kg @ Rs.8.00 each 

   2 Purchased 250 kg @ Rs.9.00 each 

   10 Purchased 500 kg @ Rs.8.50 each 

   15 Purchased 400 kg @ Rs.10.00 each  

   18 Purchased 200 kg @ Rs.11.00 each  

 Issue the manufacturing department are as follows : 

 2018  
 March 3 Issued 300 kg  

   5 Issued 200 kg 

   12 Issued 400 kg   

   16 Issued 550 kg 

   25 Issued 200 kg 

 On 15.03.2018 stock verification reveals a shortage of  
10 kg. All the end of the month, stock verification 
revealed that there is a surplus of 2 kg. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x £shP ÷£÷μmkU PnUøP 

\μõ\› •øÓ°À PõmkP. 

 2018  
 ©õºa  1 öuõhUP \μUQ¸¨¦ 500 Q.Q. ¹.8.00 Ãu® 

   2 öPõÒ•uÀ 250 Q.Q. ¹.9.00 Ãu® 

   10 öPõÒ•uÀ 500 Q.Q. ¹.8.50 Ãu® 

   15 öPõÒ•uÀ 400 Q.Q. ¹.10.00 Ãu®  

   18 öPõÒ•uÀ 200 Q.Q. ¹.11.00 Ãu®  
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 EØ£zv xøÓUS \μUSPÒ ÁÇ[P¨£mh ÂÁμ® ¤ßÁ¸©õÖ 
: 

 2018  
 ©õºa  3 ÁÇ[Q¯x 300 Q.Q. 

   5 ÁÇ[Q¯x 200 Q.Q. 

   12 ÁÇ[Q¯x 400 Q.Q.   

   16 ÁÇ[Q¯x 550 Q.Q. 

   25 ÁÇ[Q¯x 200 Q.Q. 

 15.03.2018 AßÖ |øhö£ØÓ \μUQ¸¨¦ ÷\õuøÚ°ß ÷£õx 

10 Q.Q. SøÓÁõP C¸¢ux Psk¤iUP¨£mhx. ©õu 

CÖv°À \μUQ¸¨¦ ÷\õuøÚ°ß ÷£õx 2 Q.Q. AvP©õP 

C¸¨£x öu›¯ Á¢ux. 

18. Standard time : 22 hours 

 Factory overhead is 80% of standard time 

 Time taken to employee the task 12 hours  

 Wages Rs.6 per hour 

 Calculate the remuneration under Halsey and Rowan 
scheme and prepare a comparative statement showing 
which method benefits to the owners. 

 {ø»¯õÚ ÷|μ® : 22 ©o ÷|μ® 

 öuõÈØ\õø» ÷©À{ø» ö\»Ä {ø»¯õÚ ÷|μzvÀ  

80% BS® 

 £o •iUP 12 ©o ÷|μ® BÚx 

 T¼ ©oUS ¹.6 BS®. 

 íõÀ÷\ ©ØÖ® ÷μõÁõß vmhzvß RÌ Fv¯® PnUQmk 
E›ø©¯õÍ¸US £¯ÚÎUS® vmhzøu Põmk® J¸ 
J¨¥mk AÔUøP u¯õº ö\´P. 
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19. Define overhead, What are the bases of apportionment of 
overhead? 

 ÷©Øö\»Ä Áøμ¯Ö ©ØÖ® ÷©Øö\»ÂøÚ £QºÄ ö\´²® 
Ai¨£øhPÒ TÖPÒ ¯õøÁ? 

20.  What is Contract? How will you calculate the profit of 
incomplete contract? 

 J¨£¢u® GßÓõÀ GßÚ? •Êø© ö£Óõu J¨£¢uzvß 
C»õ£zøu G¨£i }Âº PnUQkÁõ´? 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Comparison C++, Java. 

 C++, Java J¨¥k ö\´P. 

2. Give the expansions for JDK and JVM. 

 JDK ©ØÖ® JVM –US Â›ÁõUP® GÊxP. 

3. What is meant by variables? 

 ©õÔPÒ Gß£uß ö£õ¸Ò GßÚ? 

4. Define Arrays. 

 AoPÒ Áøμ¯Ö. 

5. What do you mean by object? 

 C»US Gß£uß ö£õ¸Ò GßÚ? 

6. What is inheritance? 

 ©μ¦›©® GßÓõÀ GßÚ? 
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7. Define Thread. 

 ¦› Gß£uøÚ Áøμ¯Ö. 

8. What is interface? 

 Cøh•P® GßÓõÀ GßÚ? 

9. What is Applet Tag? 

 Applet Tag GßÓõÀ GßÚ? 

10. Define PIXEL in graphics. 

 Graphics–À PIXEL Gß£øu Áøμ¯Ö. 

 Part B (5 × 5 = 25) 

Answer all questions. 

11. (a) Write a note on WWW. 

   E»PÍõÂ¯ Áø» £ØÔ SÔ¨¦ ÁøμP. 

Or 

 (b) Explain Encapsulation in Java. 

   Java–ÂÀ EøÓö£õv¯õUP® £ØÔ ÂÁ›UPÄ®. 

12. (a) Explain the usage of if-else with example. 

   If-else ß £¯ß£õkPøÍ GkzxUPõmkPÐhß B´P. 

Or 

 (b) Explain operators and expressions. 

   ö\¯ØSÔPÒ ©ØÖ® öuõhºPÒ £ØÔ ÂÁ›UPÄ®. 

13. (a) Write a short notes on objects and classes. 

   objects ©ØÖ® classes–I £ØÔ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) Explain the various methods of overriding. 

   Overriding £À÷ÁÖ •øÓPøÍ ÂÁ›. 
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14. (a) Explain package with an example. 

   Package – I £ØÔ GkzxUPõmkhß ÂÁ›. 

Or 

 (b) Explain about multiple catch statements. 
   £»£i ö\¯ØTÖ £ØÔ ÂÁ›. 

15. (a) Write short notes on Applet life cycle. 

   Applet ÁõÌUøPa _ÇØ] £ØÔ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) How to draw lines and rectangle using graphics 
class? 

   Qμõ¤Uì ÁºUPzvøÚ £¯ß£kzv ÷PõkPÒ ©ØÖ® 
ö\ÆÁP[PøÍ GÆÁõÖ ÁøμÁõ´. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Briefly discuss H/W and S/W requirements. 
 Áß ö£õ¸Ò ©ØÖ® ö©ßö£õ¸Ò ÷uøÁPÒ SÔzx 

ÂÁ›UPÄ®. 

17. Describe loop and its types. 

 Loop ©ØÖ® Auß ÁøPPÒ SÔzx ÂÁ›UPÄ®. 

18. Write a java program to explain the concept of hybrid 
inheritance. 

Java {μ¼À Hybrid inheritance –ß uzxÁzøu 
GkzxUPõmkPÐhß ÂÍUQ GÊxP. 

19. Discuss the thread synchronization with example. 

 Thread synchronization–I Euõμn[PÐhß ÂÁõvUP. 

20. How to design and create a web page. 
 Cøn¯uÍ Áøμ¨£UPzøu GÆÁõÖ  E¸ÁõUSÁõ´. 

 

 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is HUF? 

 C¢v¯ Tmk Sk®£® GßÓõÀ GßÚ? 

2. How do you ascertain the tax liability of an individual 
assessee? 

J¸ uÛ |£›ß Á›a ö£õÖ¨ø£ GÆÁõÖ 
EÖv¨£kzxÁx? 

3. Write short note on constitution of Tribunal. 

 wº¨£õ¯zøu E¸ÁõUSuÀ SÔzx ]Ö SÔ¨¦ ÁøμP. 

4. List out the four advantages of direct taxes. 

 ÷|μi Á›°ß H÷uÝ® |õßS ußø©PøÍ £mi¯¼kP. 

5. Write a short note on loss from race horses. 

 £¢øu¯ SvøμPÎhª¸¢x HØ£k® CÇ¨¦ SÔzx J¸ 
]ÖSÔ¨¦ ÁøμP. 
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6. What are 'no limit donations'? 

 ‘‘Áμ®£ØÓ |ßöPõøhPÒ’’ GßÓõÀ GßÚ? 

7. What is Best Judgement Assessment? 

 ]Ó¢u wº¨¦ ©v¨¥k GßÓõÀ GßÚ? 

8. What is regular assessment? 

 ÁÇUP©õÚ ©v¨¥k GßÓõÀ GßÚ? 

9. What is meant by Advance Payment of Tax? 

 •ßTmi÷¯ Á› ö\¾zxuÀ GßÓõÀ GßÚ? 

10. What do you mean by 'Tax deducted at source'? 

 ‘‘‰»zvÀ Á› PÈzuÀ’’ Gß£uß GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all the questions. 

11. (a) Compute the total income of Mr. Ram from the 

particulars given below : 

   (i) Interest on securities Rs. 27,000 

   (ii) Rental value of a house Rs. 7,500 p.m.: Self 

acquired but transferred to HUF common pool. 

Income from this house (computed) is  

Rs. 25,000. 

   (iii) Share from firm in which he has 1/3rd share 

Rs. 45,000 

   (iv) Commission received by his wife from such 

firm for acting as its selling agent Rs. 25,000. 
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   R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x  
v¸. μõªß ö©õzu Á¸©õÚzøu PnUQkP. 

   (i) £zvμ[PÐUPõÚ Ámi ¹. 27,000 
   (ii) J¸ Ãmiß ÁõhøP ©v¨¦ ¹. 7,500 

©õuzvØS. _¯©õP Áõ[Q¯x BÚõÀ HUF US 
ö£õxÁõÚuõP ©õØÓ¨£mhx. C¢u Ãmi¼¸¢x 
Á¸©õÚ® (PnUQh¨£mhx)  
¹.  25,000. 

   (iii) J¸ {ÖÁÚzv¼¸¢x 1/3 Áx £[S £Qº¢x 
Á¢ux ¹. 45,000 

   (iv) AzuøP¯ {ÖÁÚzvhª¸¢x AÁμx 
©øÚÂUS Auß ÂØ£øÚ •PÁμõP 
£o¯õØÔ¯uõÀ ö£Ó¨£mh PÈÄ ¹. 25,000 
BS®. 

Or 

 (b) The P and L A/c of a firm shown a profit of  
Rs. 20,000 after debit the following items : 

 Rs. 

Income tax paid 20,000

Travelling expenses (Business) 50,000

Penalty and fees 10,000

Sales tax 50,000

Remuneration to partners 80,000

  Compute the taxable profit. 
   J¸ {ÖÁÚzvß C»õ£ |mh PnUS ¤ßÁ¸® 

Â£μ[PøÍ AÈzu ¤ß¦ ¹. 20,000 »õ£zøu 
Põmi¯øÁ. 

 ¹. 

Á¸©õÚ Á› ö\¾zv¯x 20,000
£¯n ö\»ÄPÒ (ÁoP®) 50,000
A£μõu® ©ØÖ® Pmhn® 10,000
ÂØ£øÚ Á› 50,000
TmhõÎPÐUS ÁÇ[Q¯ Fv¯® 80,000

  Á› ö\¾zuUTi¯ C»õ£zøu PnUQkP. 
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12. (a) Describe the procedure for search and seizure by the 
Income Tax Authorities. 

   Á¸©õÚ Á› AvPõ›PÍõÀ ÷uh ©ØÖ® £Ô•uÀ 
ö\´ÁuØPõÚ |øh•øÓ Âvø¯ ÂÁ›UPÄ®. 

Or 

 (b) What is the 'Power of Survey' of income tax 
authorities?  

   Á¸©õÚ Á› AvPõ›PÎß ‘‘PnUöPk¨¦ \Uv’’ 
GßÓõÀ GßÚ? 

13. (a) The following are the particulars of income or loss of 
Mr. A. you are required to set-off losses and carry 
forward and set-off where necessary. 

 AY.2018-19 AY.2019-20

Income from salary 15,000 15,000

Income from interest on securities 5,000 5,000

Loss from business 53,000 15,000

Short term capital gain 8,000 –

Long term capital gain from land 21,000 –

   v¸. ‘‘A’’ Cß Á¸©õÚ® ©ØÖ® |mh® £ØÔ¯ 
ÂÁμ[PÒ ¤ßÁ¸©õÖ. }[PÒ |mh[PøÍ DköPmh 
©ØÖ® ÷uøÁ¯õÚ Ch[PÎÀ Akzu BskUS 
Gkzx ö\À» ÷Ásk®. 

 ©v¨¥k Bsk
2018-19 

©v¨¥k Bsk 
2019-20 

\®£Ízv¼¸¢x Á¸©õÚ® 15,000 15,000
£zvμ[PÎß Ámi Á¸©õÚ® 5,000 5,000
ÁoPzv¼¸¢x |mh® 53,000 15,000
SÖQ¯ Põ» ‰»uÚ Buõ¯® 8,000 –
{»zv¼¸¢x }shPõ» ‰»uÚ Buõ¯® 21,000 –

Or 
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 (b) Mr. Nereka’s previous year’s gross total income is 
Rs. 4,50,000. He has made the following donations. 
Calculate his net income. 

   (i) Jawaharlal Nehru Memorial Fund Rs. 12,000 

   (ii) Rajiv Gandhi Foundation Rs. 8,000 

   (iii) Africa Fund Rs. 15,000 

   (iv) Indira Gandhi Memorial Fund Rs. 14,000. 
   v¸. ö|öμPõÂß •¢øu¯ Bsiß ö©õzu 

Á¸©õÚ® ¹. 4,50,000 BS®. AÁº ¤ßÁ¸® 
|ßöPõøhPøÍ ÁÇ[Q²ÒÍõº. AÁμx {Pμ 
Á¸©õÚzøu PnUQkP. 

   (i) áÁíº»õÀ ÷|¸ {øÚÄ ¹. 12,000 

   (ii) μõãÆ Põ¢v AÓUPmhøÍ ¹. 8,000 

   (iii) B¨¤›UPõ {v ¹. 15,000 

   (iv) C¢vμõ Põ¢v {øÚÄ {v ¹. 14,000. 

14. (a) List out due date of filing of return. 
   Á¸Áõ´ uõUPÀ ö\´¯ ÷Ási¯ ÷uvPøÍ 

£mi¯¼kP. 

Or 

 (b) What are the provisions as to rectification of 
mistakes? 

   uÁÖPøÍ \›ö\´ÁuØPõÚ ÂvPÒ ¯õøÁ? 

15. (a) Explain the procedure for making claim for refund. 
   £nzøuz v¸®£¨ ö£ÖÁuØPõÚ ÁÈ•øÓPøÍ 

ÂÍUS[PÒ. 

Or 

 (b) Briefly explain ‘Deduction of Tax at Source’ under 
the Income Act 1961. 

   Á¸©õÚ Á›a\mh® 1961 Cß RÌ ‘‘‰»zvÀ Á› 
PÈzuÀ’’ Gß£øu _¸UP©õP ÂÍUS[PÒ. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Ashwani company Pvt. Ltd. furnish the following 
information : 

 Interest on securities (computed) 10,000 

 Income from House property (computed) 20,000 

 (a) Textile manufacturing : 

   Profit as per P & L account before depreciation 2,00,000 

   Depreciation   95,000 

 (b) Hosiery manufacturing : 

   Profit as per P&L account before depreciation 75,000 

   Depreciation                                              18,000 

  Agency business loss brought  

   forward from 2017-18          15,000 

  Income from other sources                                25,000 

  Book profits u/s 115 JB                             Rs. 7,00,000 

  Compute the total income and tax liability under 
MAT for the AY 2019-20. 

 AìÁÛ P®ö£Û ¤øμ÷Ám ¼ªöhm ¤ßÁ¸® 
uPÁÀPøÍ AÎUQÓx.  

 £zvμ[PÎß «uõÚ Ámi (PnUQh¨£mhx) ¹. 10,000.  

 Ãmk ö\õzvß «uõÚ Á¸©õÚ® (PnUQh¨£mhx)  

¹. 20,000. 

 (A) áÄÎ EØ£zv : 

   ÷u´©õÚzvØS •ß C»õ£ |mh   

  PnUQß £i   ¹. 2,00,000 

   ÷u´©õÚ®    ¹. 95,000 
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 (B) EÒÍõøh EØ£zv : 

   ÷u´©õÚzvØS •ß C»õ£ |mh PnUQß £i  

¹. 75,000 

   ÷u´©õÚ® ¹. 18,000 

   Höáß] ÁoP |mh® 2017–18 •uÀ öPõsk 

Áμ¨£mhx ¹. 15,000 

   ¤Ó ‰»[PÎ¼¸¢x Á¸©õÚ® ¹. 25,000 

   ¦zuP C»õ£® u/s 115 JB  ¹. 7,00,000 

   ©v¨¥mk Bsk 2019–2020 UPõÚ MAT Cß RÌ 
ö©õzu Á¸©õÚ® ©ØÖ® Á›ø¯ PnUQkP. 

17. Describe the functions of the Central Board of Direct 
Taxes. 

©zv¯ ÷|μi Á› Áõ›¯zvß £oPøÍ ÂÁ›UPÄ®. 

18. During the previous year 2018-19 Mr. Shyam has the 
following incomes and expenditure : 

 Rs. 

Income from business                              6,80,000

Capital gains                                      14,000

Winning from camel race                           1,700

Winning from horse race                           2,000

Winning from lottery                               1,600

Income from other sources                         10,000

Payment of medical insurance premium  30,000

Contribution to public provident fund      70,000

Payment made for sons school fee             90,000

 Compute his total income.               



A–9663 

  

  8

 •¢øu¯ BsiÀ 2018–19 v¸. ç¯õ® ¤ßÁ¸® 
¤ßÁ¸® Á¸©õÚ[PøÍ²® ö\»ÄPøÍ²® 
öPõskÒÍõº. 

 ¹. 

ÁoPzv¼¸¢x Á¸©õÚ® 6,80,000

‰»uÚ ÁμÄPÒ 14,000

£¢øu¯ JmhP[PÒ ‰»® öÁØÔ ö£ØÓx 1,700

£¢øu¯ SvøμPÒ ‰»® öÁØÔ ö£ØÓx 2,000

»õmh›°¼¸¢x öÁØÔ ö£ØÓx 1,600

¤Ó ‰»[PÎ¼¸¢x Á¸©õÚ® 10,000

©¸zxÁ Põ¨¥mk ¥›ª¯® ö\¾zv¯x 30,000

ö£õx Á¸[Põ» øÁ¨¦ {vUS £[PÎ¨¦ 70,000

©PßPÎß £ÒÎ PmhnzvØPõÚ Pmhn® 90,000

 AÁ¸øh¯ ö©õzu Á¸©õÚzøu PnUQkP. 

19. Explain the various types of assessment. 

 £À÷ÁÖ ÁøP¯õÚ ©v¨¥møh ÂÍUS[PÒ. 

20. Explain the provisions in I.T. Act 1961 regarding T.D.S. 
from Interest on securities.  

Á¸©õÚ Á›a\mh® 1961 ß £i £zvμ[PÒ «uõÚ 
Ámi°¼¸¢x PÈUS® ‰» Á¸©õÚ Á›°ß ÂvPøÍ 
ÂÍUSP. 

 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions.  

1. Write a note on 'Non-performing Assets'. 
SÔ¨¦ GÊxP "ö\¯À£hõu ö\õzx'. 

2. What do understand by 'Contingent Liabilities'? 
{PÌÁøh¯õ ö£õÖ¨¦PÎ¼¸¢x }Âº ¦›¢x öPõÒÁx 
GßÚ? 

3. What is meant by 'Annuity'? 
Bskz öuõøP GßÓõÀ GßÚ? 

4. Write the meaning of 'Surrender Value'. 
J¨£øhzuÀ ©v¨¦ & ö£õ¸Ò u¸P. 

5. Mention any two characteristic features of double account 
system. 
Cμmøh PnUS •øÓ°ß ]Ó¨¤¯À¦ A®\[PÎÀ 
H÷uÝ® CμsiøÚ SÔ¨¤kP. 

Sub. Code 
4BCC6C3 
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6. Mention any two limitations of double account system. 
 Cμmøh PnUS •øÓ°ß H÷uÝ® Cμsk Áμ®¦PøÍ 

SÔ¨¤kP. 

7. Give the meaning of 'Subsidiary Company'. 
xøn {ÖÁÚzvß ö£õ¸Ò u¸P. 

8. Write a note on 'Minority Interest'. 
SÔ¨¦ ÁøμP "]Ö£õßø© Ámi'. 

9. What is average profit? 
\μõ\› C»õ£® GßÓõÀ GßÚ? 

10. Define ‘Goodwill’. 
C»UPn® "|Øö£¯º'. 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Explain the various schedules to be prepared by a 
Commercial Bank. 

  ÁoP Á[Q¯õÀ u¯õ›UP¨£h ÷Ási¯ £À÷ÁÖ 
AmhÁønPøÍ ÂÍUSP. 

Or 

 (b) From the following information, find out the 
amount of provision to be shown in the profit and 
loss account of a Commercial Bank. 

Assets: Rs. in lakhs
Standard  8,000 
Sub-standard 6,000 
Doubtful:  
For one year 1,000 
For three year 1,600 
For more than three year 400 
Loss Assets 1,200 
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  ¤ßÁ¸® uPÁÀPÎ¼¸¢x, J¸ ÁoP Á[Q°ß 
C»õ£ |mh PnUQÀ Põs¤UP ÷Ási¯ JxURmøh 
Psk¤i. 
ö\õzxPÒ öuõøP (C»m\zvÀ) 
{ø»¯õÚ 8,000  
xøn&{ø» 6,000  
\¢÷uPzvØS›¯   
J¸ Á¸h® 1,000  
‰ßÖ Á¸h® 1,600  
‰ßÖ Á¸hzvØS ÷©À 400  
CÇ¨¦ ö\õzxUPÒ 1,200  

12. (a) Distinguish between Life Insurance and General 
Insurance. 

  B²Ò Põ¨¥miØS® ©ØÖ® ö£õx Põ¨¥miØS® 
EÒÍ ÷ÁÖ£õkPøÍ TÖP. 

Or 

 (b) Calculate the amount of benefits paid (net) to be 
derived in schedule 4 of a life insurance company. 

  Claims paid - Rs.1,97,000 
  Claims outstanding at the end of the year - 

Rs. 10,000 
  Claims outstanding at the beginning of the year - 

Rs.7,000 
  Re-insurance recoveries - Rs.80,000 
  Annuities paid - Rs.10,000. 
  Surrenders paid - Rs.7,000 
  B²Ò Põ¨¥mk {ÖÁÚzvß 4&Áx AmhÁøn°À 

ö£Ó¨£h ÷Ási¯ \¾øPPÎß ({Pμ) AÍøÁ 
PnUQkP: 

  E›ø© ÷PõμÀPÒ & ¹.1,97,000 
  Bsiß CÖv°À {¾øÁ°À EÒÍ E›ø© 

÷PõμÀPÒ & ¹.10,000 
  Bsiß öuõhUPzvÀ {¾øÁ°À EÒÍ E›ø© 

÷PõμÀPÒ & ¹.7,000 
  ©Ö Põ¨¥k «möhk¨¦PÒ & ¹.80,000 
  ö\¾zu¨£mh Á¸hõ¢vμ[PÒ & ¹.10,000 
  J¨£øhÄ ö\¾zv¯x & ¹.7,000. 
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13. (a) The Southern Railways built a station 20 years ago 
at a cost of Rs.40,000. Owning to increase in the 
cost of labour and materials, a similar station would 
now cost Rs.60,000. The station having proved 
inadequate for the increase traffic, is rebuilt at a 
cost of Rs.1,40,000. Old materials to the value of 
Rs.4,000 are utilised in the new contruction and 
include in the above cost. The remaining old 
materials are sold for Rs.6,000. Apportion the new 
expenditure between Capital and Revenue. 

  öuØS μ°À÷Á 20 BskPÐUS •ß¦ J¸ 
{ø»¯zøu ¹.40,000 ö\»ÂÀ PmiÚº. öuõÈ»õÍº 
©ØÖ® ö£õ¸mPÎß Âø» AvP›¨£õÀ, C÷u 
÷£õßÓ {ø»¯zøu C¨÷£õx Aø©¨£uØS 
¹.60,000 ö\»ÁõS®. ÷£õUSÁμzx AvP›¨£uØS 
C¢u {ø»¯® ÷£õx©õÚuõP CÀø» GßÖ 
{¹¤UP¨£mhuõÀ ¹.1,40,000, £øÇ¯ ö£õ¸mPÒ 
¹.4,000 ¦v¯ Pmk©õÚzvÀ £¯ß£kzu¨£kQßÓÚ 
©ØÖ® ÷©ØPsh ö\»ÂÀ ÷\ºUP¨£mkÒÍÚ. 
«u•ÒÍ £øÇ¯ ö£õ¸mPÒ ¹.6,000. ‰»uÚzvØS® 
Á¸Áõ´US® Cøh°»õÚ ¦v¯ ö\»øÁ¨ 
¤›UPÄ®. 

Or 

 (b) The Poineer Gas Co. rebuilt and re-equipped part of 
their works at a cost of Rs.15,00,000. The part of the 
old works thus supreseded cost Rs.9,00,000. 
Rs.60,000 is realised by the sale of old materials 
and old materials valued Rs.2,000 are used in the 
reconstruction and included in the cost of 
Rs.15,00,000 mentioned above.  

  The cost of labour and materials is 20% higher now 
than when the old works were constructed.  

  Give the journal entries and show your workings. 
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  £¯Üº G›Áõ² {ÖÁÚ® u[PÒ £øh¨¦PÎß J¸ 

£Sv ÷Áø»ø¯ ¹.15,00,000 ö\»ÂÀ ö\´ux. J¸ 

£Sv £øÇ¯ ÷Áø»°ß ©v¨¦ ¹.9,00,000. 

¹.60,000 £øÇ¯ ö£õ¸mPÒ ÂØÖ ö£ØÓx ©ØÖ® 

£øÇ¯ ö£õ¸mPÎß ©v¨¦ ¹.2,000 ¦Úμø©¨¤À 

£¯ß£kzu¨£mk ©ØÖ® ¹.15,00,000 ©v¨¦ 

÷\º¢v¸UQÓx GßÖ ÷©÷» ö\õÀ»¨£mi¸UQÓx. 

  öuõÈ»õÍº ©ØÖ® ö£õ¸mPÎß Âø» £øÇ¯ 

£øh¨¦PÒ Pmh¨£mh Põ»zøu Âh C¨÷£õx 20% 

AvP®. 

  SÔ¨÷£mk £vÄ u¸P ©ØÖ® PnURkPøÍ 

Põs¤UP. 

14. (a) X Ltd. purchased 60% shares of Y Ltd. on 1.1.02 

when the balance on their P & L A/c and General 

Reserve were Rs.1,50,000 and Rs.1,60,000 

respectively. On 31.12.02, the Balance Sheet of Y 

Ltd. showed P & L A/c. balance of Rs.4,00,000 and 

General Reserve Rs.3,00,000. Calculate Capital 

Profit and Revenue Profit. 

  X ¼ªöhm Y ¼ªöhm & ß 60% £[SPøÍ 1.1.02 

AßÖ Áõ[Q¯x. AÁØÔß C»õ£ |mh PnUS 

©ØÖ® ö£õxU Põ¨¦ BQ¯ÁØÔß C¸¨¦ •øÓ÷¯ 

¹.1,50,000 ©ØÖ® ¹.1,60,000. 31.12.02 AßÖ 

Y ¼ªöhm C¸¨¦ {ø»U SÔ¨¤À C»õ£ |mh 

PnUS ©ØÖ® ö£õxU Põ¨¦ ¹.4,00,000 ©ØÖ® 

3,00,000 Põs¤UQÓx. ‰»uÚ C»õ£zøu²® ©ØÖ® 

Á¸Áõ´ C»õ£zøu²® PnUQkP. 

Or 
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 (b) Calculate Minority Interest from Balance Sheet of 
Mumbai Ltd. 

Balance Sheet of Mumbai Ltd. as on 31.12.1997 

Liabilities Rs. Assets Rs. 

Share capital: 7,00,000 
shares of Rs.2 each 

14,00,000 Sundry Assets 10,00,000

General Reserve on 1.1.97 6,00,000 
Plant and 
Machinery 

7,00,000

Creditors 3,00,000 Other assets 1,50,000

P&L A/c. as on 31.12.97 2,00,000 
Investment (80% of 
shares) 

6,50,000

 25,00,000  25,00,000

  Madras Ltd. acquired 80% of the shares of 
Rs.6,50,000. 

  •®ø£ ¼ªöhm&ß C¸¨¦ {ø»U SÔ¨¤¼¸¢x 
]Ö£õßø© Ámiø¯ PnUQkP. 

•®ø£ ¼ªöhm&ß 31.12.97 AßøÓ¯ C¸¨¦ {ø» SÔ¨¦ 

ö£õÖ¨¦PÒ öuõøP ö\õzxPÒ öuõøP 

£[S •uÀ : 7,00,000 
£[SPÒ ©v¨¦ ¹. 2 ©mk® 

14,00,000 £Ø£» ö\õzxPÒ 10,00,000

ö£õxU Põ¨¦PÒ 6,00,000 
Bø» ©ØÖ® 
C¯¢vμ[PÒ 7,00,000

PhÜ¢÷uõº 3,00,000 Cuμ ö\õzxPÒ 1,50,000

C»õ£ |mh PnUS 

31.12.97&ß£i 2,00,000 
•u½kPÒ (80% 
£[SPÒ) 

6,50,000

 25,00,000  25,00,000

  ö©mμõì ¼ªöhm 80% £[Qß ©v¨¦ ¹.6,50,000&I 
GkzxU öPõshx. 
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15. (a) From the following information calculate the value 
of goodwill on the basis of 3 years purchase of super 
profit. 

  (i) Average capital employed in the business is 
Rs.20,000. 

  (ii) Rate of interest expected from capital having 
regard to the risk involved is 10%. 

  (iii) Net trading profits of the firm for the past 
three years were Rs.3,50,400; Rs.2,80,300 and 
Rs.3,10,100. 

  (iv) Fair remuneration to the partners for their 
services is Rs.48,000 per annum. 

  (v) Sundry assets of the firm are Rs.23,50,400 and 
current liabilities are Rs.95,110. 

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x, E¯º C»õ£zøu 3 
BskPÒ Áõ[Q¯uß Ai¨£øh°À |Øö£¯º 
©v¨ø£U PnUQkP. 

  (i) Â¯õ£õμzvÀ £¯ß£kzu¨£k® \μõ\› 
‰»uÚ® ¹.20,00,000. 

  (ii) \®©¢u¨£mh A£õ¯zøuU P¸zvÀ öPõsk 
‰»uÚzv¼¸¢x Gvº£õºUP¨£k® ÁmiÂQu® 
10% BS®. 

  (iii) Ph¢u ‰ßÖ BskPÎÀ {ÖÁÚzvß {Pμ 
Â¯õ£õμ C»õ£® ¹.3,50,400, 2,80,300 ©ØÖ® 
3,10,100. 

  (iv) TmhõÎPÎß ÷\øÁPÐUPõÚ Fv¯® 
BskUS ¹.48,000. 

  (v) {ÖÁÚzvß £Ø£» ö\õzxUPÒ ¹.23,50,400 
©ØÖ® |h¨¦ ö£õÖ¨¦PÒ ¹.95,100. 

Or 
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 (b) The following is the Balance Sheet of NSC Ltd. as 
on 31.12.98. 

Liabilities Rs. Assets Rs. 

4,000, 10% preference   Sundry Assets   

shares of Rs.10 each 4,00,000 at book value 12,00,000 

60,000 equity     

shares of Rs.10 each 6,00,000   

Bills payable 50,000   

Creditors 1,50,000   

 12,00,000  12,00,000 

  The market value of 60% of the assets is estimated 
to be 15% more than the book value and that of the 
remaining 40% at 10% less than the book value. 
There is an unrecorded liability of Rs.10,000. 

  Find the value of each equity share (it is to be 
assumed that preference shares have no prior claim 
as to payment of dividend or repayment of capital) 

  31.12.98 ÷uv°ß£i ¼ªöhm C¸¨¦{ø» SÔ¨¦ 
¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ öuõøP ö\õzxPÒ öuõøP 

4,000, 10% •ßÝ›ø©   £Ø£» ö\õzxPÒ   

£[SPÒ u»õ ¹. 10  4,00,000 ¦zuP ©v¨¤À 12,00,000 

60,000 DSmi £[SPÒ    

u»õ ¹.10  6,00,000   
ö\¾zxuØS›¯ ©õØÖ^mk 50,000   
PhÜ¢÷uõº 1,50,000   

 12,00,000  12,00,000 

  60% ö\õzxUPÎß \¢øu ©v¨¦ ¦zuP ©v¨ø£ Âh 
15% AvP©õPÄ®, 40% ¦zuP ©v¨ø£ Âh 10% 
SøÓÁõPÄ® ©v¨¤h¨£kQÓx. £vÄ ö\´¯¨£hõu 
ö£õÖ¨¦ ¹.10,000. JÆöÁõ¸ DSmi £[SPÎß 
©v¨ø£U Psk¤i. (£[Põuõ¯® ö\¾zxuÀ AÀ»x 
‰»uÚzøu v¸¨¤ ö\¾zxuÀ BQ¯ÁØÖUS 
•ßÝ›ø© £[SUS •ßÝ›ø© CÀø» GßÖ P¸u 
÷Ásk®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 
16. From the following information, prepare profit and loss 

account of Swadesh Bank Ltd., for the year ended 
31st December 1987.  
 Rs.('000)
Interest on fixed deposits 430 
Interest on loans 650 
Discount on bills discounted 415 
Interest on overdraft 210 
Interest on cash credits 410 
Interest on savings bank deposits 125 
Salaries and allowances 140 
Rent, taxes and insurance and lighting 40 
Locker rent 5 
Repairs to bank property 2 
Commission, exchange and brokerage 24 
Director's fees and allowance 25 
Transfer fees 2 
Provident fund contribution 12 
Local committee fees and allowances 10 
Audit fees 12 
Printing and stationery 4 
Loss on sale of Government securities 5 
Loss on sale of furniture 2 
Depreciation 10 
Advertisement 4 
Legal charges 2 
Postage and telegrams 2 

 Additional information: 
 (a) Rebate on bills discounted on 31st December 1986 - 

Rs.19,000. 
 (b) Rebate on bills discounted on 31st December 1987 - 

Rs.26,000. 
 (c) Bad debts to be written off Rs.40,000. 
 (d) Provide for taxation Rs.50,000 
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 ¤ßÁ¸® uPÁÀPÎ¼¸¢x 31.12.1987 Ehß •iÁøh²® 
BsiØPõÚ, _÷uè Á[Q°ß ¼ªöhm {ÖÁÚzvß 
C»õ£ |mh PnUøPz u¯õ›UPÄ®. 

 ¹. ('000)
{ø» øÁ¨¦UPõÚ Ámi 430 
Phß «uõÚ Ámi 650 
Esi¯À uÒÐ£i «uõÚ Ámi 415 
÷©ÀÁøμ¨£ØÖ «uõÚ Ámi 210 
öμõUP Phß «uõÚ Ámi 410 
÷\ª¨¦ PnUS «x Ámi 125 
\®£Í® ©ØÖ® £iPÒ 140 
ÁõhøP, Á›, Põ¨¥k ©ØÖ® öÁÎa\® 40 
£õxPõ¨¦ ö£mhP ÁõhøP 5 
Á[Q ö\õzx £Êx 2 
PÈÄ, £›©õØÓ® ©ØÖ® uμS 24 
C¯US|º Pmhn® ©ØÖ® £iPÒ 25 
£›©õØÓ Pmhn® 2 
÷\©{v £[PÎ¨¦ 12 
EÒÑº SÊ Pmhn® ©ØÖ® £iPÒ 10 
uoUøP Pmhn® 12 
Aa_ ©ØÖ® GÊxö£õ¸Ò ö\»ÄPÒ 4 
Aμ\õ[P £zvμ[PÎß ÂØ£øÚ CÇ¨¦ 5 
uÍÁõh[PÒ ÂØ£øÚ CÇ¨¦ 2 
÷u´©õÚ® 10 
ÂÍ®£μ® 4 
\mh ö\»ÄPÒ 2 
u£õÀ ©ØÖ® u¢v 2 

 TkuÀ uPÁÀPÒ:  
 (a) Esi¯À «uõÚ uÒÐ£i 31.12.1986 - ¹.19,000. 
 (b) Esi¯À «uõÚ uÒÐ£i 31.12.1987 - ¹.26,000. 
 (c) ÁõμõUPhß ÷£õUS GÊxP ¹.40,000. 
 (d) Á› JxURk ¹.50,000 
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17. The following balances are abstracted from the books of 
New Bharat Life Insurance Co. Ltd. as on 31.03.2006. 
 Rs. 
Life assurance fund (1.4.05) 15,00,000
Premium 4,96,000
Consideration for annuities granted 15,000
Interest and dividends 1,00,000
Fines for revivals of policies 750
Re-insurance premium 20,750
Claims outstanding (1.4.2005) 4,500
Claims paid during the year 64,900
Annuities 2,050
Bonus in reduction of premiums 1,600
Medical fees 2,400
Surrenders 4,000
Commission 18,650
Management expenses 22,000
Income Tax on dividends 8,500

 Prepare Revenue account after making the following 
adjustments: 

 (a) Outstanding Balances : 
  Claims - 14,000; Premiums - Rs.4,600 
 (b) Further bonus for premium - 2,400 
 (c) Claims under reinsurance - 8,000 

 £õμz B²Ò Põ¨¥mk {ÖÁÚzvß ¦zuP[PÎ¼¸¢x 
31.3.2006 ÷uv°ß {¾øÁPÒ ¤ßÁ¸©õÖ. 

 ¹. 

B²Ò Põ¨¥mk {v (1.4.05) 15,00,000
•øÚ©® 4,96,000
ÁÇ[P¨£mh Á¸hõ¢vμ öuõøP 15,000
Ámi ©ØÖ® £[Põuõ¯® 1,00,000
£õ¼] ¦x¨¤zu¾UPõÚ A£μõu® 750
©ÖPõ¨¥mk •øÚ©® 20,750
{¾øÁ°À EÒÍ ÷PõμÀPÒ (1.4.2005) 4,500
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 ¹. 
BsiÀ ö\¾zu¨£mh E›ø© ÷PõμÀPÒ 64,900
BskzöuõøP 2,050
•øÚ©® SøÓ¨£vÀ ÷£õÚì 1,600
©¸zxÁU Pmhn® 2,400
J¨£øhÄ 4,000
PÈÄ 18,650
÷©»õsø© ö\»Ä 22,000
£[Põuõ¯® «uõÚ Á¸©õÚ Á› 8,500

 ¤ßÁ¸® \›ö\´u¾US¨ ¤ÓS Á¸Áõ´ PnUS u¯õº 
ö\´P. 

 (a) {¾øÁ öuõøPPÒ: 
  ÷PõμÀPÒ & 14,000 ;  •øÚ©® & 4,600 
 (b) •øÚ©zvØPõÚ TkuÀ ÷£õÚì & 2,400 
 (c) ©Ö Põ¨¥miß RÌ ÷PõμÀPÒ & 8,000. 

18. The following balances appeared in the books of 
Universal Electric Supply Corporation Ltd. as on 31.12.03: 

Particulars 
Debit  

Balance 
Rs. 

Credit 
Balance 

Rs. 
Equity shares – 6,00,000

Debentures – 2,00,000

Land on 31.12.03 1,50,000 – 

Land purchased during the year 60,000 – 

Mains including cost of laying to 31.12.03 1,60,000 – 

Mains expended during the year  76,000 – 

Machinery on 31.12.2003 5,50,000 – 

Machinery purchased during the year 66,000 – 

Sundry creditors – 1,000

Depreciation fund account – 2,50,000

Sundry debtors for current supplied 40,000 – 

Other book debts 500 – 

Stores in hand 6,000 – 

Cash in hand 4,000 – 

Cost of generation of electricity 30,000 – 
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Particulars 
Debit  

Balance 
Rs. 

Credit 
Balance 

Rs. 
Cost of distribution of electricity 9,000 – 

Sale of current – 1,50,000

Meter rent – 5,000

Rent, Rates and Taxes 12,000 – 

Establishment expenses 21,000 – 

Interest on debentures 10,000 – 

Interim dividend 20,000 – 

Depreciation 20,000 – 

Net Revenue A/c. Balance on 31.12.03 – 28,500

 12,34,500 12,34,500

 From the above balances, prepare the Revenue Account, 
Net Revenue Account, Capital Account, General Balance 
Sheet. 

 ³ÛÁºéÀ G»Um›U \¨øÍ Põº¨÷£õ÷μåß ¼ªöhm 
{ÖÁÚzvß ¦zuP[PÎ¼¸¢x 31.12.2003 ÷uv°ß 
{¾øÁPÒ ¤ßÁ¸©õÖ. 

ÂÁμ® 
£ØÖ 

C¸¨¦ 
¹. 

ÁμÄ 
C¸¨¦ 

¹. 

DSmi £[SPÒ – 6,00,000
PhÜmk £zvμ[PÒ – 2,00,000

{»® 31.12.03 1,50,000 – 

C¢u BsiÀ Áõ[Q¯ {»® 60,000 – 

ö©°ßPøÍ CkÁuØPõÚ ö\»Ä 31.12.03 1,60,000 – 

C¢u BsiÀ Â›Ä£kzu¨£mh ö©°ß  76,000 – 

C¯¢vμ[PÒ 31.12.2003 5,50,000 – 

C¢u BsiÀ Áõ[Q¯ C¯¢vμ[PÒ 66,000 – 
£Ø£» PhÜ¢÷uõº – 1,000
÷u´©õÚ {v PnUS – 2,50,000
ªß\õμ® ÁÇ[P¨£mh £Ø£» PhÚõÎPÒ 40,000 – 
¤Ó ¦zuP PhßPÒ 500 – 
øP°¸¨¦ PøhPÒ 6,000 – 
øP°¸¨¦ öμõUP® 4,000 – 
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ÂÁμ® 
£ØÖ 

C¸¨¦ 
¹. 

ÁμÄ 
C¸¨¦ 

¹. 
ªß\õμ EØ£zv ö\»Ä 30,000 – 
ªß\õμ Â{÷¯õP ö\»Ä 9,000 – 

ªß\õμ ÂØ£øÚ – 1,50,000

«mhº ÁõhøP – 5,000

ÁõhøP, ÂQu® ©ØÖ® Á› 12,000 – 

Âìu›¨¦ ö\»Ä 21,000 – 

Phß £zvμzvØPõÚ Ámi 10,000 – 

CøhUPõ» £[Põuõ¯® 20,000 – 

÷u´©õÚ® 20,000 – 

31.12.03 AßÖ {Pμ Á¸Áõ´ PnUS C¸¨¦ – 28,500

 12,34,500 12,34,500

 ÷©÷» öPõkUP¨£mh C¸¨¤¼¸¢x, Á¸Áõ´ PnUS, 
{Pμ Á¸Áõ´ PnUS, •uÀ PnUS ©ØÖ® ö£õx C¸¨¦ 
{ø»U SÔ¨¦ u¯õº ö\´P. 

19. From the following Balance Sheet relating to H Ltd. and 
S Ltd. Prepare a consolidated Balance Sheet. 

Balance Sheet as on 31.12.1992 

Liabilities H Ltd. 
Rs. 

 S Ltd. 
Rs. 

 Assets H Ltd.
Rs. 

S Ltd.
Rs. 

Share capital : 
(shares of Rs.10 
each) 

10,00,000  2,00,000  
Sundry 
Fixed Assets 

8,00,000 1,20,000

P & L A/c. 4,00,000  1,20,000  Stock 6,10,000 2,40,000

Reserves 1,00,000  60,000  Debtors 1,30,000 1,70,000

Creditors  2,00,000  1,20,000  Bills receivables 10,000 – 

Bills payable –        30,000  
Shares in S Ltd. 
at cost (15,000 
shares) 

1,50,000 – 

 17,00,000  5,30,000   17,00,000 5,30,000

 (a) All profits of 'S' Ltd. have been earned after the 
shares were acquired by 'H' Ltd. But there was 
already a reserve of Rs.60,000 on that date. 
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 (b) All the bills payable of 'S' Ltd. were accepted in 
favour of 'H' Ltd. 

 (c) The stock of 'H' Ltd. includes Rs.50,000 purchased 
from 'S' Ltd., The profit added was 25% on cost. 

 H ¼ªöhm öuõhº£õÚ C¸¨¦ {ø»USÔ¨¤¼¸¢x 
J¸[Qøn¢u C¸¨¦ SÔ¨¦ u¯õº ö\´P. 

ö£õÖ¨¦PÒ 
H 

¼ªöhm 
¹. 

 
S 

¼ªöhm 
¹. 

 ö\õzxPÒ 
H 

¼ªöhm 
¹. 

S 
¼ªöhm 

¹. 

£[S •uÀ 
(£[SPÒ u»õ 
¹.10) 

10,00,000  2,00,000  
£Ø£» {ø» 
ö\õzxUPÒ 8,00,000 1,20,000

C»õ£ |mh 
PnUS 4,00,000  1,20,000  \μUQ¸¨¦ 6,10,000 2,40,000

Põ¨¦ 1,00,000  60,000  PhÚõÎPÒ 1,30,000 1,70,000

PhÜ¢÷uõº 2,00,000  1,20,000  
ö£ÖuØS›¯ 
©õØÖa^mk 10,000 – 

ö\¾zxuØS›¯ 
©õØÖa^mk –        30,000  

S ¼ªöhm&iß 
£[S ö\»ÂÀ 
(15,000 £[SPÒ) 

1,50,000 – 

 17,00,000  5,30,000   17,00,000 5,30,000

 (A) £[SPÒ H ¼ªöhm BÀ Áõ[P¨£mh ¤ßÚº 
S ¼ªöhm & ß AøÚzx C»õ£[PÐ® 
\®£õvUP¨£mkÒÍÚ. BÚõÀ HØöPÚ÷Á A¢u 
÷uv°À Põ¨¦ ¹.60,000. 

 (B) S ¼ªöhm &ß ö\¾zxuØS›¯ ©õØÖa^mk 
H ¼ªöhmUS BuμÁõP HØÖUöPõÒÍ¨£mhx. 

 (C) H ¼ªöhm&ß \μUQ¸¨¦ ¹.50,000. S ¼ªöhm  
&ªhª¸¢x öPõÒ•uÀ ö\´¯¨£mhx. AvÀ 25% 
C»õ£® ÷\º¢x C¸UQÓx. 

20. S.S. Cauvery Commenced a voyage on 1.10.98 from 
Mumbai to London and back. The voyage was computed 
on 30.11.98. It carried a consignment of Jute on its 
onward Journey and plant on its return journey. The ship 
was insured and the annual premium was Rs.15,000. 
Prepare average account from the following particulars. 
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Freight earned (outward) - 1,00,000 
Port Dues - 5,000 
Lighterage charges - 3,000 
Stores - 6,000 
Passage money received - 4,000 
Freight earned (Inward) - 50,000 
Bunker charges - 20,000 
Wages and Salaries - 20,000 
Sundry expenses - 2,000 
Annual Depreciation - 36,000 

 Address commission is at 5% on outward freight and 4% 
on inward freight. Primage is at 5% on Freight. The 
manager is entitled to a commission at 5% on profit 
earned after charging such commission. Stores on hand 
were valued as Rs.2000 on 30.11.98. 

 Gì.Gì. Põ÷Á› •®ø£°À C¸¢x »shß ©ØÖ® 
¤ß¦Ó® 1.10.98 AßÖ J¸ £¯nzøu öuõh[Q¯x. 
30.11.98 AßÖ £¯n® •i¢ux. Ax Auß Akzu 
£¯nzvÀ \nÀ \μUSPøÍ²®, v¸®¦® £¯nzvÀ 
uõÁμzøu²® öPõsk ö\ßÓx. P¨£À Põ¨¥k 
ö\´¯¨£mk Bsk •øÚ©® ¹.15,000. ¤ßÁ¸® 
ÂÁμ[PÎ¼¸¢x £¯nU PnUøP u¯õ›UPÄ®. 

 \μUS \®£õvzux (öÁÎ¨¦Ó®) & 1,00,000 
 xøÓ•P {¾øÁ & 5,000 
 C»S μP Pmhn® & 3,000 
 PøhPÒ & 6,000 
 £zv°À £n® ö£Ó¨£mhx & 4,000 
 \μUS \®£õvzux (EÒ¦Ó®) & 50,000 
 £x[S SÈ Pmhn® & 20,000 
 T¼ ©ØÖ® \®£Í® & 20,000 
 £Ø£» ö\»ÄPÒ & 2,000 
 Bsk ÷u´©õÚ® & 36,000 
 •PÁ›ß PÈÄ öÁÎ¨¦Ó \μUSPÎÀ 5% ©ØÖ® EÒ 

\μUSPÎÀ 4% BS®. •ußø© \μUSPÎÀ 5% BS®. 
AzuøP¯ PÈÄPøÍ Á`¼zu ¤ßÚº \®£õvzu 
C»õ£zvÀ ÷©»õÍº 5% PÈÄUS E›ø© Esk. 
øP°¸¨¦ PøhPÒ 30.11.98 AßÖ ¹.2,000. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define – management accounting. 

 ÷©»õsø© PnUQ¯À – ÁøμÂ»UPn® u¸P. 

2. State any two functions of management accountant. 

 ÷©»õsø© PnUPõÍ›ß H÷uÝ® Cμsk 
ö\¯À£õkPøÍ SÔ¨¤kP. 

3. What is analysis? 

 £S¨£õ´Ä GßÓõÀ GßÚ? 

4. What is ROI? 

 ROI GßÓõÀ GßÚ? 

5. What is funds from operations? 

 {v Kmh C¯UPa ö\¯À£õk GßÓõÀ GßÚ? 

Sub. Code 
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6. Define – extra ordinary items. 

 A\õuõμn ÁøPPÒ – C»UPn® u¸P. 

7. Define – Forecast. 

 Forecast – C»UPn® u¸P. 

8. What is budget committee? 

 ÁμÄ ö\»Ä vmhU SÊ GßÓõÀ GßÚ? 

9. Define – marginal cost. 

 ©õÖ£k® ö\»Ä – C»UPn® u¸P. 

10. What is meant by variance? 

 ©õÖ£õk Gß£uß ö£õ¸Ò GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions. 

11. (a) What are the objectives of management accounting? 

   ÷©»õsø©U PnUP¯¼ß SÔU÷PõÒPÒ ¯õøÁ? 

Or 

 (b) Explain the various tools of management 
accounting. 

   ÷©»õsø©U PnUQ¯¼ß £À÷ÁÖ EzvPøÍ 
ÂÍUSP. 

12. (a) List down the objectives of financial statement 
analysis. 

   {v{ø» AÔUøP £S¨£õ´Âß SÔU÷PõÒPøÍ 
Á›ø\¨£kzxP. 

Or 
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 (b) The following figures are extracted from the annual 
report of company cow Ltd., Prepare common – size 
income statement for the purpose of compression. 

Particulars 2016 2017 2018 

Cost of materials 200 250 150 

Labour cost 175 150 200 

Other conversion cost 175 140 150 

Total manufacturing cost of 
goods sold 

 
550 

 
540 

 
500 

Sales revenue 950 1000 1200 

Gross profit 400 460 700 

Operating expenses 180 200 300 

Profit 220 260 400 

   Cow ¼ªöhm {Ö©zvß Bs¦ÖvU PnUQ¼¸¢x 
GkUP¨£mh ÂÁμ[PøÍU öPõsk ö£õx Á¸Áõ´ 
AÔUøPø¯z u¯õº ö\´P. 

ÂÁμ® 2016 2017 2018 

‰»¨ö£õ¸Ò ö\»Ä 200 250 150 

T¼ 175 150 200 

©ØÓ ©õØÖUøPa ö\»Ä 175 140 150 

ö©õzu EØ£zvU T¼  
550 

 
540 

 
500 

ÂØ£øÚ Á¸Áõ´ 950 1000 1200 

ö©õzu C»õ£® 400 460 700 

£¯ß£õmka ö\»ÄPÒ 180 200 300 

C»õ£® 220 260 400 

13. (a) What are the advantages of cash flow statement? 

   öμõUP Kmh AÔUøP°ß |ßø©PÒ ¯õøÁ? 

Or 
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 (b) Calculate cash flow from operating activities.    

Total sales for the year 12,00,000

Total purchases for the year 6,50,000

Commission received during the year 90,000

Office expenses 75,000

Administrative expenses 20,000

Income tax paid 42,000

   öμõUP Kmha ö\¯À£õk |hÁiUøPø¯U PnUQk 
ö\´P. 

Bsiß ö©õzu ÂØ£øÚ 12,00,000

Bsiß ö©õzu öPõÒ•uÀ 6,50,000

BsiØS PÈÄ ö£ØÓx 90,000

A¾Á»Pa ö\»ÄPÒ 75,000

{ºÁõPa ö\»ÄPÒ 20,000

Á¸©õÚÁ› ö\¾zv¯x 42,000

14. (a) State the limitation of budgetary control. 
   ÁμÄ ö\»Ä vmhU Pmk¨£õmiß SøÓ£õkPøÍU 

SÔ¨¤kP. 

Or 

 (b) Prepare a production budget of MCL from the 

following data. 

Product Sales as per Sales Budget 

(in units) 

Estimated stock  

(in units) 

  1.7.2019 31.6.2019

A 4,88,000 10,000 12,000 

B 3,75,000 20,000 45,000 

C 6,00,000 50,000 25,000 
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   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x EØ£zv ÁμÄ 

ö\»Äzvmh® u¯õº ö\´P.  

ö£õ¸Ò ÂØ£øÚ ÁμÄ ö\»Äz vmhzvß 

£i ÂØ£øÚ (A»S) 

©v¨¥k ö\´¯¨£mh 

\μUS (A»S) 

  1.7.2019 31.6.2019

A 4,88,000 10,000 12,000 

B 3,75,000 20,000 45,000 

C 6,00,000 50,000 25,000 

15. (a) Distinguish between Standard Costing and 

Budgetary Control. 

   uμ©õÚ PnUQ¯¾US® ÁμÄ ö\»Ä vmhU 

Pmk¨£õmkUS•ÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) Write down the different types of variances. 

   ©õÖ£õkPÎß £À÷ÁÖ ÁøPPøÍU öPõk. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Distinguish between management Accounting and 

Financial Accounting. 

÷©»õsø©U PnUQ¯¾US® {v°¯À 

PnUQ¯¾US•ÒÍ ÷ÁÖ£õkPøÍ TÖP. 
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17. From the following data relating to First Garments for 

the Year ended 31st March 2019. 

Trading and Profit and Loss A/c. 

Dr    Cr

To Opening Stock 75,000 By Sales 5,20,000  

To Purchases 3,25,000 Less: Sales Returns 20,000 5,00,000

To Gross Profit 2,00,000 By closing stock 1,00,000

 6,00,000  6,00,000

   

To Opening Exp:  By Gross profit 2,00,000

Administration 40,000 By Non-operating 

Income 

Selling 25,000 Dividend 9,000

To Non-operating Expenses loss on 

sale of Assets 

5,000 Profit on Sale of 

Shares 

11,000 20,000

To Net profit 1,50,000    

 2,20,000   2,20,000

Balance Sheet as on 31st March 2019. 

Liabilities Amount Assets Amount 

2000 Equity shares of Rs. 100 

each 

2,00,000 Land and Buildings 1,50,000 

Reserves 90,000 Plant and 

Machinery 

80,000 

Current Liabilities 1,50,000 Stock 1,00,000 

Profit and loss A/c 60,000 Debtors 1,40,000 

  Cash 30,000 

 5,00,000  5,00,000 
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 Calculate  

(a) Gross Profit Ratio 

(b) Operating Ratio 

 (c) Net Profit Ratio 

(d) Expenses Ratio 

(e) Stock Turnover Ratio 

 (f) Return on Total Assets 

 (g) Fixed Assets Turnover Ratio 

 (h) Debt Equity Ratio 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x ©õºa 31,2019 ® BsiØPõÚ 

FIRST GARMENTS {ÖÁÚzvØPõÚ ÂQu[PøÍ 
PnURk ö\´P. 

£    Á

öuõhUP \μUQ¸¨¦ 75,000 ÂØ£øÚ 5,20,000  

öPõÒ•uÀ 3,25,000 PÈUP: ÂØ£øÚz 
v¸¨£®   

20,000 5,00,000

ö©õzu C»õ£® 2,00,000 CÖva \μUQ¸¨¦ 1,00,000

 6,00,000  6,00,000

  

{PÊ® ö\»ÄPÒ: ö©õzu C»õ£® 2,00,000

{ºÁõP® 40,000 {PÇõ Á¸©õÚ® 

ÂØ£øÚ 25,000 £[Põuõ¯® 9,000

{PÇõa ö\»ÄPÒ: £[S ÂØ£øÚ «uõÚ 
C»õ£® 

11,000 20,000

ö\õzx ÂØ£øÚ 
«uõÚ |mh® 

5,000  

{Pμ C»õ£® 15,000    

 2,20,000   2,20,000
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31.3.2019 ® BsiØPõÚ C¸¨¦ {ø»U SÔ¨¦ 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

2000 •ßÝ›ø©¨ £[SPÒ 
100 Ãu® 

2,00,000 {»•® Pmih•® 1,50,000

Põ¨¦ {v 90,000 ö£õÔ²® 
C¯¢vμ•® 

80,000

|h¨¦ ö£õÖ¨¦PÒ 1,50,000 \μUS 1,00,000

C»õ£&|mh PnUS 60,000 PhÚõÎPÒ 1,40,000

  öμõUP® 30,000

 5,00,000  5,00,000

 (A) ö©õzu C»õ£ ÂQu® 

(B) ö\¯À£õmk ÂQu® 

 (C) {Pμ C»õ£ ÂQu® 

(D) ö\»Ä ÂQu® 

(E) \μUS _ÇØ] ÂQu® 

 (F) ö©õzu ö\õzxUPÒ «uõÚ £¯ß/C»õ£® 

 (G) ö©õzu ö\õzxUPÎß _ÇØ] ÂQu® 

 (H) Phß £[S ÂQu®  

18. From the following particulars. Prepare a statement 
showing working capital requirement to finance a level of 
activity of 12,000 units of output per annum. 

 Rs.

Raw material 5 

Labour 3 

Overheads 2 

Total Cost 10 

Profit 2 

Selling Price 12 
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 Additional Information: 

 (a) Raw materials are to remain in stores on an 
average – one month 

 (b) Materials are in process on an average – 2 months. 

 (c) Finished Goods are in stock an average – 3 months. 

 (d) Credit allowed to Debtors is 4 months. 

 (e) Credit allowed by Suppliers in 2 months. 
  If may be assumed that production and overheads 

accrue evenly throughout the year.  
 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, J¸ BsiØPõÚ 12,000 

A»QØPõÚ ö\¯À£õkUPõÚ |øh•øÓ •uÀ ÷uøÁUPõÚ 
AÔUøPø¯ u¯õº ö\´P.  

 ¹.

‰»¨ ö£õ¸mPÒ 5 
T¼ 3 
Cuμ ö\»ÄPÒ 2 
AhUP Âø» 10
C»õ£® 2 
ÂØ£øÚ Âø» 12

 TkuÀ ÂÁμ[PÒ: 

 (A) ‰»¨ö£õ¸mPÒ «uõÚ Põ»® – J¸ ©õu®. 

 (B) •iÁøh¯õ ö£õ¸ÒPÒ «uõÚ Põ»® – Cμsk 
©õu[PÒ 

 (C) •iÁøh¢u ö£õ¸ÒPÒ «uõÚ Põ»® – ‰ßÖ 
©õu[PÒ 

 (D) PhÚõÎPÒ «uõÚ Phß Põ»® – |õßS ©õu[PÒ 

 (E) PhÚõÍºPÒ «uõÚ Phß Põ»® – Cμsk ©õu[PÒ 

  Bsk •ÊÁuØS® EØ£zv ©ØÖ® ÷©Øö\»ÄPÒ 
\©©õÚuõP C¸USö©ÛÀ 
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19. Prepare a cash Budget from the following information 
(April to June). 

(a) Month Sales  
(Rs.) 

Purchases
(Rs.)  

Wages 
(Rs.) 

2019 February 90,000 62,400 6,000

 March 96,000 72,000 7,000

 April 54,000 1,21,500 5,500

 May 87,000 1,23,000 5,000

 June 63,000 1,34,000 7,000

 (b) 50% of capital sales are realised in the month 
following the sales and remaining 50% in the second 
month following. 

 (c) Creditors are paid in the month following the month 
of purchases. 

 (d) Cash at Bank on 1.4.2019 (estimated) Rs. 12,500/-. 

 ¤ßÁ¸® ö\´vPÎ¼¸¢x öμõUP ÁμÄ ö\»Äz vmh 

AÔUøP u¯õº ö\´P. (H¨μÀ •uÀ ãß Áøμ).  

(A) ©õu® ÂØ£øÚ  
¹. 

öPõÒ•uÀ

¹. 
T¼ 
¹. 

2019 ¤¨μÁ› 90,000 62,400 6,000

 ©õºa_ 96,000 72,000 7,000

 H¨μÀ 54,000 1,21,500 5,500

 ÷© 87,000 1,23,000 5,000

 ãß 63,000 1,34,000 7,000
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 (B) Phß ÂØ£øÚ «uõÚ 50% ÂØ£øÚ ö\´u 

©õuzv¾®, «u•ÒÍ  50% Phß ÂØ£øÚ Akzu 

CμshõÁx ©õuzv¾® öuõøP Á`À ö\´¯Ä®. 

 (C) PhÜ¢÷uõºPÐUS öuõøPø¯ öPõÒ•uÀ ö\´u 

Akzu ©õuzvÀ ö\¾zxuÀ. 

 (D) 1.4.2019 (©v¨¥mi»õÚ) öuõøP Á[QUPnUQß 

£i ¹. 12,500/- 

20. From the data given below, calculate the material price 

variance, material usage variance and material mix 

variance. 

Cosumption per 100 units of product. 

Material Standard Actual 

X 40 units @ Rs. 50 per unit 50 units @ Rs. 50 per unit

Y 60 units @ Rs. 40 per unit 60 units @ Rs. 45 per unit

 RÌUPsh ÂÁμ[PÎ¼¸¢x, ‰»¨ö£õ¸Ò Âø» 
©õÖ£õk, ‰»¨ö£õ¸Ò E£÷¯õP/AÍÄ ©õÖ£õk ©ØÖ® 
‰»¨ö£õ¸Ò P»øÁ ©õÖ£õk PnURk ö\´P.  

 ö£õ¸ÒPÎß ~PºÄ (u»õ 100 A»S «x)  
‰»¨ö£õ¸Ò {ºn°zu AÍÄ Esø©¯õÚ AÍÄ 

X 40 A»SPÒ @ ¹.50 u»õ J¸  
A»S 

50 A»S u»õ @ ¹. 50 Ãu® J¸ 
A»SUS 

Y 60 A»SPÒ @ ¹.40 u»õ J¸ 
A»S 

60 A»S u»õ @ ¹.45 Ãu® J¸ 
A»SUS 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define CLR and list down its responsibilities. 

].GÀ.Bøμ Áøμ¯Özx Auß ö£õÖ¨¦PøÍ 
£mi¯¼k[PÒ. 

2. What is Assemblies? 

Tmh[PÒ GßÓõÀ GßÚ? 

3. How to declare an array? 

 J¸ Á›ø\ø¯ GÆÁõÖ AÔÂ¨£x? 

4. Distinguish between string and Character. 

 \μ® ©ØÖ® GÊzxUS Cøh°À ÷ÁÖ£k[PÒ.  

5. What is mean by List box? 

 £mi¯À ö£mi°ß ö£õ¸Ò GßÚ? 

Sub. Code 
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6. How to create Pickers? 

 ¤UPºPøÍ E¸ÁõUSÁx G¨£i? 

7. Explain the role of security model. 

£õxPõ¨¦ ©õv›°ß £[øP ÂÍUPÄ®. 

8. Write short note about tracing. 

 uh©ÔuÀ £ØÔ ]Ö SÔ¨¦ GÊuÄ®. 

9. What is SQL and how does it work? 

SQL GßÓõÀ GßÚ? Ax GÆÁõÖ C¯[SQÓx? 

10. What is a data object? 

uμÄ ö£õ¸Ò GßÓõÀ GßÚ? 

         Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Explain Garbage Collection. 

  Garbage Collection £ØÔ ÂÍUS[PÒ. 

Or 

 (b) What is Name space? Explain with example. 

  ö£¯º Ch® GßÓõÀ GßÚ? GkzxUPõmkhß 
ÂÍUS[PÒ. 

12. (a) Difference between Sub procedures and Functions. 

  xøn |øh•øÓPÒ ©ØÖ® ö\¯À£õkPÐUS 
Cøh°»õÚ ÷ÁÖ£õk GßÚ? 

Or 
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 (b) What is event? Explain various important .NET 
Events. 

  {PÌÄ GßÓõÀ GßÚ? £À÷ÁÖ •UQ¯©õÚ Dot Net 
{PÌÄPøÍ ÂÍ[SP[PÒ. 

13. (a) Explain Tab controls .Net. 

  Dot Net–À EÒÍ uõÁÀ Pmk¨£õkPøÍ 
ÂÍUS[PÒ. 

Or 

 (b) Write a short note on following with example : 

  (i)  Rich Tex box   

  (ii)  Link Labels. 

  ¤ßÁ¸ÁÚ £ØÔ GkzxUPõmkhß ]Ö SÔ¨ø£ 
GÊx[PÒ : 

  (i)  Rich Tex box  ö£mi 

  (ii)  Cøn¨¦ ÷»¤ÒPÒ. 

14. (a) Write a short note on Global.asax file. 

  Global.asax ÷Põ¨¦ £ØÔ ]Ö SÔ¨ø£ GÊx[PÒ. 

Or 

 (b) Explain Windows authentication in ASP .Net. 

  ASP .Net–À EÒÍ Âs÷hõì A[RPõμzøu 
ÂÍUS[PÒ. 

15. (a) Difference between Data Grid and Data list. 

  uμÄ PmhzvØS® uμÄ £mi¯¾US® EÒÍ ÷ÁÖ£õk 
GßÚ? 

Or 

 (b) Explain repeater control using example. 

  Euõμnzøu¨ £¯ß£kzv ›¨¥mhº Pmk¨£õmøh 
ÂÍUS[PÒ. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Draw and explain various component of CLR. 

].GÀ.B›ß £À÷ÁÖ TÖSøÍ Áøμ¢x ÂÍUS[PÒ. 

17. Write a short note on following : 

 (a)   Dialog box  

 (b)  Msgbox  

 (c)  Docking controls. 

 ¤ßÁ¸ÁÚ £ØÔ ]Ö SÔ¨ø£ GÊx[PÒ : 

 (A) Eøμ¯õhÀ ö£mi 

 (B) ö\´v ö£mi 

 (C) Docking Pmk¨£õkPÒ. 

18. Write a window-based application to find the average of 
five subject marks. Assume that the five subject marks 
are entered in textboxes and the average is also displayed 
in a text box. 
I¢x £õh ©v¨ö£sPÎß \μõ\›ø¯U PshÔ¯ \õÍμ 
Ai¨£øh°»õÚ £¯ß£õmøh GÊx[PÒ. I¢x £õh 
©v¨ö£sPÒ Eøμ¨ö£miPÎÀ EÒÎh¨£mkÒÍÚ 
©ØÖ® \μõ\› J¸ Eøμ ö£mi°¾® Põmh¨£k® GßÖ 
øÁzxU öPõÒÐ[PÒ. 

19. How to create web forms using ASP .NET? Explain with 
example. 
HGì¤. ö|m £¯ß£kzv Áø» £iÁ[PøÍ E¸ÁõUSÁx 
G¨£i? GkzxUPõmkhß ÂÍUS[PÒ. 

20. Explain ADO .NET data connections with suitable 
illustration. 

 ö£õ¸zu©õÚ ÂÍUPzxhß ADO .NET uμÄ Cøn¨¦PøÍ 
ÂÍUS[PÒ. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define the term worker. 

 öuõÈ»õÎ – Áøμ¯ÖUP. 

2. Who is an young person? 

 CøÍbº Gß£Áº ¯õº? 

3. What is a Trade Union? 

 öuõÈØ\[P® GßÓõÀ GßÚ? 

4. What is Industrial Dispute? 

 öuõÈØ§\À GßÓõÀ GßÚ? 

5. Define the term Appropriate Government. 

 E›¯ Aμ\õ[P® ÁøμÂ»UPn® u¸P. 
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6. Define the term industry. 
 öuõÈÀ Áøμ¯ÖUP. 

7. What is partial disablement? 
 £Sv C¯»õø© GßÓõÀ ¯õº? 

8. Who is called dependant? 
 \õº¢v¸¨£Áº Gß£Áº ¯õº? 

9. Define the term wages. 
 T¼ Áøμ¯ÖUP. 

10. What do you mean by normal working day? 
 \õuõμn ÷Áø» |õÒ £ØÔ }Âº AÔÁx GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Explain the provisions of the factories act with 
regard to safety of the workers. 

  öuõÈ»õÍºPÒ £õxPõ¨¦ £ØÔ¯ öuõÈØ\õø» \mh 
ÂvPøÍ ÂÍUSP. 

Or 

 (b) State the rules applicable to the employment of 
young persons in factories. 

  öuõÈØ\õø»PÎÀ CøbºPøÍ¨ 
£o¯©ºzxÁuØPõÚ ÂvPøÍ TÖP. 

12. (a) How can the name of a Registered Trade Union be 
changed? 

  öuõÈØ\[Pzvß ö£¯øμ ©õØÖÁuØPõÚ ÂvPøÍ 
ÂÍUSP. 

Or 

 (b) Who can be come members of a trade union? 
  ¯õº öuõÈØ\[P EÖ¨¤ÚμõP»õ®? 
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13. (a) Define public utility service as used in the 
Industrial Dispute Act. 

  öuõÈØ uPμõÖPÒ \mhzvß£i ö£õx £¯ß£õmk¨ 
£oUS C»UPn® u¸P. 

Or 

 (b) Difference between lockout and closure. 
  PuÁøh¨ø£²® ‰kuø»²® ÷ÁÖ£kzxP. 

14. (a) Explain the term “Accident”. 
  Â£zx GßÝ® ö\õÀø» ÂÍUQ TÖP. 

Or 

 (b) Explain about the occupational diseases. 
  ÷Áø»¯õÀ HØ£k® ÷|õ°øÚ ÂÍUQ TÖP. 

15. (a) State the object of Employees Provident Fund act. 
  £o¯õÍºPÒ ÷\©{v \mhzvß ÷|õUPzøuU TÖP. 

Or 

 (b) Explain the institutions to which Employees 
Provident fund is not applicable. 

  £o¯õÍºPÒ ÷\© {v \mhzvÀ ö\¯À£kzu¨£hõu 
{ÖÁÚ[PøÍ ÂÍUQ TÖP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss briefly the provision of the Factories Act regading 
the hours of work and leave with pay. 

 T¼²hß Âk¨¦ ©ØÖ® ÷Áø» ÷|μ® £ØÔ 
öuõÈØ\õø»°ß \mhÂvPøÍ ÂÍUQ TÖP. 

17. Discuss the procedure for the registration of a trade 
union. 

 öuõÈØ\[Pzøu £vÄ ö\´ÁuØPõÚ ÁÈ•øÓPøÍ TÖP. 
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18. In what circumstances do lock outs and strikes becomes 
illegal under the Industrial Disputes Act? 

 öuõÈÀ uPμõÖPÒ \mhzvß RÌ PuÁøh¨¦® ÷Áø» 
{Özu•® G¢u `Ì{ø»PÎÀ \mh Â÷μõu©õÚøÁ BS®. 

19. State the rules in respect of the distribution 
compensation under the workmen compensation act. 

 öuõÈ»õÍºPÒ CÇ¨¥mk \mhzvß RÌ CÇ¨¥møh¨ 
£Qº¢uÎ¨£uØPõÚ ÂvPøÍ TÖP. 

20. What establishment may be exempted from the operation 
of E.P.F scheme? 

 öuõÈ»õÍº ÷\© |»vmh |øh•øÓPÎ¼¸¢x GÆÁøP 
{ÖÁÚ[PÒ ÂvÂ»US AÎUP¨£kQßÓÚ? 

 

 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define banking.  

 Á[Qø¯ & Áøμ¯Ö.  

2. What do you mean by branch banking?  

 QøÍ Á[Q°¯À GßÓõÀ GßÚ? 

3. What is commercial bank? 

 ÁoP Á[Q GßÓõÀ GßÚ? 

4. Write a short notes on merchant banking.  

 Á[Q Cøn¨¦ •øÓ¨ £ØÔ J¸ ]Ö SÔ¨¦ u¸P.  

5. What do you mean by regional rural bank? 

 ¤μõ¢v¯ Qμõ©¨¦Ó Á[Q GßÓõÀ GßÚ? 

6. What are the limitations of banks to create credit? 

 öuõÈÀ~m£ Phß E¸ÁõUP® •øÓ GßÓõÀ GßÚ? 
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7. Write a notes on bill market scheme.  

 Esi¯À \¢øu vmh® £ØÔ J¸ ]Ö SÔ¨¦ GÊxP.  

8. State the meaning of priority sectors.  

 •ßÝ›ø© xøÓ £ØÔ TÖP.  

9. Write a notes on E-Banking.  

 ªßÚÝ Á[Q £ØÔ GÊx.  

10. What do you mean by non-performing assets? 

 ö\¯À£hõu C¯UP ö\õzxPÒ £ØÔ TÖP.  

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Distinguish between unit banking and branch 

banking.  

  ²Ûm Á[Q¯À ©ØÖ® QøÍ Á[Q¯¼ß 

÷ÁÖ£õkPøÍz u¸P.  

Or 

 (b) State the various classification of banking.  

  Á[Q°ß £À÷ÁÖ ÁøPPøÍ u¸P.  

12. (a) Explain the social responsibility of banks in brief.  

  Á[Q°ß \‰P ö£õÖ¨¦ £ØÔ ÂÁ›.  

Or 

 (b) What are main advantages of commercial banking? 

  ÁoP Á[Q°ß |ßø©PÒ ¯õøÁ? 
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13. (a) Explain the various kinds of creation of credit.  
  £À÷ÁÖ Âu©õÚ Phß E¸ÁõUP® •øÓ £ØÔ 

ÂÁ›. 

Or 

 (b) Write a briefly note on functions of regional rural 
banking.  

  ¤μõ¢v¯ Qμõ©¨¦Ó Á[Q°ß £À÷ÁÖ 
ö\¯À£õkPøÍ Â›ÁõP GÊx.  

14. (a) Explain the role of SBI in agricultural finance.  

  Gì.¤.I ©ØÖ® ÷ÁÍõsø© Phß •UQ¯zxÁzøu 
ÂÍUSP. 

Or 

 (b) Explain the steps taken by the Reserve bank to 
develop bill market in India.  

  Esi¯À \¢øuø¯ Â›Ä£kzu ø©¯Á[Q GkUS® 
|hÁiUøPPøÍ ÂÁ›.  

15. (a) Discuss the post-reforms position in India. 

  C¢v¯õÂÀ ÷£õìm Ÿ£õº® •øÓ £ØÔ ÂÍUSP.  

Or 

 (b) What are the mode of electronic fund transfer 
available in the banking sector? 

  Á[Q AøÓ°¾ÒÍ ªßÚÝ {v £›©õØÓ ÁøPPÒ 
¯õøÁ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the merits and demerits of unit and branch 
banking systems.  

 ²Ûm Á[Q ©ØÖ® QøÍ Á[Q°ß |ßø© wø©PøÍ 
ÂÍUSP. 
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17. What are the features of commercial banks? 

 ÁoP Á[Q°ß •UQ¯ C¯À¦PÒ ¯õøÁ? 

18. Explain the various limitations of credit creation.  

 Phß E¸ÁõUP® •øÓ°ß £À÷ÁÖ Áμ®¦PøÍ ÂÍUSP. 

19. Briefly the powers of RBI under banking regulations Act 
1949.   

 Á[Q JÊ[S •øÓ \mh® 1949&ß £i ø©¯ Á[Q°ß 
AvPõμzøu ÂÁ›.  

20. Briefly discuss the main functions of E-banking services.  

 ªßÚÝ Á[Q°ß ÷\øÁ ö\¯À£õkPøÍ ÂÁ›.  

———————— 
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 Part A  (10  2 = 20) 

Answer all  the questions. 

1. What do you understand by the term "Banker"? 

 Á[Q¯º £ØÔ } AÔÁx ¯õx? 

2. What is compound Interest? 

 Tmk Ámi GßÓõÀ GßÚ? 

3. What is meant by Pass Book? 

 ö\À÷»k GßÓõÀ GßÚ? 

4. Who are special types of customer in a bank? 

 Á[Q°ß ]Ó¨¦ ÁõiUøP¯õÍº Gß£Áº ¯õº? 

5. Define a cheque. 

 Põ÷\õø» Áøμ¯ÖUP. 

6. What is marking of Cheque? 

 Põ÷\õø» SÔ±k GßÓõÀ GßÚ? 
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7. Define "Endorsement" 

 ÷©ö»ÊuÀ £ØÔ ÁøμÂ»UPn® u¸P. 

8. Can a banker recover money paid by mistake? 

 uÁÖu»õP öPõkzu £nzøu Á[Q¯º GÆÁõÖ v¸®£¨ 
ö£ÖÁº? 

9. What is pay - in - slip? 

 ö\¾zxuÀ ^mk GßÓõÀ GßÚ? 

10. What is traveler's cheque? 

 £¯nU Põ÷\õø» GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Differentiate General lien and special lien with 
suitable examples. 

   ö£õx E›ø© ©ØÖ® ]Ó¨¦ E›ø© Cøh÷¯ EÒÍ 
÷ÁÖ£õmiøÚ GkzxUPõmkhß ÂÍUSP. 

Or 

 (b) Briefly explain the obligation of a banker to honour 
the cheque. 

   Põ÷\õø» AÝ©vUP Á[Q¯›ß ö£õÖ¨¦PøÍ  
_¸UP©õP ÂÍUSP. 

12. (a) What precaution should a banker take while 
opening an account in the name of a partnership 
firm? 

   Tmhõsø© {ÖÁÚzvß ö£¯›À PnUS öuõh[S® 
ö£õÊx GkUP ÷Ási¯ •ßöÚa\›UøP 
|hÁiUøPPÒ ¯õøÁ? 

Or 
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 (b) Describe the Legal position of a banker regarding 
fixed deposit. 

   {ø» øÁ¨¦ öuõhº£õÚ Á[Q¯›ß \mh¨£i¯õÚ 

{ø»PøÍ ÂÁ›. 

13. (a) Distinguish between Special Crossing and General 
Crossing. 

   ]Ó¨¦ RÓÀ ©ØÖ® ö£õxURÓ¼øh÷¯ EÒÍ 

÷ÁÖ£õkPøÍ TÖP. 

Or 

 (b) Distinguish a cheque from a bill of Exchange. 

   ©õØÖa ^mi¼¸¢x J¸ Põ÷\õø» GÆÁõÖ 

÷ÁÖ£kQÓx. 

14. (a) Explain the significance of Endorsement. 

    ÷©ö»Êxu¼ß •UQ¯zxÁzvøÚ ÂÍUSP. 

Or 

 (b) Describe the precautions for a banker before 
honouring a cheque. 

   J¸ Põ÷\õø»ø¯ HØ£uØS •ß¦ Á[Q¯õÍº GkUP 

÷Ási¯ Ga\›UøP |hÁiUøPPøÍ ÂÁ›UP. 

15. (a) Draw a specimen of a bill of exchange. 

   ©õØÖa^miß J¸ ©õv›ø¯ ÁøμP. 

Or 

 (b) State the role of collecting banker. 

   Á`¼US® Á[Q¯›ß £oPøÍ ÂÍUSP. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. What is letter of credit? Explain its types. 

  Phß Piu® GßÓõÀ GßÚ? Auß ÁøPPøÍ ¯õøÁ? 

17. Bring out the relationship between banker and customer. 

 Á[QUS® AuÚx ÁõiUøP¯õÍ¸US® Cøh÷¯ EÒÍ 
EÓÄPøÍ öPõnºP. 

18. Explain the legal effects of different type of endorsement. 

 £À÷ÁÖ ÁøP¯õÚ ÷©ö»Êu¾UPõÚ \mh ÂøÍÄPøÍ 
ÂÍUSP. 

19. What are the General procedure followed to open a joint 
account? Explain in details. 

J¸ Tmk PnUS xÁ[P GkUP ÷Ási¯ ö£õxÁõÚ 
Âv•øÓPÒ ¯õx? ÂÍUPÄ®. 

20. Explain the special features of a cheque. 

 Põ÷\õø»°ß ]Ó¨¤¯À¦PøÍ ÂÍUSP. 

 

 

 
———————— 
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 Part A  (10× 2 = 20) 

Answer all the questions. 

1. Define management? 
 ÷©»õsø© Áøμ¯ÖUP. 

2. Write any two functions of management? 
 ÷©»õsø© H÷uÝ® Cμsk £oPøÍ GÊxP. 

3. Write a note on planning. 
 vmhªkuÀ £ØÔ ]Ö SÔ¨¦ GÊxP. 

4. What do you mean by decision-making? 
•iöÁkzuÀ £ØÔ }Âº AÔÁx GßÚ? 

5. Write a note on span of management? 
 Põ»® ÷©»õsø© £ØÔ SÔ¨¦ GÊxP. 

6. What is delegation? 
 ¤μv{vPÒ SÊ GßÓõÀ GßÚ? 

7. What do you understand by staffing? 
 £o¯õÍº {¯©Ú® £ØÔ }Âº AÔÁx GßÚ? 
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8. What is performance appraisal? 

 ö\¯ÀvÓß ©v¨¥k GßÓõÀ GßÚ? 

9. Define directing. 

 C¯UP® Áøμ¯ÖUP. 

10. What do you mean by communication? 

 ö\´v öuõhº¦ £ØÔ } AÔÁx GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions 

11. (a) Explain the features of management. 

   ÷©»õsø©°ß A®\[PøÍ ÂÁ›UP. 

Or 

 (b) State the Henry Fayol classification of business 
activities. 

   öPß› £ö¯õÀ TÖ® ÁoP ö\¯À£õk 
ÁøP¨£õkPøÍ TÖP. 

12. (a) What are the objectives of planning? 

   vmhªku¼ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Discuss the administrative problems in decision-
making. 

   •iÄ Gkzu¼ß ÷£õx {ºÁõP ¤μa\øÚ £ØÔ 
ÂÁõvUP. 
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13. (a) What are the natures of organization? 
   Aø©¨¦ ußø©PÒ GßÚ? 

Or 

 (b) Describe the problems of delegation? 
   ¤μv{vPÒ SÊÂß ¤μa\øÚPøÍ ÂÁ›UP. 

14. (a) Discuss the various importance of selection. 
   ÷uºÄ •øÓ°ß £À÷ÁÖ •UQ¯zxÁzøu 

ÂÁõvUP. 

Or 

 (b) Explain the methods of performance of appraisal. 
   ö\¯À©v¨¥miß •øÓPøÍ ÂÁ›UP. 

15. (a) Explain the various types of communication. 
   ö\´v öuõhº¤ß £À÷ÁÖ ÁøPPøÍ ÂÁ›UP. 

Or 

 (b) State the Herzberg’s two factors theory. 
   öPºmìö£ºUß Cμsk PõμoPÒ ÷Põm£õkPøÍ 

TÖP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. State the criticism of F.W. Taylor’s scientific 
management. 

 F.W.öh´»›ß AÔÂ¯À ÷©»õsø© vÓÚõ´Ä £ØÔ 
TÖP. 

17. Describe the various types of decisions making. 
•iÄ Gkzu¼ß £À÷ÁÖ ÁøPPøÍ ÂÁ›UP. 

18. Elaborate the characteristics of authority. 
AvPõμzvß £s¦PøÍ Â›ÁõP GÊxP. 
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19. Explain the merits and demerits of recruitment. 

 Bm÷\º¨¤ß |ßø©PÒ ©ØÖ® wø©PøÍ ÂÁ›UP. 

20. Discuss the various importance of motivation. 

ö\¯À÷|õUPzvß £À÷ÁÖ •UQ¯zxÁzøu ÂÁõvUP. 

 

 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Explain the concept of "Services". 

 ÷\øÁ°ß P¸zx¸ £ØÔ ÂÍUS. 

2. What are Pure Services? 

 _zu ÷\øÁ GßÓõÀ GßÚ? 

3. Define Services Marketing Mix. 

 ÷\øÁ \¢øu°À P»øÁ Áøμ¯ÖUP. 

4. What is Service product? 

 ÷\øÁ ö£õ¸Ò GßÓõÀ GßÚ? 

5. What do you understand by service commutation? 

 ÷\øÁ öuõhº¦ £ØÔ } AÔÁx ¯õx? 

6. Who are the ‘People’ in services marketing? 

 ÷\øÁ \¢øu°ß ‘©UPÒ’ ¯õº? 
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7. What is physical evidence in services? 

 ÷\øÁ°À ¦»ß \õßÖ GßÓõÀ GßÚ? 

8. What is Interactive marketing? 

 Fhõk® \¢øu¨£kzxuÀ GßÓõÀ GßÚ? 

9. Mention key areas to judge the service quality. 

 ÷\øÁ uμzøu {ºn°US® •UQ¯ £SvPÒ £ØÔ 
SÔ¨¤kP. 

10. What do you mean by Consulting Marketing? 

 B÷»õ\øÚ \¢øu°hÀ £ØÔ } AÔÁx ¯õx? 

 Part B  (5  5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) Explain the reasons for fluctuations in demand for 
services. 

  ÷\øÁ°À ÷uøÁ ©õØÓ® HØ£h Põμn® GßÚ 
ÂÍUSP. 

Or 

 (b) Discuss the strategy for managing demand to match 
capacity. 

  ÷uøÁ ö£õ¸¢u vÓß ÷©»õsø© ²zvPøÍ 
ÂÁ›UPÄ®. 

12. (a) Explain the product in the service sector. 

  ÷\øÁ {ÖÁÚ[PÎß ö£õ¸Ò £ØÔ ÂÍUSP. 

Or 

 (b) How do you assess service quality? 

  ÷\øÁ°ß uμzøu } GÆÁõÖ ©v¨¤kÁõ´? 
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13. (a) Explain the objectives of service promotion. 

  ÷\øÁ E¯ºÂß ÷|õUP[PøÍ ÂÍUSP. 

Or 

 (b) How can prices be fixed for services? 

  ÷\øÁø¯ GÆÁõÖ Âø» {ºn¯® ö\´Áõ´? 

14. (a) Explain the importance of ambience in the service 
environment. 

  ÷\øÁ `Ç¼À, _ØÖa `Ç¼ß •UQ¯zxÁ® £ØÔ 
ÂÍUSP. 

Or 

 (b) Explain the benefits of customer care. 

  ÁõiUøP¯õÍº ÷\øÁ°ß £¯ßPøÍ ÂÍUPÄ®. 

15. (a) State the distinction between advertising and sales 
promotion. 

  ÂÍ®£μzvØS®, ©ØÖ® Â¯õ£õμ ÷©®£kzxu¾US® 
EÒÍ ÷ÁÖ£õkPøÍ TÖP. 

Or 

 (b) Explain the different types of users of the tourism 
services. 

  _ØÖ»õ ÷\øÁø¯ £¯ß£kzx® £À÷ÁÖ 
~Pº÷ÁõºPøÍ £ØÔ ÂÍUSP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Discuss common types of constraints faced by service 
organisation. 

 ÷\øÁ {ÖÁÚ[PÒ GzuøP¯ ö£õxÁõÚ Chº£õkPøÍ 
\¢vUQßÓÚ – ÂÁõvUPÄ®. 
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17. Explain the factors affecting pricing decisions. 

 ÷\øÁUPõÚ Âø» {ºn¯® G¢u PõμoPÍõÀ 
£õvUP¨£kQÓx. 

18. Briefly explain the human resource strategy as applied in 
the service firms. 

 ÷\øÁ {ÖÁÚ[PÎÀ ©Ûu ÁÍ® GÆÁõÖ ~qUP©õP 
øP¯õÍ¨£kQÓx Gß£øu _¸UP©õP ÂÁ›. 

19. Discuss the roles of services cape. 

 ÷\øÁ Á\v°ß £[S £ØÔ ÂÁõv. 

20. Explain the special characteristics of Airline marketing. 

 Â©õÚ \¢øu°h¼ß ]Ó¨¦ £s¦PøÍ ÂÍUSP. 

—————— 


